charge_dis_0_0.| Charge_dis_0_0] charge_dis_0_0]

charge_dis_0_0.

ent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
2 Mean = 834.1 Mean = 1032 Mean = 959.8 Mean = 1226
RMS = 73.09 25 RMS = 60.97 25 RMS = 55.26 RMS = 72.94

0 0
0 0

200 400 600 800100012001400160018002000 200 400 600 800100012001400160018002000 200 400 600 800100012001400160018002000 200 400 600 800100012001400160018002000

charge_dis 0.0, Charge_dis 0.0, charge_dis_0.0. Charge_dis 0.0,

Nent = 1176 Nent = 1176 Nent = 1176 Nent=1176

Vean = 1524 Vean = 8423 2 Vean = 1245 2 Vean = 1040

RMS = 77.06 RMS = 5373 RMS = 74.7 RMS = 6652

20

16

14F

10

200 400 600 800100012001400160018002000

200 400 600 800100012001400160018002000 200 400 600 800100012001400160018002000 200 400 600 800100012001400160018002000

charge_dis_0_0 ] charge_dis_0_0} charge_dis 0.0 ] charge_dis_0_0]

Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176

vean = 1063 Vean = 1154 Wean = 1282 2 Vean = 1048

RMS = 73.32 22 RMS = 76.08 22 RMS = 7858 RMS = 67.62

200 400 600 800100012001400160018002000 200 400 600 800100012001400160018002000 200 400 600 800100012001400160018002000 200 400 600 800100012001400160018002000

EXTIRTXEE e e 0 ] e e 0] g 00 ]
ent = 1176 Nent= 1176 Nent= 1176 Nent= 1176
Mean = 1208 Mean = 908.2 9| Mean = 1207 ] Mean = 963.8
25 RMS = 61.51 RMS = 56.68 RMS = 63.47 RMS = 68.79
20
20|
151
15f
10k 10
5k S

0 0 0 0
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000



charge_dis_0_1.

Nent = 1176

Mean = 8312

RMS = 4325

200 400 600 800100012001400160018002000

charge_dis 0.1,
Nent = 1176
Mean = 1074

RMS = 61.07

200 400 600 800100012001400160018002000

18

charge_dis_0_1 |
Nent = 1176
Mean = 1509

RMS = 85.45

200 400 600 800100012001400160018002000

30F

25

20

charge_dis_0_1 ]
Nent = 1176
Mean = 1102

RMS = 4969

0
0 200 400 600 800100012001400160018002000

22

Charge_dis_0_1 ]
Nent = 1176
Mean = 849

RMS = 69.24

200 400 600 800100012001400160018002000

351

Charge_dis 0.1,
Nent = 1176
Mean = 6232

RMS = 439

200 400 600 800100012001400160018002000

charge_dis_0_1 ]
Nent = 1176
Mean = 1207

RMS = 75.66

200 400 600 800100012001400160018002000

Charge_dis_0_1 ]
Nent = 1176
Mean = 592.4

RMS = 526

0
0 200 400 600 800100012001400160018002000

charge_dis_0_1]
Nent = 1176
Mean = 1155

RMS = 6297

200 400 600 800100012001400160018002000

0
0

Charge_dis_0_1.
Nent = 1176
Mean = 7815

RMS = 6083

200 400 600 800100012001400160018002000

221

charge_dis_0_1 ]
Nent = 1176
Mean = 1018

RMS = 63.03

200 400 600 800100012001400160018002000

charge_dis_0_1 ]
Nent = 1176
Mean = 9628

RMS = 74.9

0
0 200 400 600 800100012001400160018002000

charge_dis_0_1 ]
Nent = 1176
Mean = 1452

RMS = 7714

200 400 600 800100012001400160018002000

25

0
0

charge_dis_0_1
Nent = 1176
Mean = 1207

RMS = 6376

200 400 600 800100012001400160018002000

o2

charge_dis_0_1 ]
Nent = 1176
Mean = 1414

RMS = 6243

200 400 600 800100012001400160018002000

charge_dis_0_1 ]
Nent=1176
Mean = 1361

RMS = 6353

0
0 200 400 600 800100012001400160018002000




charge_dis_0_2.

Nent = 1176

14

121

10

Mean = 1928

RMS = 516

200 400 600 800100012001400160018002000

charge_dis 0.2,

Nent = 1176

221

Mean = 1358

RMS = 68.46

200 400 600 800100012001400160018002000

charge_dis_0_2 |

Nent = 1176

Mean = 1239

RMS = 72

200 400 600 800100012001400160018002000

charge_dis_0_2.

Nent = 1176

22F

20

18

16

14

121

0
0

Mean = 1128

RMS = 65.43

200 400 600 800100012001400160018002000

Charge_dis_0_2.

Nent = 1176

Mean = 1449

RMS = 7739

200 400 600 800100012001400160018002000

Charge_dis 0.2,

Nent = 1176

Mean = 1281

RMS = 89.79

200 400 600 800100012001400160018002000

charge_dis_0_2 |

Nent = 1176

18

Mean = 1189

RMS = 7465

200 400 600 800100012001400160018002000

Charge_dis_0_2 ]

Nent = 1176

20

15

10

0
0

Mean = 1181

RMS = 6758

200 400 600 800100012001400160018002000

charge_dis_0_2.

Nent = 1176

Mean = 1310

16

RMS = 1015

200 400 600 800100012001400160018002000

charge_dis_0.2.

Nent = 1176

5| Mean = 1149

RMS = 58.99

0
0

200 400 600 800100012001400160018002000

charge_dis_0_2 |

Nent = 1176

Mean = 856.4

221

RMS = 56.85

200 400 600 800100012001400160018002000

charge_dis_0.2 ]

Nent = 1176

Mean = 916.7

RMS = 67.18

0
0 200 400 600 800100012001400160018002000

charge_dis_0_2.

Nent = 1176

Mean = 1512

RMS = 8175

0 200 400 600 800100012001400160018002000

charge_dis_0_2.

Nent = 1176

Mean = 1119

RMS = 7667

0 200 400 600 800100012001400160018002000

charge_dis_0_2 ]

Nent = 1176

Mean = 1375

RMS = 80.79

0 200 400 600 800100012001400160018002000

charge_dis_0_2.

Nent=1176

Mean = 6762

RMS = 5219

0
0 200 400 600 800100012001400160018002000



charge_dis_0_3.

Nent = 1176

Mean = 1496

RMS = 86.81

200 400 600 800100012001400160018002000

charge_dis 0.3,

Nent = 1176

Mean = 1133

RMS = 59.15

o2

200 400 600 800100012001400160018002000

charge_dis_0_3 |

Nent = 1176

2 vean = 1317

RMs = 7352

200 400 600 800100012001400160018002000

charge_dis_0_3.

Nent = 1176

Mean = 728.1

RMS = 4456

0
0 200 400 600 800100012001400160018002000

Charge_dis_0_3.

Nent = 1176

22

Mean = 1181

RMS = 6757

200 400 600 800100012001400160018002000

Charge_dis 0.3,

Nent = 1176

Mean = 853.1

RMS = 6139

200 400 600 800100012001400160018002000

charge_dis_0_3 |

Nent = 1176

Mean = 870.9

RMS = 68.86

200 400 600 800100012001400160018002000

Charge_dis_0_3 ]

Nent = 1176

251

20

15

10

[ITFIETE I

Mean = 4983

RMS = 43.41

0 200 400 600 800100012001400160018002000

charge_dis_0.3.

Nent = 1176

Mean = 1206

22F

RMS = 57.85

200 400 600 800100012001400160018002000

charge_dis_0.3.

Nent = 1176

2 Mean = 0856

RMS = 63.69

200 400 600 800100012001400160018002000

charge_dis_0_3 |

Nent = 1176

Mean = 1038

RMS = 7141

200 400 600 800100012001400160018002000

charge_dis_0.3 |

Nent = 1176

Mean = 8745

RMS = 46.71

0
0 200 400 600 800100012001400160018002000

charge_dis_0_3.

Nent = 1176

20

Mean = 1319

RMS = 79.85

200 400 600 800100012001400160018002000

charge_dis 0.3,

Nent = 1176

0
0

Mean = 757.9

RMS = 5285

200 400 600 800100012001400160018002000

charge_dis_0_3 |

Nent = 1176

20

Mean = 1166

RMS = 8384

200 400 600 800100012001400160018002000

charge_dis_0_3.

Nent=1176

30

251

15

olali iy

Mean = 500

RMS = 411

0 200 400 600 800100012001400160018002000



charge_dis_0_4,

Nent = 1176

o2

Mean = 773.7

RMS = 5403

200 400 600 800100012001400160018002000

charge_dis 0.4,
Nent = 1176
Mean = 7155

RMs = 71.07

200 400 600 800100012001400160018002000

charge_dis_0_4 |
Nent = 1176
Mean = 1054

RMSs = 6207

200 400 600 800100012001400160018002000

charge_dis 0.4 ]
Nent = 1176
Mean = 665.9

RMS = 74.07

0
0 200 400 600 800100012001400160018002000

Charge_dis_0_4.]
Nent = 1176
Mean = 1268

RMS = 7204

200 400 600 800100012001400160018002000

Charge_dis 0.4,
Nent = 1176
Mean = 621.8

RMS = 5775

200 400 600 800100012001400160018002000

18

charge_dis_0_4 |
Nent = 1176
Mean = 1479

RMS = 86.49

200 400 600 800100012001400160018002000

Charge_dis_0_4]
Nent = 1176
Mean = 9839

RMS = 76.43

0
0 200 400 600 800100012001400160018002000

0
0

charge_dis_0_4 ]
Nent = 1176
Mean = 999.2

RMS = 5713

200 400 600 800100012001400160018002000

18

charge_dis 0.4,
Nent = 1176
Mean = 1089

RMS = 8186

200 400 600 800100012001400160018002000

18

charge_dis_0_4 ]
Nent = 1176
Mean = 1257

RMS = 76.82

200 400 600 800100012001400160018002000

charge_dis_0.4 ]
Nent = 1176
Mean = 8523

RMS = 56.07

0
0 200 400 600 800100012001400160018002000

0
0

charge_dis_0_4 ]
Nent = 1176
Mean = 4226

RMS = 4374

200 400 600 800100012001400160018002000

charge_dis 0.4,
Nent = 1176
Mean = 828.7

RMS = 7111

200 400 600 800100012001400160018002000

20

charge_dis_0_4 ]
Nent = 1176
Mean = 7726

RMS = 72.48

200 400 600 800100012001400160018002000

22F

Ccharge_dis_0_4 ]
Nent=1176
Mean = 919.9

RMS = 59.06

0
0 200 400 600 800100012001400160018002000




o2

charge_dis 0.5 |
Nent = 1176
Mean = 1147

RMS = 6371

200 400 600 800100012001400160018002000

35

30

25

20

15p

1o

charge_dis 0.5,
Nent = 1176
Mean = 750.4

RMs = 4592

200 400 600 800100012001400160018002000

o2

charge_dis_0_5 |
Nent = 1176
Mean = 963.7

RMS = 5024

200 400 600 800100012001400160018002000

20

18

16

14

12

10F

charge_dis 0.5 ]
Nent = 1176
Mean = 1262

RMS = 728

0
0 200 400 600 800100012001400160018002000

100}

801

60|

40H

20

Charge_dis_0_5.]
Nent = 1176
Mean = 83.98

RMS = 9.042

0
0

200 400 600 800100012001400160018002000

25

o2

Charge_dis 0.5,
Nent = 1176
Mean = 785.6

RMS = 49.92

200 400 600 800100012001400160018002000

100

80

60

40+

20

charge_dis_0_5 |
Nent = 1176
Mean = 1229

RMS = 9733

0
0

200 400 600 800100012001400160018002000

16

14F

12F

10

Charge_dis 0.5 ]
Nent = 1176
Mean = 1402

RMS = 94.45

0
0 200 400 600 800100012001400160018002000

30F

o2

charge_dis_0.5 ]
Nent = 1176
Mean = 7676

RMS = 45.87

200 400 600 800100012001400160018002000

25~

o<

charge_dis 0.5,
Nent = 1176
Mean = 9583

RMS = 57.85

200 400 600 800100012001400160018002000

221

charge_dis_0_5 ]
Nent = 1176
Mean = 9947

RMS = 50.82

200 400 600 800100012001400160018002000

charge_dis_0.5 ]
Nent = 1176
Mean = 1013

RMS = 5134

0
0 200 400 600 800100012001400160018002000

charge_dis_0_5 ]
Nent = 1176
Mean = 8195

RMS = 6753

200 400 600 800100012001400160018002000

charge_dis 0.5,
Nent = 1176
Mean = 1269

RMS = 65.27

200 400 600 800100012001400160018002000

20

charge_dis_0_5 ]
Nent = 1176
Mean = 1149

RMS = 7051

200 400 600 800100012001400160018002000

20

charge_dis 0.5 ]
Nent=1176
Mean = 1452

RMS = 7365

0
0 200 400 600 800100012001400160018002000




charge_dis_0_6.

Nent = 1176

Mean = 1105

RMS = 744

200 400 600 800100012001400160018002000

charge_dis 0.6,

Nent = 1176

221

Mean = 1456

RMS = 71.02

200 400 600 800100012001400160018002000

charge_dis_0_6 |

Nent = 1176

221

Mean = 1164

RMS = 66.94

200 400 600 800100012001400160018002000

18

16

14F

121

1o

charge_dis 0.6 ]
Nent = 1176
Mean = 1520

RMS = 7138

0
0 200 400 600 800100012001400160018002000

1200

1000

800

600

400

200

Charge_dis_0_6.

Nent = 1176
Mean = 0
RMS = 0

0
0

200 400 600 800100012001400160018002000

Charge_dis 0.6,

Nent = 1176

Mean = 769.1

RMS = 66.71

200 400 600 800100012001400160018002000

charge_dis_0_6 ]
Nent = 1176
Mean = 1506

RMS = 6059

200 400 600 800100012001400160018002000

Charge_dis_0_6 ]
Nent = 1176
Mean = 9246

RMS = 6636

0
0 200 400 600 800100012001400160018002000

charge_dis_0_6.

Nent = 1176

Mean = 1365

RMS = 66.67

200 400 600 800100012001400160018002000

charge_dis 0.6,

Nent = 1176

30

25

20

15

10

Mean = 6945

RMS = 4437

200 400 600 800100012001400160018002000

o2

charge_dis_0_6 ]
Nent = 1176
Mean = 1506

RMS = 89.55

200 400 600 800100012001400160018002000

charge_dis_0_6 ]
Nent = 1176
Mean = 1053

RMS = 72.96

0
0 200 400 600 800100012001400160018002000

charge_dis_0_6.

Nent = 1176

30

Mean = 9259

RMS = 49.98

200 400 600 800100012001400160018002000

charge_dis 0.6,

Nent = 1176

Mean = 1089

RMS = 6120

200 400 600 800100012001400160018002000

charge_dis_0_6 ]
Nent = 1176
Mean = 1598

RMS = 654

200 400 600 800100012001400160018002000

22F

charge_dis 0.6 ]
Nent=1176
Mean = 1088

RMS = 59.81

0
0 200 400 600 800100012001400160018002000




charge_dis_0_7.

Nent = 1176

22F

Mean = 1772

RMS = 78.49

200 400 600 800100012001400160018002000

25

o2

Charge_dis 0.7,
Nent = 1176
Mean = 1074

RMS = 57.44

200 400 600 800100012001400160018002000

charge_dis_0_7 |

Nent = 1176
Mean = 0
RMS = 0

200 400 600 800100012001400160018002000

22F

18

16

14

121

charge_dis 0.7 ]
Nent = 1176
Mean = 1330

RMS = 6455

0
0 200 400 600 800100012001400160018002000

22

Charge_dis_0_7 ]
Nent = 1176
Mean = 1069

RMS = 6285

200 400 600 800100012001400160018002000

25

0
0

Charge_dis 0.7,
Nent = 1176
Mean = 818.1

RMS = 6312

200 400 600 800100012001400160018002000

25

o2

charge_dis_0_7 ]
Nent = 1176
Mean = 1044

RMS = 67.68

200 400 600 800100012001400160018002000

Charge_dis_0_7 ]
Nent = 1176
Mean = 7675

RMS = 5736

0
0 200 400 600 800100012001400160018002000

0
0

charge_dis_0_7 ]
Nent = 1176
Mean = 1631

RMS = 79.46

200 400 600 800100012001400160018002000

o<

charge_dis 0.7,
Nent = 1176
Mean = 1132

RMS = 59.1

200 400 600 800100012001400160018002000

charge_dis_0_7 ]
Nent = 1176
Mean = 1482

RMS = 7152

200 400 600 800100012001400160018002000

25

20

15

10

charge_dis_0.7 ]
Nent = 1176
Mean = 1157

RMS = 57.23

0
0 200 400 600 800100012001400160018002000

22

charge_dis_0_7 ]
Nent = 1176
Mean = 786.3

RMS = 6036

200 400 600 800100012001400160018002000

charge_dis_0_7,
Nent = 1176
Mean = 9086

RMS = 64.81

200 400 600 800100012001400160018002000

20

charge_dis_0_7 ]
Nent = 1176
Mean = 1221

RMS = 64.93

200 400 600 800100012001400160018002000

25

charge_dis_0_7 ]
Nent=1176
Mean = 787.2

RMS = 5325

0
0 200 400 600 800100012001400160018002000




charge_dis_0_8.

Nent = 1176

25

o2

Mean = 319.1

RMS = 5293

200 400 600 800100012001400160018002000

charge_dis 0.6,

Nent = 1176

30F

o2

Mean = 350.4

RMS = 5520

200 400 600 800100012001400160018002000

charge_dis_0_6 |

Nent = 1176

30F

o2

Mean = 419.8

RMs = 519

200 400 600 800100012001400160018002000

charge_dis 0.6,

Nent = 1176

0
0

Mean = 346

RMS = 4420

200 400 600 800100012001400160018002000

Charge_dis_0_5]
Nent = 1176
Mean = 3139

RMS = 64.87

0
0 200 400 600 800100012001400160018002000

30

Charge_dis 0.8,
Nent = 1176
Mean = 309.6

RMS = 551

0
0 200 400 600 800100012001400160018002000

charge_dis_0_8 |
Nent = 1176
Mean = 4127

RMS = 6451

0
0 200 400 600 800100012001400160018002000

Charge_dis_0_8 ]
Nent = 1176
Mean = 369.2

RMS = 6123

0
0 200 400 600 800100012001400160018002000

charge_dis 0.5 |
Nent = 1176
Mean = 2416

RMS = 5311

0
0 200 400 600 800100012001400160018002000

10

Charge_dis_0_6.
Nent = 1176
Mean = 1986

RMS = 4453

GI AN 1T I FT FETE I Rl FETa FAT

0 200 400 600 800100012001400160018002000

35

charge_dis_0_6 |
Nent = 1176
Mean = 2249

RMS = 4626

0)
0 200 400 600 800100012001400160018002000

30

25F

15

10

charge_dis_0.6 |
Nent = 1176
Mean = 2123

RMS = 40.25

ol il bbb bbb bl

0 200 400 600 800100012001400160018002000

charge_dis_0_8.

Nent = 1176

30

Mean = 157.4

RMS = 4001

0
0 200 400 600 800100012001400160018002000

charge_dis 0.8,

Nent = 1176

30|

25

20|

15)

10

Mean = 1686

RMS = 46.85

0
0 200 400 600 800100012001400160018002000

charge_dis_0_8 ]

Nent = 1176

0
0 200 400 600 800100012001400160018002000

Mean = 209

RMS = 4513

Charge_dis 0.6,

Nent=1176

Mean = 2266

RMS = 4319

0
0 200 400 600 800100012001400160018002000




charge_dis_0_9.

Nent = 1176

Mean = 1985

RMS = 4571
30

200 400 600 800100012001400160018002000

charge_dis 0.9,

Nent = 1176

Mean = 277.1

RMS = 5363

o2

200 400 600 800100012001400160018002000

charge_dis_0_9 |

Nent = 1176

Mean = 327.7

30

RMS = 5415

o2

200 400 600 800100012001400160018002000

charge_dis 0.6,

Nent = 1176

Mean = 221.7

RMS = 5187

0
0 200 400 600 800100012001400160018002000

Charge_dis_0_0.

Nent = 1176

Mean = 2402

RMS = 5439

200 400 600 800100012001400160018002000

ErT)
Nent= 1176
Mean = 184

451 RMS = 32.36

20F

35F

30F

25F

20F

15

10F

M

.‘.I NPT AT TP T AT R TR I

200 400 600 800100012001400160018002000

charge_dis_0_9 |

Nent = 1176
Mean = 1866
RMS = 3337
35
30
25
20
15
10
sF
fo 11 1 Iy WU R PN FETY FTE1 FEPS PRTE RER ATE
0 200 400 600 800100012001400160018002000

Charge_dis_0_9 ]

Nent = 1176

Mean = 2522

RMS = 46.7

251

20

10

0
0 200 400 600 800100012001400160018002000

charge_dis_0_9.

Nent = 1176

Mean = 2849

RMS = 662

200 400 600 800100012001400160018002000

Charge_dis 0.9,

Nent = 1176

20F Mean = 1757

RMS = 42.71

harge_dis_0_9_7

200 400 600 800100012001400160018002000

charge_dis_0_9 ]

Nent = 1176

Mean = 3006

RMS = 3873

200 400 600 800100012001400160018002000

charge_dis_0.9 ]

Nent = 1176

Mean = 1969

RMS = 4086

35

30

251

15

10

bbb b bbb b b b
0 200 400 600 800100012001400160018002000

charge_dis_0_9.

Nent = 1176
Mean = 2019
RMS = 4181
30
25
201
15
10
[
0 Jw

0 200 400 600 800100012001400160018002000

charge_dis 0.9,

Nent =1176
sofF Mean = 141
RMS = 2763
40
301
20
10
0 M 1 TR FETE FET1 RTR FATE PR T RAT AAT
0 200 400 600 800100012001400160018002000

charge_dis_0_9 ]

Nent = 1176

Mean = 237.1

35k RMS = 35.37

200 400 600 800100012001400160018002000

charge_dis 0.6,

Nent=1176

Mean = 159.9

45F RMS = 2738

40

351

30

25

20

15F

10

0 200 400 600 800100012001400160018002000




charge_dis_0_10)

Nent = 1176
Mean = 2712
M = 4306
251
20
15
10
sk
0 L.I.A.LI.I.I_LI.A.I.LI.I.A.LA.I.I.LI.I.I_LI.A.I.LI.I.A.
0 200 400 600 800100012001400160018002000

charge_dis_0_10)

Nent = 1176

o2

Mean = 280

RMS = 4764

200 400 600 800100012001400160018002000

charge_dis_0_10)

Nent = 1176

30F

o2

Mean = 194.7

RMS = 4095

200 400 600 800100012001400160018002000

charge_dis_0_10)

Nent = 1176

35F

30

25

10H

Mean = 108.1

RMS = 28.11

0

0

200 400 600 800100012001400160018002000

Charge_dis_0_10]
Nent = 1176
Mean = 4275

RMS = 58.92

0
0 200 400 600 800100012001400160018002000

30

251

20

10

Charge_dis_0_10)
Nent = 1176
Mean = 3108

RMS = 35.89

[GLFEE1| (¥ PR FTH T FTR FUTE FATE ATR NERT

0 200 400 600 800100012001400160018002000

25

charge_dis_0_10]
Nent = 1176
Mean = 278

RMS = 5164

0
0 200 400 600 800100012001400160018002000

charge_dis_0_10j3
Nent = 1176
Mean = 3216

RMS = 47.84

0
0 200 400 600 800100012001400160018002000

Mean = 15
251 RMS = 49.58
20
15
10
sk
PP SN TP IO Y T DO IO TP

0 200 400 600 800100012001400160018002000

charge_dis_0_10)

Nent = 1176
Mean = 321.4
RS = 4930

251

20|

15(

10f

sk

ol | AT P P AT PO NPT

0 200 400 600 800100012001400160018002000

charge_dis_0_10)

Nent = 1176

Mean = 199.2

RMS = 3573

351

30

251

20

oLt AT "W IFETE FTY FTRE P P PETe Feee ren

0 200 400 600 800100012001400160018002000

charge_dis_0_10)

Nent = 1176
Mean = 256
RUS = 5445

25

20|

15f

10f

s

NI T Y P P P BT O

0 200 400 600 800100012001400160018002000

charge_dis_0_10]

Nent = 1176

Mean = 414.1

RMS = 48.07

200 400 600 800100012001400160018002000

charge_dis_0_10)

Nent = 1176

25 Mean = 341.9

RMS = 569

o2

200 400 600 800100012001400160018002000

charge_dis_0_10)
Nent = 1176
Mean = 1715
35 RMS = 3207
30
25
20
15
10
sk
51| FHR 'YL FETH FET FTE PR PRT R AT
0 200 400 600 800100012001400160018002000

charge_dis_0_10]

Nent=1176

35F Mean = 2512

RMS = 48.98

20

15

10

[oLf"_d TR FTTE FETH T FTR FERL FATE AT T

0 200 400 600 800100012001400160018002000




charge_dis_0_11]

Nent = 1176

35

Mean = 3528

RMS = 42584

200 400 600 800100012001400160018002000

Charge_dis_0_11]

Nent = 1176

Mean = 3314
35F RMS = 37.79
30

200 400 600 800100012001400160018002000

charge_dis_o0_11]

Nent = 1176

Mean = 3019

RMS = 5094

200 400 600 800100012001400160018002000

charge_dis_0_11]

Nent = 1176

0
0

Mean = 2262

RMS = 4417

200 400 600 800100012001400160018002000

Charge_dis_0_11]

Nent = 1176

25

0
0

200

Mean = 3268

RMS = 47.99

400 600 800100012001400160018002000

Charge_dis_0_11]

Nent = 1176

o2

200

Mean = 275

RMS = 5064

400 600 800100012001400160018002000

charge_dis_0_11]

Nent = 1176

301

200

Mean = 3438

RMS = 5298

400 600 800100012001400160018002000

charge_dis_0_11j3

Nent = 1176

Mean = 133.7

RMS = 4079

0
0 200

400 600 800100012001400160018002000

charge_dis_0_11]

Nent = 1176

0
0

30)

o2

30|

25|

20)

15j

10

Mean = 581.1

RMS = 57.76

200 400 600 800100012001400160018002000

charge_dis_0_11]

Nent = 1176

Mean = 2549

RMS = 38

200 400 600 800100012001400160018002000

charge_dis_0_11j40

Nent = 1176

Mean = 306.7

RMS = 4353

200 400 600 800100012001400160018002000

charge_dis_0_11jg4

Nent = 1176

Mean = 1902

RMS = 4291

0)

0 200 400 600 800100012001400160018002000

25

20

15

10

charge_dis_0_11]

Nent = 1176

Mean = 409.8

RMS = 54.18

0
0 200 400 600 800100012001400160018002000

40

35

30)

25

20|

15)

10|

0

charge_dis_0_11]

Nent = 1176

Mean = 2502

RMS = 30.14

0 200 400 600 800100012001400160018002000

charge_dis_0_11]

Nent = 1176

22|

20

18|

14

12

10

[

Mean = 238.3

RMS = 5146

0 200 400 600 800100012001400160018002000

40

35)

30|

25)

20

15

10|

charge_dis_0_11]

Nent=1176

Mean = 2033

RMS = 39.91

L

0

0 200 400 600 800100012001400160018002000



Nent = 1176

5F Mean = 848.2

RMS = 55.86

charge_dis_0_12)

o2

200 400 600 800100012001400160018002000

Nent = 1176

Mean = 7116

RMS = 5583
30)

charge_dis_0_12]

200 400 600 800100012001400160018002000

Nent = 1176

S Mean = 8822

RMSs = 6207

charge_dis_0_12)

0
0 200 400 600 800100012001400160018002000

Nent = 1176

Mean = 595.3

RMS = 44.66

charge_dis_0_12]

0
0 200 400 600 800100012001400160018002000

Charge_dis_0_12]

Nent = 1176

o2

Mean = 8104

RMS = 5364

200 400 600 800100012001400160018002000

Charge_dis_0_12]

Nent = 1176

20

Mean = 795

RMS = 8279

200 400 600 800100012001400160018002000

charge_dis_0_12]

Nent = 1176

o2

Mean = 1143

RMS = 6425

200 400 600 800100012001400160018002000

charge_dis_0_12j43

Nent = 1176

0
0

Mean = 7263

RMS = 4636

200 400 600 800100012001400160018002000

25|

20)

15]

10]

charge_dis_0_12]
Nent = 1176
Mean = 7605

RMS = 4454

0

0 200 400 600 800100012001400160018002000

charge_dis_0_12]
Nent = 1176
Mean = 559.4

RMS = 47.4

0
0 200 400 600 800100012001400160018002000

25]

charge_dis_0_12]
Nent = 1176
Mean = 9508

RMS = 6242

0)
0 200 400 600 800100012001400160018002000

22|

20

18]

16§

14

12]

10]

charge_dis_0_12]
Nent = 1176
Mean = 692

RMS = 53.68

0
0 200 400 600 800100012001400160018002000

charge_dis_0_12]
Nent = 1176
Mean = 697.4

RMS = 4267

0
0 200 400 600 800100012001400160018002000

charge_dis_0_12]
Nent = 1176
Mean = 824.4

RMS = 6141

0
0 200 400 600 800100012001400160018002000

251

charge_dis_0_12)
Nent = 1176
Mean = 1006

RMS = 6471

0
0 200 400 600 800100012001400160018002000

30F

charge_dis_0_12]
Nent=1176
Mean = 799

RMS = 443

0
0 200 400 600 800100012001400160018002000




charge_dis_0_13)

Nent = 1176

Mean = 568.2

RMS = 4466

0
0 200 400 600 800100012001400160018002000

Charge_dis_0_13)

Nent = 1176

Mean = 500.3

RMS = 5204

0
0 200 400 600 800100012001400160018002000

charge_dis_0_13)

Nent = 1176

Mean = 732

251

RMS = 4966

0
0 200 400 600 800100012001400160018002000

charge_dis_0_13)

Nent = 1176

Mean = 641.9

RMS = 59.76

0
0 200 400 600 800100012001400160018002000

Charge_dis_0_13]

Nent = 1176

Mean = 500.9

RMS = 57.82

0
0 200 400 600 800100012001400160018002000

Charge_dis_0_13)

Nent = 1176

Mean = 684.7

RMS = 6167

0
0 200 400 600 800100012001400160018002000

charge_dis_0_13]

Nent = 1176
Mean = 9.733
RMS = 1769

500

400

300

200

100

obwmbin b b binlia b b bl

0 200 400 600 800100012001400160018002000

Charge_dis_0_13]

Nent = 1176

Mean = 762.4

RMS = 4752

30

251
15

5

0 200 400 600 800100012001400160018002000

charge_dis_0_13)

Nent = 1176

Mean = 6613

RMS = 4636
25
20
151
10
5

0
0 200 400 600 800100012001400160018002000

charge_dis_0_13)

Nent = 1176

35F Mean = 660.2

RMS = 452

0
0 200 400 600 800100012001400160018002000

charge_dis_0_13)

Nent = 1176

30F Mean = 669.9
RMS = 5157

0)
0 200 400 600 800100012001400160018002000

charge_dis_0_13)

Nent = 1176

Mean = 586.3

RMS = 43.78

0
0 200 400 600 800100012001400160018002000

charge_dis_0_13)

Nent = 1176

o2

Mean = 630.9

RMS = 54.85

200 400 600 800100012001400160018002000

charge_dis_0_13]

Nent = 1176

4ofF

Mean = 4215

RMS = 3316

200 400 600 800100012001400160018002000

charge_dis_0_13)

Nent = 1176

25

Mean = 7163

RMS = 59.41

200 400 600 800100012001400160018002000

charge_dis_0_13)

Nent=1176

0
0

Mean = 707.8

RMS = 5168

200 400 600 800100012001400160018002000



charge_dis_0_14)

Nent = 1176

25

o2

Mean = 819.6

RMS = 5836

200 400 600 800100012001400160018002000

Charge_dis_0_14]

Nent = 1176

Mean = 1028

RMS = 75.48

200 400 600 800100012001400160018002000

charge_dis_0_14)

Nent = 1176

25

o2

Mean = 1068

RMSs = 57.79

200 400 600 800100012001400160018002000

charge_dis_0_14]

Nent = 1176

0
0

Mean = 966.7

RMS = 49.45

200 400 600 800100012001400160018002000

25

Charge_dis_0_14]
Nent = 1176
Mean = 1005

RMS = 63.66

25

Charge_dis_0_14]
Nent = 1176
Mean = 8153

RMS = 65.07

0
0 200 400 600 800100012001400160018002000

0
0 200 400 600 800100012001400160018002000

charge_dis_0_14]
Nent = 1176
Mean = 777.4

RMS = 62.89

30

251

15

obalinl

charge_dis_0_14j3
Nent = 1176
Mean = 5823

RMS = 4122

0 200 400 600 800100012001400160018002000

charge_dis_0_14)

Nent = 1176

Mean = 7475

RMS = 54.44

200 400 600 800100012001400160018002000

charge_dis_0_14]

Nent = 1176

0
0

Mean = 710

RMS = 59.25

200 400 600 800100012001400160018002000

25

o2

Nent = 1176
Mean = 8147
RMS = 6073

200 400 600 800100012001400160018002000

charge_dis_0_1ajg4

Nent = 1176

0
0

Mean = 660.4

RMS = 45.24

200 400 600 800100012001400160018002000

charge_dis_0_1aJ40

charge_dis_0_14)

Nent = 1176

22

Mean = 843

RMS = 56

200 400 600 800100012001400160018002000

charge_dis_0_14]

Nent = 1176

351

Mean = 7828

RMS = 5869

200 400 600 800100012001400160018002000

charge_dis_0_14)

Nent = 1176

30F

Mean = 1028

RMS = 59.61

200 400 600 800100012001400160018002000

charge_dis_0_14]

Nent=1176

Mean = 7762

RMS = 5391

0
0 200 400 600 800100012001400160018002000




Nent = 1176

Mean = 675.3

RMS = 4468

charge_dis_0_15)

0
0 200 400 600 800100012001400160018002000

Nent = 1176

Mean = 7658

RMS = 4833

Charge_dis_0_15)

0
0 200 400 600 800100012001400160018002000

Nent = 1176

Mean = 709.3

RMs = 5158

charge_dis_0_15)

0
0 200 400 600 800100012001400160018002000

charge_dis_0_15)

Nent = 1176

Mean = 649.9

RMS = 4169

0
0 200 400 600 800100012001400160018002000

Charge_dis_0_15)

Nent = 1176

0
0 200 400 600 800100012001400160018002000

0
0 200 400 600 800100012001400160018002000

25

Mean = 8358

RMS = 5729

Charge_dis_0_15)

Nent = 1176
Mean = 9065
RMS = 5505

25

charge_dis_0_15)

Nent = 1176

0
0 200 400 600 800100012001400160018002000

Mean = 858.7

RMS = 65.12

charge_dis_0_15)

Nent = 1176

charge_dis_0_15]

Nent = 1176

0
0 200 400 600 800100012001400160018002000

0
0 200 400 600 800100012001400160018002000

Mean = 6814

RMS = 56.09

charge_dis_0_15[40

Mean = 1002

RMS = 5831 30)

charge_dis_0_15j43 harge

Nent = 1176
30F wean = 5055

s = 478 30k

25
25

20f
20

15F
15}
10F 10k
s sk

0
0 200 400 600 800100012001400160018002000

0)
0 200 400 600 800100012001400160018002000

Nent = 1176
Mean = 5448
RMS = 37.93

charge_dis_0_15[4
Nent = 1176
Mean = 549.8

RMS = 46.33

0
0 200 400 600 800100012001400160018002000

charge_dis_0_15)

Nent = 1176

Mean = 8315

RMS = 599

0
0 200 400 600 800100012001400160018002000

charge_dis_0_15]

Nent = 1176

30F Mean = 1029

RMS = 57.13

0
0 200 400 600 800100012001400160018002000

charge_dis_0_15[41

Nent = 1176

Mean = 1273

RMS = 67.7

0
0 200 400 600 800100012001400160018002000

charge_dis_0_15[45

Nent=1176

Mean = 1172

RMS = 7599

0
0 200 400 600 800100012001400160018002000



charge_dis_1.0.

Nent = 1176

Mean = 1020

RMS = 58

0
0 200 400 600 800100012001400160018002000

30]

25)

20

15)

10|

0

charge_dis 1.0,

Nent = 1176

Mean = 4623

RMs = 355

Llll'l||||||||||||||||||||||

0 200 400 600 800100012001400160018002000

charge_dis_1_0 ]

Nent = 1176

Mean = 826

RMs = 624

0
0 200 400 600 800100012001400160018002000

charge_dis_1.0.

Nent = 1176

Mean = 472.7

RMS = 40.05

0
0 200 400 600 800100012001400160018002000

Charge_dis_1.0 ]
Nent = 1176
Mean = 650.6

RMS = 5096

0
0 200 400 600 800100012001400160018002000

Charge_dis 1.0,
Nent = 1176
Mean = 572.1

RMS = 4137

0
0 200 400 600 800100012001400160018002000

35

30

25

20

15)

10|

0

charge_dis_1_0 ]
Nent = 1176
Mean = 5843

RMS = 4082

0 200 400 600 800100012001400160018002000

35

30

25

20

15

10

Charge_dis_1.0]
Nent = 1176
Mean = 447

RMS = 3833

0
0 200 400 600 800100012001400160018002000

25

charge_dis_10.

Nent = 1176
Mean = 723
RMS = 52

obralin e

0 200 400 600 800100012001400160018002000

charge_dis 1.0,
Nent = 1176
Mean = 552.1

RMS = 35.66

0
0 200 400 600 800100012001400160018002000

charge_dis_1_0 ]
Nent = 1176
Mean = 7487

RMS = 63.74

0)
0 200 400 600 800100012001400160018002000

45

40F

35

20F

15

10

s5F

0)

charge_dis_1.0 ]
Nent = 1176
Mean = 437.9

RMS = 2984

0 200 400 600 800100012001400160018002000

charge_dis_1.0 ]
Nent = 1176
Mean = 7453

RMS = 4756

0
0 200 400 600 800100012001400160018002000

30|

charge_dis_1.0.
Nent = 1176
Mean = 4417

RMS = 46.25

0
0 200 400 600 800100012001400160018002000

25

charge_dis_1_0]
Nent = 1176
Mean = 548.8

RMS = 5071

0
0 200 400 600 800100012001400160018002000

25

charge_dis 1.0 ]
Nent=1176
Mean = 572.4

RMS = 49.45

0
0 200 400 600 800100012001400160018002000




30]

25)

20)

15)

10

charge_dis_1_1.

Nent = 1176

Mean = 557.4

RMS = 4158

0

0 200 400 600 800100012001400160018002000

30)

charge_dis 1 1.

Nent = 1176

Mean = 609.6

RMS = 46.41

0
0 200 400 600 800100012001400160018002000

35

30)

25)

20

15)

10|

charge_dis_1_1 |

Nent = 1176

0

Mean = 440.8

RMS = 3403

0 200 400 600 800100012001400160018002000

charge_dis_1_1.

Nent = 1176

30

25

20

15

10|

0

Mean = 522.1

RMS = 411

0 200 400 600 800100012001400160018002000

Charge_dis_1_1.

Nent = 1176

Mean = 563.4

RMS = 4107

0
0 200 400 600 800100012001400160018002000

30|

25

20

15)

10

0

Charge_dis 11

Nent = 1176

Mean = 4886

RMS = 3582

0 200 400 600 800100012001400160018002000

25

charge_dis_1_1 |

Nent = 1176

Mean = 534

RMS = 50.14

0
0 200 400 600 800100012001400160018002000

Charge_dis_1_1 ]

Nent = 1176

Mean = 6485

RMS = 554

0
0 200 400 600 800100012001400160018002000

charge_dis_1_1.

Nent = 1176
Mean = 383.7
RMS = 3233
351
30
251
20
15
10
sk
G...III.I M FY T P I I P
0 200 400 600 800100012001400160018002000

Charge_dis 11

Nent = 1176

Mean = 5158

RMS = 42.57

0
0 200 400 600 800100012001400160018002000

harge_dis_1_1_10

charge_dis_1_1 ]

Nent = 1176
Mean = 5626

30 RMS = 4172

251

20

15

10F

5

RLFTTIFERN1 AR U ETRE P P P R e

0 200 400 600 800100012001400160018002000

charge_dis_1_1 ]

Nent = 1176

40

351

251

15

obrrli ],

Mean = 435

RMS = 3363

0 200 400 600 800100012001400160018002000

charge_dis_1_1 ]
Nent = 1176
Mean = 695.9

RMS = 5189

0
0 200 400 600 800100012001400160018002000

30

charge_dis_1_1
Nent = 1176
Mean = 4519

RMS = 4220

0
0 200 400 600 800100012001400160018002000

charge_dis_1_1 ]
Nent = 1176
Mean = 5449

RMS = 56.77

0
0 200 400 600 800100012001400160018002000

35

30

25

20

15)

10

charge_dis 11 ]
Nent=1176
Mean = 455

RMS = 36.93

0
0 200 400 600 800100012001400160018002000




charge_dis_1_2.

Nent = 1176

o2

Mean = 862.7

RMS = 544

200 400 600 800100012001400160018002000

charge_dis 1.2,

Nent = 1176

25

o2

Mean = 657

RMs = 449

200 400 600 800100012001400160018002000

charge_dis_1_2 |

Nent = 1176

Mean = 717.3

RMS = 5659

200 400 600 800100012001400160018002000

charge_dis_1.2.

Nent = 1176
1200F Mean = 0
RMS = -0
1000~
800
600
400
200
c|||||||||||I|||I|||||||||||I|||I|||I|||
0 200 400 600 800100012001400160018002000

Charge_dis_1_2.

Nent = 1176

Mean = 850.8

25

RMS = 59.44

0
0

200 400 600 800100012001400160018002000

Charge_dis 1.2,

Nent = 1176

Mean = 7152

RMS = 452

200 400 600 800100012001400160018002000

charge_dis_1_2 |

Nent = 1176

Mean = 7259

301

RMS = 55.43

200 400 600 800100012001400160018002000

Charge_dis_1.2 ]

Nent = 1176

Mean = 4853

RMS = 5126

0
0 200 400 600 800100012001400160018002000

charge_dis_1_2.

Nent = 1176

22F

Mean = 8636

RMS = 66.15

200 400 600 800100012001400160018002000

Charge_dis_1.2.

Nent = 1176
Mean = 6236
RMS = 4024
30
251
20
15
10F
sk
0 et 1
0 200 400 600 800100012001400160018002000

charge_dis_1_2 |

Nent = 1176
Mean = 3235
30 RMS = 3659
251
20
15
10
51
C"'I PPl I P I I P T
0 200 400 600 800100012001400160018002000

charge_dis 1.2 ]

Nent = 1176

0
0

Mean = 504.4

RMS = 4123

200 400 600 800100012001400160018002000

30

25

o2

charge_dis_1_2.

Nent = 1176

Mean = 804

RMS = 53.37

200 400 600 800100012001400160018002000

charge_dis_1.2.

Nent = 1176

Mean = 6775

RMS = 58.47

200 400 600 800100012001400160018002000

charge_dis_1.2 ]

Nent = 1176

o2

Mean = 535.4

RMS = 49.65

200 400 600 800100012001400160018002000

charge_dis_1_2.

Nent=1176

30

25

20|

15

10|

ud

Mean = 495

RMS = 428

0

0 200 400 600 800100012001400160018002000



charge_dis_1.3.

Nent = 1176

Mean = 812

RMS = 5229

0
0 200 400 600 800100012001400160018002000

charge_dis 1.3
Nent = 1176
Mean = 708.7

30f RMS = 4186

251

20

15

10

sk

0 ETAITTINTE TR WTARTE ATl PTd FATd I

0 200 400 600 800100012001400160018002000

charge_dis_1_3 |

ent = 1176
ean = 6357
s = so67

25

20F

15

10F

sk

PP T | WY P T I B P T

0 200 400 600 800100012001400160018002000

charge_dis_1.3.

Nent = 1176

vean = 7258

251 RMS = 51.13
20f
15[
10
s

0
0 200 400 600 800100012001400160018002000

Charge_dis_1.3.

Nent = 1176

Mean = 595.7

RMS = 4739

0
0 200 400 600 800100012001400160018002000

Charge_dis 1.3,

Nent = 1176

Mean = 6039

RMS = 411

0
0 200 400 600 800100012001400160018002000

charge_dis_1.3 |

Nent = 1176

Mean = 3117

RMS = 2853

0
0 200 400 600 800100012001400160018002000

Charge_dis_1.3 ]

Nent = 1176

Mean = 3922

35k RMS = 347

30

25

0 |||III|I| ' FETE AR RTH FUTE FUTH TR NPT
0 200 400 600 800100012001400160018002000

charge_dis_13.

Nent = 1176
Mean = 575
RMS = 38.69

30

251

20

15

10F

5k

0 sialeal |Il|||||||||||||||||||||||||

0 200 400 600 800100012001400160018002000

charge_dis 1.3,

Nent = 1176

35F Mean = 5516

RMS = 37.81

30

25

20

151

bl I I I L b b i b b
0 200 400 600 800100012001400160018002000

charge_dis_1_3 |

Nent = 1176

35fF Mean = 539.3
RMS = 4933

0)
0 200 400 600 800100012001400160018002000

charge_dis 1.3 |

Nent = 1176

Mean = 544.4

351 RMS = 3589

30

251

obralio 1l
0 200 400 600 800100012001400160018002000

charge_dis_1.3.

Nent = 1176

Mean = 604.6

RMS = 36.03

200 400 600 800100012001400160018002000

charge_dis 13,

Nent =1176
Mean = 634.1
RMS = 39.09
251
20
15
10
5
0 sl I|L
0 200 400 600 800100012001400160018002000

charge_dis_1.3 |

Nent = 1176

35

30

25

10

Mean = 550.8

RMS = 4187

200 400 600 800100012001400160018002000

charge_dis_1.3.

Nent=1176

30F

Mean = 725.1

RMS = 5117

0
0 200 400 600 800100012001400160018002000



charge_dis_1_4,

Nent = 1176

o2

35)

30)

25

20

15)

10

Mean = 1082

RMS = 7073

200 400 600 800100012001400160018002000

charge_dis 14,
Nent = 1176
Mean = 3813

RMS = 36.08

20]

200 400 600 800100012001400160018002000

charge_dis_1_4 |
Nent = 1176
Mean = 9635

RMSs = 6272

200 400 600 800100012001400160018002000

charge_dis 1.4 ]
Nent = 1176
Mean = 7635

RMS = 65.06

0
0 200 400 600 800100012001400160018002000

25

20

15)

10

Charge_dis_1.4]
Nent = 1176
Mean = 6029

RMS = 48.1

35)

30|

0
0

200 400 600 800100012001400160018002000

Charge_dis 14,
Nent = 1176
Mean = 4209

RMS = 362

200 400 600 800100012001400160018002000

charge_dis_1_4 |
Nent = 1176
Mean = 865.4

RMS = 5338

200 400 600 800100012001400160018002000

Charge_dis_1.4 ]
Nent = 1176
Mean = 7614

RMS = 4576

0
0 200 400 600 800100012001400160018002000

o2

charge_dis_1_4.

Nent = 1176

Mean = 7122

RMS = 5484

200 400 600 800100012001400160018002000

25

0
0

Charge_dis 1.4,
Nent = 1176
Mean = 6232

RMS = 5118

200 400 600 800100012001400160018002000

o2

charge_dis_1_4 ]
Nent = 1176
Mean = 8989

RMS = 5028

200 400 600 800100012001400160018002000

charge_dis 14 ]
Nent = 1176
Mean = 839.7

RMS = 54.79

0
0 200 400 600 800100012001400160018002000

25

o2

25

20

15)

10

charge_dis_1_4,

Nent = 1176

Mean = 4518

RMS = 57.45

200 400 600 800100012001400160018002000

charge_dis_1 4.

Nent = 1176

Mean = 6122

RMS = 415

L_n_nJ.mJ.n_n_n_Ln_n.nJ.n_n_n.Ln.n_n.

o2

0
0

200 400 600 800100012001400160018002000

charge_dis_1_4 ]

Nent = 1176

Mean = 542.7

RMS = 588

200 400 600 800100012001400160018002000

charge_dis 14,

Nent=1176

Mean = 789.9

RMS = 44.69

0
0 200 400 600 800100012001400160018002000




charge_dis_1.5.

Nent = 1176
Mean = 432.2
35k RMS = 3345
30
251
20
151
10
sk
0 ...I..jl.hl...I...I...I...I...I...I...
0 200 400 600 800100012001400160018002000

charge_dis 1.5,

Nent = 1176

o2

Mean = 490

RMS = 49.78

200 400 600 800100012001400160018002000

charge_dis_1.5 |

Nent = 1176

o2

Mean = 5805

RMSs = 4112

200 400 600 800100012001400160018002000

charge_dis 1.5 ]

Nent = 1176

25

20

151

Mean = 4582

RMS = 3319

0
0 200 400 600 800100012001400160018002000

Charge_dis_1.5.]
Nent = 1176
Mean = 463.3

RMS = 3109

200 400 600 800100012001400160018002000

Charge_dis_ 1.5,
Nent = 1176
Mean = 586.4

RMS = 58.79

200 400 600 800100012001400160018002000

351

30

251

20

charge_dis_1.5 |
Nent = 1176
Mean = 5156

RMS = 37.83

0 200 400 600 800100012001400160018002000

251

10

Charge_dis_1.5 ]
Nent = 1176
Mean = 673.4

RMS = 5052

0
0 200 400 600 800100012001400160018002000

30

251

151

1o

charge_dis_1.5 ]
Nent = 1176
Mean = 400.1

RMS = 3713

[oFETH I NI Y P Y I e e e

0 200 400 600 800100012001400160018002000

Ccharge_dis 1.5
Nent = 1176
Mean = 5088

RMS = 59.74

0
0 200 400 600 800100012001400160018002000

charge_dis_15 |
Nent = 1176
Mean = 718

RMS = 50.68

0)
0 200 400 600 800100012001400160018002000

351

20

15

10

s

charge_dis 1.5 ]
Nent = 1176
Mean = 412

RMS = 34.02

0)

0 200 400 600 800100012001400160018002000

charge_dis_1.5 ]
Nent = 1176
Mean = 568.7

RMS = 44.8

0
0 200 400 600 800100012001400160018002000

35

charge_dis 15
Nent = 1176
Mean = 5542

RMS = 3851

0
0 200 400 600 800100012001400160018002000

35

charge_dis_1.5 ]
Nent = 1176
Mean = 5822

RMS = 3431

0
0 200 400 600 800100012001400160018002000

charge_dis_1.5 ]
Nent=1176
Mean = 878.9

RMS = 69.91

0
0 200 400 600 800100012001400160018002000




charge_dis_1.6.

Nent = 1176

30F Mean = 7922

RMS = 5591

o2

200 400 600 800100012001400160018002000

charge_dis 1.6,

Nent = 1176

Mean = 1055

RMS = 5201

200 400 600 800100012001400160018002000

charge_dis_1_6 |

Nent = 1176

Mean = 603.3

RMs = 4368
30

200 400 600 800100012001400160018002000

charge_dis_1.6.

Nent = 1176

Mean = 1165

RMS = 6762

0
0 200 400 600 800100012001400160018002000

Charge_dis_1.6]
Nent = 1176
Mean = 964.7

RMS = 54.49

0
0 200 400 600 800100012001400160018002000

25

Charge_dis 1.6,
Nent = 1176
Mean = 937.7

RMS = 5655

0
0 200 400 600 800100012001400160018002000

charge_dis_1_6 ]

Nent= 1176
ean = 8618

25 s = siez

20

15

10

sk

ol M B

0 200 400 600 800100012001400160018002000

Charge_dis_1.6 ]
Nent = 1176
Mean = 9226

RMS = 56.74

0
0 200 400 600 800100012001400160018002000

charge_dis_1_6.

Nent = 1176

Mean = 548.1

RMS = 44.27

0
0 200 400 600 800100012001400160018002000

charge_dis 1.6,

Nent = 1176

Mean = 1111

RMS = 62

0
0 200 400 600 800100012001400160018002000

charge_dis_1_6 |

Nent = 1176

Mean = 1174

18

RMS = 79.46

0)
0 200 400 600 800100012001400160018002000

charge_dis 1.6 ]

Nent = 1176

Mean = 1090

RMS = 5219

0
0 200 400 600 800100012001400160018002000

30

25

20

10

charge_dis_1.6]
Nent = 1176
Mean = 1286

RMS = 633

0
0 200 400 600 800100012001400160018002000

25

charge_dis_1.6.
Nent = 1176
Mean = 7938

RMS = 66.87

0
0 200 400 600 800100012001400160018002000

20

charge_dis_1.6 ]
Nent = 1176
Mean = 1276

RMS = 75.42

0
0 200 400 600 800100012001400160018002000

30|

charge_dis_1.6 ]
Nent=1176
Mean = 799.3

RMS = 44.93

0
0 200 400 600 800100012001400160018002000




charge_dis_17.

Nent = 1176
30F Mean = 519.9
RMS = 4866
251
20
15
10F
sk
ol Loyl
0 200 400 600 800100012001400160018002000

Charge_dis 1.7,

Nent = 1176

Mean = 699.6

RMS = 5294

200 400 600 800100012001400160018002000

charge_dis_1_7 |

Nent = 1176
Mean = 586.2
RS = 4117

30

251

201

15F

10

.

ol LM L bbbl b den,

0 200 400 600 800100012001400160018002000

charge_dis_17.

Nent = 1176

251

201

15

10

Mean = 665.9

RMS = 4351

0
0 200 400 600 800100012001400160018002000

Charge_dis_1_7.

Nent = 1176

Mean = 1077

RMS = 614

0
0 200 400 600 800100012001400160018002000

Charge_dis 1.7,

Nent = 1176

30F Mean = 589.2

RMS = 4232

0
0 200 400 600 800100012001400160018002000

charge_dis_1_7 ]

Nent = 1176

Mean = 1325

RMS = 5017

0
0 200 400 600 800100012001400160018002000

Charge_dis_1.7 ]

Nent = 1176

Mean = 1019

RMS = 5581

0
0 200 400 600 800100012001400160018002000

charge_dis_1_7.

Nent = 1176

Mean = 9169

RMS = 4646

0
0 200 400 600 800100012001400160018002000

Charge_dis 17,

Nent = 1176

Mean = 606.4

RMS = 49.7

0
0 200 400 600 800100012001400160018002000

25

20)

15

10

0

charge_dis_1_7 ]

Nent = 1176

Mean = 994.4

RMS = 48.58

0 200 400 600 800100012001400160018002000

35

30)

25

20)

15]

10]

charge_dis_1.7 ]

Nent = 1176

F Mean = 5173

RMS = 38.21

0)

0 200 400 600 800100012001400160018002000

e 7]
Nent = 1176
Vean = 1177

251 RMS = 51.33

20

15[

10F

sl

0
0 200 400 600 800100012001400160018002000

charge_dis 1.7,

Nent = 1176

Mean = 7536

RMS = 54.20

0
0 200 400 600 800100012001400160018002000

charge_dis_1_7 ]

Nent = 1176

Mean = 1183

20

RMS = 66.96

0
0 200 400 600 800100012001400160018002000

charge_dis_17.

Nent=1176

Mean = 759.2

30

RMS = 48.4

0
0 200 400 600 800100012001400160018002000




charge_dis_1.6.

Nent = 1176

40

35

251

15

Mean = 171.9

RMS = 2858

200 400 600 800100012001400160018002000

charge_dis 1.6,

Nent = 1176

o2

Mean = 3232

RMS = 44.77

200 400 600 800100012001400160018002000

charge_dis_1.6 |

Nent = 1176

351

Mean = 2435

RMs = 3288

200 400 600 800100012001400160018002000

charge_dis 1.6,

Nent = 1176

30F

25

20

151

Mean = 267

RMS = 36.92

0
0 200 400 600 800100012001400160018002000

Charge_dis_1.6.

Nent = 1176
30F Mean = 404.4
RMS = 4435
251
20~
15
10
5

0
0 200 400 600 800100012001400160018002000

Charge_dis 1.8,

Nent = 1176

Mean = 2175

RMS = 3552

351

25

151

10

sk

0 |JI| M FETE FETH FET TH1 FETE FETd FEH1 AT
0 200 400 600 800100012001400160018002000

charge_dis_1.8 |

Nent = 1176

Mean = 459.1

RMS = 5377

25

harge_dis_1_8_10

0
0 200 400 600 800100012001400160018002000

Charge_dis_1.8 ]

Nent = 1176

Mean = 2465

35

RMS = 3817

30

251

20

151

10

[GLFT1 (W% [ETE FETH T FTR FUTE FATE ATE NORT

0 200 400 600 800100012001400160018002000

Charge_dis_1.6 )
Nent = 1176
Mean = 2066
35 RMS = 3433
30
25
20
15
10
-
ole Al P P Y P I e P
0 200 400 600 800100012001400160018002000

Charge_dis 1.6,
Nent = 1176
Mean = 180.1

351 RMS = 3887

30

25

20

15

10

0
0 200 400 600 800100012001400160018002000

charge_dis_1_6 |

Nent = 1176

Mean = 2386

RMS = 37.49

200 400 600 800100012001400160018002000

charge_dis_1.6 |

Nent = 1176

Mean = 1833

RMS = 36.46

0
0 200 400 600 800100012001400160018002000

30|

25

20

15

10|

0

charge_dis_1.6.

Nent = 1176

L.

Mean = 293.8

RMS = 36.83

0 200 400 600 800100012001400160018002000

charge_dis_18.

Nent = 1176

Mean = 3228

RMS = 475

0
0 200 400 600 800100012001400160018002000

40

35

30)

25)

20

15)

10

[

charge_dis_1.8 ]

Nent = 1176

Mean = 2326

RMS = 34.08

0 200 400 600 800100012001400160018002000

40

35)

30|

Charge_dis_1.6.

Nent=1176

Mean = 242.4

RMS = 37.1

0
0 200 400 600 800100012001400160018002000




ErTYTE ErTYTEE ErTYTE Sraree 915
ent = 1176 Nent = 1476 Nent = 1175 Nent = 1176
ean = 278 ean = 142 wean = 2173 Wean = 308
o s = 3657 b A = 2008 35k Aus = 3223 20k s = 3067
40F 20k ot
25F
3sf
25
20k 3o0f 2or
sk 20k
1sF 1sp
20F 15k
10F 15F 10F
10F
10F
5 sk ST
k J
c.....i...l...I...I...I...I...I...I... 7 % YO O T P TP OO PP PO PP AN TH NPT I PP PO PP T ol
0 200 400 600 800100012001400L60018002000 0 200 400 600 800100012001400L600L8002000 0 200 400 600 8001000120014001600L8002000 0 200 400 600 800100012001400L60018002000

T T T e
eni - 1176 Nent - 1176 Nent- 1176 Nent - 1176
e - 166 ean - 1356 ean - 257 vean - 116
s - 260 Avs - 2720 3k avs - a1 s - 2416
aof 40f
aof
3sf- 3sf- 30f sk
30F sop 25 30F
25 25 b
b 25
20F 20f 2F
15F
15f 15F sk
10F
10f 10f 10
sF s 5F sH
o-'-J bkt b bl 0, ot Ll b b b L b, 0 N R R AT
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

charge_dis 1.9 ] charge_dis_1.9 charge_dis 1.9 ] charge_dis_1.9 ]

Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176

Mean = 232 35F Mean = 2334 Mean = 3003 35F Mean = 278.1

RMS = 27.03 RMS = 4367 30) RMS = 41.03 RMS = 35.82

40

30

25

151

10

FOLIRT d M ' U PP PR PR N PETE FUTE FT

0 200 400 600 800100012001400160018002000

200 400 600 800100012001400160018002000 200 400 600 800100012001400160018002000 200 400 600 800100012001400160018002000

e e ] T
- 1176 e = 1476 B e - 1176
ean - 1702 e = 1350 e = 2005 e - 2071
s - 2700 s - aaas s - 3420 s - a0
sl 3sf
aof o ok
0 25F 25
20F 20
20 15k 15|
10F 10F
10
sF S_J
A N T OJ N TR NI A AT A I

0
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000




Nent = 1176

Mean = 3428

RMS = 4713

charge_dis_1_10)

0
0 200 400 600 800100012001400160018002000

Nent = 1176

Mean = 3517

RMs = 405

Charge_dis_1_10)

0
0 200 400 600 800100012001400160018002000

Nent = 1176

Mean = 2045

RMs = 39.97

charge_dis_1_10)

0
0 200 400 600 800100012001400160018002000

charge_dis_1_10)

Nent = 1176
Mean = 146.4
RMS = 34.41

30

251

201

15F

10

5

oldu [ NTH FETE FET FTR1 FER AUTH FATE NPT

0 200 400 600 800100012001400160018002000

Nent = 1176

Mean = 448

RMS = 5003

Charge_dis_1_10]

0
0 200 400 600 800100012001400160018002000

Nent = 1176

Mean = 292

RMS = 4185

Charge_dis_1_10)

0
0 200 400 600 800100012001400160018002000

charge_dis_1_10]

Nent = 1175

soF ean = 1901
Fs = 2574

a0

30F

20F

10F

C.J.I NP A T TP PP P TP

0 200 400 600 800100012001400160018002000

Charge_dis_1_10]

Nent = 1176
Mean = 1983
RMS = 4354

251

20

151

10

5k

GLF FTE W FETH T FTR FUTE FATE ATE NEE

0 200 400 600 800100012001400160018002000

Charge_dis_1_10
Nent = 1176
Mean = 413.1

35 RMS = 4381

30

25

20

15

10

sk

0
0 200 400 600 800100012001400160018002000

Nent = 1176

Mean = 221

45F RMS = 2381

charge_dis_1_10)

40

35

sF

0 ||J|| bbb b b beaa biaaley
0 200 400 600 800100012001400160018002000

Nent = 1176

30F Mean = 2427
RMS = 417

charge_dis_1_10)

0)
0 200 400 600 800100012001400160018002000

Nent = 1176

Mean = 258.2

RMS = 4036

charge_dis_1_10)

0
0 200 400 600 800100012001400160018002000

Charge_dis_1_10)
Nent = 1176
Mean = 2532

35k RMS = 36.09

30

25

20

15

10

sk

oL i IR [ R Y Y I P P

0 200 400 600 800100012001400160018002000

charge_dis_1_10)
Nent=1176
Mean = 2875

35 RMS = 33.48

30

25

20

15p

1o

sk

ol (A FRTH FAR1 RTRIRARA FRTH RAT1 NTT]

0 200 400 600 800100012001400160018002000

charge_dis_1_10)

Nent = 1176

Mean = 2369

251

RMS = 4835

0
0 200 400 600 800100012001400160018002000

charge_dis_1_10]

Nent=1176

Mean = 220.7

45

RMS = 2857

40F

35

20

15F

10

5F

L T | Y T P P TP YUY P PO IO
0 200 400 600 8001000120014001 60018002000




charge_dis_1_11]

Nent = 1176
Mean = 332.1
30f RMS = 3598
251
20
15
10F
51
0
0 200 400 600 800100012001400160018002000

charge_dis_1_11]

Nent = 1176

Mean = 4723

RMs = 416

0
0 200 400 600 800100012001400160018002000

harge_dis_1_11 8

charge_dis_1_11]

Nent = 1176

25)

f

Mean = 265.3

RMs = 4358

t

o2

200 400 600 800100012001400160018002000

charge_dis_1_11]

Nent = 1176

40

35

30]

25

20)

15

10|

0

|

Mean = 189.8

RMS = 3481

0 200 400 600 800100012001400160018002000

o2

Charge_dis_1_11]
Nent = 1176
Mean = 337.7

RMS = 5834

200 400 600 800100012001400160018002000

Charge_dis_1_11]
Nent = 1176
Mean = 229

RMS = 3524

200 400 600 800100012001400160018002000

charge_dis_1_11]

Nent = 1176
Mean = 1926
RMS = 3043

351

30

251

2f |

15

10

sF

[G1YT N F EUEETL FETH FET FTE] FETS FETe Few Are

0 200 400 600 800100012001400160018002000

charge_dis_1_11j3
Nent = 1176
Mean = 171

RMS = 47.8

0
0 200 400 600 800100012001400160018002000

Charge_dis_1_11]
Nent = 1176
30F Mean = 3903
RMS = 38.96
251
20
15
10
s
0 AT AT (P I I T Y P
0 200 400 600 800100012001400160018002000

charge_dis_1 1]
Nent = 1176
30F Mean = 4404
RMS = 5125
25
20
151
10
5k
0
0 200 400 600 800100012001400160018002000

charge_dis_1_11]

Nent = 1176

25]

Mean = 3178

RMS = 48.08

o2

200 400 600 800100012001400160018002000

charge_dis_1_11]

Nent = 1176

30|

25|

20)

15j

10

Mean = 201.1

RMS = 37

0)

0 200 400 600 800100012001400160018002000

40,

35)

30

25

20

15)

10

charge_dis_1_11]

Nent = 1176

Mean = 3119

- RMS = 2895

0

0 200 400 600 800100012001400160018002000

45)

40

35)

30|

25

20

15

10

0

charge_dis_1_11]

Nent = 1176

Mean = 2355

RMS = 2897

0 200 400 600 800100012001400160018002000

charge_dis_1_11]

Nent = 1176

Mean = 2686

RMS = 4864

0
0 200 400 600 800100012001400160018002000

40,

35

30|

25

20|

15)

10

charge_dis_1_11]

Nent=1176

Mean = 1455

RMS = 24.88

0

0 200 400 600 800100012001400160018002000



40

35

30]

25

20)

15

10

0

charge_dis_1_12)

Nent = 1176

Mean = 154

RMS = 29.94

0 200 400 600 800100012001400160018002000

harge_dis_1_12_4

25

o2

35

0
0 200 400 600 800100012001400160018002000

harge_

40

35

30

25

20]

15)

10

charge_dis_1_12]

Nent = 1176

Mean = 3259

RMS = 4860

200 400 600 800100012001400160018002000

charge_dis_1_12)

Nent = 1176

Mean = 221

RMs = 36.27

charge_dis_1_12]

Nent = 1176

0

Mean = 3086

RMS = 303

0 200 400 600 800100012001400160018002000

Charge_dis_1_12]

Nent = 1176
Mean = 390
35k RMS = 3258
30
25
20
15
10
5k
G"'I' M T T T T T P P T
0 200 400 600 800100012001400160018002000

Charge_dis_1_12]

Nent= 1176
Mean = 1537
451 RMS = 26.08
20F
35F
30F
25F
20F
15
10F
sk
s .|L.|...|...|...|...|...|...|...|...
0 200 400 600 800100012001400160018002000

charge_dis_1_12]

Nent = 1176

0
0

Mean = 4415

RMS = 48.84

200 400 600 800100012001400160018002000

charge_dis_1_12j43

Nent = 1176
Mean = 218
RMS = 3624

30

251

20

15

10

5

ole [ ' P PETE FET1 NTR FUTE P TR FTE

0 200 400 600 800100012001400160018002000

charge_dis_1_12]

Nent = 1176

Mean = 3359

RMS = 5277

0
0 200 400 600 800100012001400160018002000

30)

charge_dis_1_12]

Nent = 1176

Mean = 3499

RMS = 38.88

0
0 200 400 600 800100012001400160018002000

charge_dis_1_12]

Nent = 1176

0)
0 200 400 600 800100012001400160018002000

25]

20

15]

10

Mean = 4487

RMS = 5244

charge_dis_1_12]

Nent = 1176

0)

Mean = 285.1

RMS = 45.25

0 200 400 600 800100012001400160018002000

charge_dis_1_12]

Nent = 1176

1200F Mean = 0
RMS = -0

1000

800

600

400

200

0 P T Y P P I T P P e

0 200 400 600 800100012001400160018002000

charge_dis_1_12]

Nent = 1176

15

10

Mean = 4157

RMS = 4397

0
0 200 400 600 800100012001400160018002000

charge_dis_1_12)

Nent = 1176

25

Mean = 4518

RMS = 513

0
0 200 400 600 800100012001400160018002000

charge_dis_1_12]

Nent=1176

351

30

25

Mean = 3086

RMS = 3781

ol

0 200 400 600 800100012001400160018002000




charge_dis_1_13)

Nent = 1176

30

o2

Mean = 3522

RMS = 5488

200 400 600 800100012001400160018002000

Charge_dis_1_13)

Nent = 1176

351

251

20

Mean = 3546

RMS = 3766

0
0 200 400 600 800100012001400160018002000

charge_dis_1_13)

Nent = 1176

40F

35

30

20

10

Mean = 3438

RMs = 34.37

200 400 600 800100012001400160018002000

charge_dis_1_13)

Nent = 1176

35F

30

25

10F

obual

Mean = 3332

RMS = 2869

0 200 400 600 800100012001400160018002000

25

20

15)

10

charge_dis_1_13]
Nent = 1176
Mean = 2806

RMS = 49.9

0

0 200 400 600 800100012001400160018002000

22|

Charge_dis_1_13)
Nent = 1176
Mean = 603.1

RMS = 6115

0
0 200 400 600 800100012001400160018002000

35

30

25

20

15

10

0

7

charge_dis_1_13]
Nent = 1176
Mean = 2489

RMS = 3191

0 200 400 600 800100012001400160018002000

charge_dis_1_13j43
Nent = 1176
Mean = 473.1

RMS = 4888

0
0 200 400 600 800100012001400160018002000

30)

25|

20

15

10

charge_dis_1_13)

Nent = 1176

Mean = 1895

RMS = 4046

0
0 200 400 600 800100012001400160018002000

25]

20]

15

10}

0

charge_dis_1_13)

Nent = 1176

Mean = 3109

RMS = 39.62

0 200 400 600 800100012001400160018002000

charge_dis_1_13Jg0

Nent = 1176

30|

25]

20

15]

10}

Mean = 3006

RMS = 42.79

0 200 400 600 800100012001400160018002000

charge_dis_1_13jg4

Nent = 1176

30|

25

20|

15

10

0)

Mean = 4188

RMS = 44.43

0 200 400 600 800100012001400160018002000

45)

40

35

30

25)

20

15

10|

charge_dis_1_13)

Nent = 1176

Mean = 251

RMS = 265

0

0 200 400 600 800100012001400160018002000

35

30|

25

20

15)

10

charge_dis_1_13]

Nent = 1176

Mean = 1665

RMS = 2968

0 200 400 600 800100012001400160018002000

30|

25)

20|

15)

10

[

charge_dis_1_13)

Nent = 1176

Mean = 384.8

RMS = 40.02

0 200 400 600 800100012001400160018002000

45

40

35

30|

25

20|

15

10|

charge_dis_1_13)

Nent=1176

Mean = 159.1

RMS = 2667

ol ||l||||||||||||||||||||||||||||||||||

0 200 400 600 800100012001400160018002000



o2

charge_dis_1_14)
Nent = 1176
Mean = 4086

RMS = 4764

200 400 600 800100012001400160018002000

Charge_dis_1_14]
Nent = 1176
Mean = 4162

RMS = 4525

200 400 600 800100012001400160018002000

25

o2

charge_dis_1_14)
Nent = 1176
Mean = 593.8

RMs = 49.81

200 400 600 800100012001400160018002000

30

251

20

15

10

charge_dis_1_14]

Nent = 1176

Mean = 346.8

RMS = 308

0
0 200 400 600 800100012001400160018002000

30

25

20

15

10

Charge_dis_1_14]

Nent = 1176

Mean = 585.6

RMS = 37.96

0

0 200 400 600 800100012001400160018002000

Nent = 1176
Mean = 285.4

35F RMS = 321

30

251

20

151

10

5

olualliy FERH FETE FET1 RTR AUTE PR TR NPT

Charge_dis_1_14]

0 200 400 600 800100012001400160018002000

30

25

20

15

10

0

charge_dis_1_14]

Nent = 1176

Mean = 5448

RMS = 37.02

0 200 400 600 800100012001400160018002000

30

25

20

15)

10

0

charge_dis_1_14j43

Nent = 1176

¥i

Mean = 312

RMS = 3512

0 200 400 600 800100012001400160018002000

charge_dis_1_14]
Nent = 1176
Mean = 684.1

RMS = 57.36

0
0 200 400 600 800100012001400160018002000

40

35

30)

25|

20)

15]

10

0

charge_dis_1_14)
Nent = 1176
Mean = 389.4

RMS = 3099

0 200 400 600 800100012001400160018002000

0)
0 200 400 600 800100012001400160018002000

charge_dis_1_1aJg0
Nent = 1176
Mean = 5124

RMS = 58.68

30|

25]

20|

15j

10}

0)

charge_dis_1_1ajg4
Nent = 1176
Mean = 419.4

RMS = 418

0 200 400 600 800100012001400160018002000

o2

charge_dis_1_14)
Nent = 1176
Mean = 640.3

RMS = 5203

200 400 600 800100012001400160018002000

charge_dis_1_14]
Nent = 1176
Mean = 287.1

RMS = 4015

200 400 600 800100012001400160018002000

25

0
0

charge_dis_1_14)
Nent = 1176
Mean = 617.2

RMS = 5359

200 400 600 800100012001400160018002000

40

351

30

25

20

15

10

Charge_dis_1_14]
Nent=1176
Mean = 249.8

RMS = 2955

0
0 200 400 600 800100012001400160018002000




charge_dis_1_15)

Nent = 1176

35

30

25

20

15

10

Mean = 367

RMS = 3754

200 400 600 800100012001400160018002000

Charge_dis_1_15)

Nent = 1176

Mean = 489.8

RMS = 39.03

200 400 600 800100012001400160018002000

charge_dis_1_15)

Nent = 1176

45F

40

35

30

25F

20

15

10F

Mean = 296.7

RMs = 278

..J.. 'R FETH PUTY FTE1 FTEY FETH PUTY ITe

200 400 600 800100012001400160018002000

charge_dis_1_15)

Nent = 1176

0
0 200 400 600 800100012001400160018002000

Mean = 513.1

RMS = 486

Charge_dis_1_15)

Nent = 1176

351

Mean = 5747

RMS = 425

200 400 600 800100012001400160018002000

Charge_dis_1_15)

Nent = 1176

Mean = 385.8

RMS = 34.04

200 400 600 800100012001400160018002000

charge_dis_1_15]

Nent = 1176

Mean = 477.9

RMS = 6107

200 400 600 800100012001400160018002000

charge_dis_1_15[43

Nent = 1176

Mean = 4768

RMS = 5862

0
0 200 400 600 800100012001400160018002000

charge_dis_1_15)

Nent = 1176
Mean = 254
RMS = 35.65
30
251
20
15
10F
5k
oLl
0 200 400 600 800100012001400160018002000

charge_dis_1_15)

Nent = 1176
Mean = 7327
RMS = 5435
251
20
151
10
51
0 coben bl Wl e b b b b
0 200 400 600 800100012001400160018002000

charge_dis_1_15[g0

Nent = 1176
Mean = 3299
351 RMS = 34.1
30
25
20
15
10
s
LTI ¥R, P FTY FTRE PR P PR R pe
0 200 400 600 800100012001400160018002000

charge_dis_1_15[44

Nent = 1176

Mean = 4456

RMS = 40.72

0
0 200 400 600 800100012001400160018002000

charge_dis_1_15)

Nent = 1176

35

Mean = 3276

RMS = 325

200 400 600 800100012001400160018002000

charge_dis_1_15]

Nent =1176
Mean = 2997
RMS = 3803
30
251
20
15
10
sk
0 vl B b bbb e il
0 200 400 600 800100012001400160018002000

charge_dis_1_15[41

Nent = 1176

o2

Mean = 370.9

RMS = 49.20

200 400 600 800100012001400160018002000

Ccharge_dis_1_15[45

Nent=1176

40

35

25

20

Mean = 2253

RMS = 251

I.LI...I...I.uln.l.ul.nlu.ln.

0 200 400 600 800100012001400160018002000



25

o2

charge_dis_2_0.|
Nent = 1176
Mean = 924.1

RMS = 5486

200 400 600 800100012001400160018002000

charge_dis 2.0,
Nent = 1176
Mean = 999.6

RMS = 6164

200 400 600 800100012001400160018002000

charge_dis_2_0 ]
Nent = 1176
Mean = 1083

RMSs = 80.84

200 400 600 800100012001400160018002000

charge_dis 2.0 ]
Nent = 1176
Mean = 1035

RMS = 59.00

0
0 200 400 600 800100012001400160018002000

Charge_dis_2_0]
Nent = 1176
Mean = 1046

RMS = 67.94

200 400 600 800100012001400160018002000

20

Charge_dis 2.0,
Nent = 1176
Mean = 906.6

RMS = 68.92

200 400 600 800100012001400160018002000

20

charge_dis_2_0 ]
Nent = 1176
Mean = 1089

RMS = 8164

200 400 600 800100012001400160018002000

Charge_dis_2_0 ]
Nent = 1176
Mean = 1028

RMS = 7416

0
0 200 400 600 800100012001400160018002000

charge_dis_2_0]
Nent = 1176
Mean = 1008

RMS = 68.38

200 400 600 800100012001400160018002000

charge_dis_2.0.
Nent = 1176
Mean = 6269

RMS = 6218

200 400 600 800100012001400160018002000

18

charge_dis_2_0 ]
Nent = 1176
Mean = 1220

RMS = 7186

200 400 600 800100012001400160018002000

charge_dis_2_0 ]
Nent = 1176
Mean = 9333

RMS = 66.47

0
0 200 400 600 800100012001400160018002000

charge_dis_2_0_]
Nent = 1176
Mean = 1457

RMS = 66.37

200 400 600 800100012001400160018002000

charge_dis 2.0,
Nent = 1176
Mean = 991.8

RMS = 87.15

200 400 600 800100012001400160018002000

22

charge_dis_2_0]
Nent = 1176
Mean = 1068

RMS = 6172

200 400 600 800100012001400160018002000

charge_dis_2_0 ]
Nent=1176
Mean = 9935

RMS = 6055

0
0 200 400 600 800100012001400160018002000




charge_dis_2_1.

Nent = 1176

25

o2

Mean = 683.2

RMS = 48.77

200 400 600 800100012001400160018002000

charge_dis 2.1,

Nent = 1176

221

Mean = 1116

RMS = 7098

200 400 600 800100012001400160018002000

o2

charge_dis_2_1 |
Nent = 1176
Mean = 8626

RMs = 6451

200 400 600 800100012001400160018002000

charge_dis_2_1 ]
Nent = 1176
Mean = 7338

RMS = 47.77

0
0 200 400 600 800100012001400160018002000

Charge_dis_2_1.

Nent = 1176

Mean = 1028

RMS = 6723

200 400 600 800100012001400160018002000

Charge_dis 2.1,
Nent = 1176
Mean = 1221

RMS = 749

200 400 600 800100012001400160018002000

30

charge_dis_2_1 |
Nent = 1176
Mean = 8326

RMS = 4974

200 400 600 800100012001400160018002000

Charge_dis_2_1 ]
Nent = 1176
Mean = 756.8

RMS = 6391

0
0 200 400 600 800100012001400160018002000

22|

charge_dis_2_1.

Nent = 1176

Mean = 965.7

RMS = 637

200 400 600 800100012001400160018002000

charge_dis 21,

Nent = 1176

Mean = 9839

RMS = 7019

200 400 600 800100012001400160018002000

charge_dis_2_1 |
Nent = 1176
Mean = 1072

RMS = 6278

o2

200 400 600 800100012001400160018002000

charge_dis_2_1 ]
Nent = 1176
Mean = 658.4

RMS = 52.72

0
0 200 400 600 800100012001400160018002000

Ccharge_dis_2_1.

Nent = 1176

Mean = 857.9

RMS = 66.07

0
0 200 400 600 800100012001400160018002000

charge_dis_2_1

Nent = 1176

Mean = 7362

RMS = 6128

0
0 200 400 600 800100012001400160018002000

35

30|

25)

20|

15

10

[

charge_dis_2_1 ]
Nent = 1176
Mean = 7145

RMS = 4357

0 200 400 600 800100012001400160018002000

charge_dis_2_1 ]
Nent=1176
Mean = 805.4

RMS = 5462

0
0 200 400 600 800100012001400160018002000




charge_dis_2_2.

Nent = 1176

Mean = 660.4

RMS = 6144

o2

200 400 600 800100012001400160018002000

charge_dis 2.2,

Nent = 1176

5| Mean = 947.1

RMS = 69.98

o2

200 400 600 800100012001400160018002000

charge_dis_2_2 |

Nent = 1176

Mean = 436.8

RMS = 46.46

200 400 600 800100012001400160018002000

charge_dis_2_2.

Nent = 1176

Mean = 7619

RMS = 64.11

0
0 200 400 600 800100012001400160018002000

Charge_dis_2_2.

Nent = 1176

0
0

Mean = 6022

RMS = 4858

200 400 600 800100012001400160018002000

Charge_dis 2.2,

Nent = 1176

20

Mean = 8225

RMS = 6296

200 400 600 800100012001400160018002000

charge_dis_2_2 |

Nent = 1176
1200F Mean = 0
RMS = -0
1000F
800
600~
400
200
obmbins b b bbb b bl
0 200 400 600 800100012001400160018002000

Charge_dis_2_2 ]

Nent = 1176

251

20

10

0
0

Mean = 8829

RMS = 4889

200 400 600 800100012001400160018002000

charge_dis_2_2.

Nent = 1176

25

0
0

Mean = 1075

RMS = 6324

200 400 600 800100012001400160018002000

Ccharge_dis_2.2.

Nent = 1176

Mean = 9003

RMS = 7319

200 400 600 800100012001400160018002000

20

charge_dis_2_2 |
Nent = 1176
Mean = 1064

RMS = 6558

200 400 600 800100012001400160018002000

charge_dis_2_2 |
Nent = 1176
Mean = 733.7

RMS = 66.86

0
0 200 400 600 800100012001400160018002000

Charge_dis_2_2.

Nent = 1176

20

Mean = 8747

RMS = 76.41

200 400 600 800100012001400160018002000

charge_dis_2_2.

Nent = 1176

Mean = 696.8

RMS = 5435

200 400 600 800100012001400160018002000

0
0

charge_dis_2_2 ]
Nent = 1176
Mean = 8119

RMS = 59.75

200 400 600 800100012001400160018002000

Charge_dis_2.2 ]
Nent=1176
Mean = 569.2

RMS = 57.01

0
0 200 400 600 800100012001400160018002000




charge_dis_2_3.

Nent = 1176

20

Mean = 730.4

RMS = 6766

200 400 600 800100012001400160018002000

charge_dis 2.3,
Nent = 1176
Mean = 7458

RMS = 67.72

200 400 600 800100012001400160018002000

charge_dis_2_3 |
Nent = 1176
Mean = 8486

RMSs = 69.32

200 400 600 800100012001400160018002000

charge_dis 2.3 |
Nent = 1176
Mean = 687

RMS = 5243

0
0 200 400 600 800100012001400160018002000

25

0
0

Charge_dis_2_3 ]
Nent = 1176
Mean = 492.7

RMS = 52

200 400 600 800100012001400160018002000

25

0
0

Charge_dis 2.3,
Nent = 1176
Mean = 590.1

RMS = 5319

200 400 600 800100012001400160018002000

o2

charge_dis_2_3 |
Nent = 1176
Mean = 768.4

RMS = 6067

200 400 600 800100012001400160018002000

Charge_dis_2.3 |
Nent = 1176
Mean = 4542

RMS = 4275

0
0 200 400 600 800100012001400160018002000

25|

o2

charge_dis_2_3 |
Nent = 1176
Mean = 7572

RMS = 64.77

200 400 600 800100012001400160018002000

Charge_dis_2.3.
Nent = 1176
Mean = 7086

RMS = 53.06

200 400 600 800100012001400160018002000

25

o2

charge_dis_2_3 |
Nent = 1176
Mean = 6826

RMS = 5085

200 400 600 800100012001400160018002000

charge_dis_2_3 |
Nent = 1176
Mean = 618.9

RMS = 43.67

0
0 200 400 600 800100012001400160018002000

charge_dis_2_3 ]
Nent = 1176
Mean = 6136

RMS = 6239

200 400 600 800100012001400160018002000

25

o2

charge_dis 2.3,
Nent = 1176
Mean = 556.4

RMS = 6181

200 400 600 800100012001400160018002000

charge_dis_2_3 |
Nent = 1176
Mean = 6305

RMS = 66.05

0
0 200 400 600 800100012001400160018002000

35

30

251

20

15

10

Ccharge_dis_2.3 |
Nent=1176
Mean = 440.7

RMS = 4584

0
0 200 400 600 800100012001400160018002000




charge_dis_2_4,

Nent = 1176

o2

Mean = 7516

RMS = 5556

200 400 600 800100012001400160018002000

charge_dis 2.4,

Nent = 1176

o2

Mean = 5742

RMS = 51

200 400 600 800100012001400160018002000

charge_dis_2_4 |

Nent = 1176

30F Mean = 556.8
RMS = 4176

251

20

15

10

sk

obwbin b IR bbbl b de,

0 200 400 600 800100012001400160018002000

charge_dis_2_4,

Nent = 1176

Mean = 638.4

RMS = 4561

0
0 200 400 600 800100012001400160018002000

Charge_dis_2_4.]
Nent = 1176
Mean = 5823

RMS = 4659

0
0 200 400 600 800100012001400160018002000

Charge_dis 2.4,
Nent = 1176
Mean = 6449

RMS = 4833

0
0 200 400 600 800100012001400160018002000

30

charge_dis_2_4 |
Nent = 1176
Mean = 4386

RMS = 4083

0
0 200 400 600 800100012001400160018002000

Charge_dis_2_4]
Nent = 1176
Mean = 629.8

RMS = 54.68

0
0 200 400 600 800100012001400160018002000

charge_dis_2_4 ]
Nent = 1176
Mean = 6003

RMS = 535

0
0 200 400 600 800100012001400160018002000

25

Charge_dis_2.4.
Nent = 1176
Mean = 852.1

RMS = 58.83

0
0 200 400 600 800100012001400160018002000

30F

charge_dis_2_4 ]
Nent = 1176
Mean = 606.9

RMS = 46.79

0)
0 200 400 600 800100012001400160018002000

251

20

10

charge_dis_2_4 ]
Nent = 1176
Mean = 7905

RMS = 45.98

0
0 200 400 600 800100012001400160018002000

charge_dis_2_4 ]
Nent = 1176
Mean = 709.4

RMS = 69.13

200 400 600 800100012001400160018002000

0
0

charge_dis 2.4,
Nent = 1176
Mean = 751

RMS = 6158

200 400 600 800100012001400160018002000

221

charge_dis_2_4 ]
Nent = 1176
Mean = 7495

RMS = 64.68

200 400 600 800100012001400160018002000

30|

Ccharge_dis_2_4 ]
Nent=1176
Mean = 383.4

RMS = 49.27

0
0 200 400 600 800100012001400160018002000




charge_dis_2_5.

Nent = 1176

o2

Mean = 559.3

RMS = 5105

200 400 600 800100012001400160018002000

charge_dis 2.5,

Nent = 1176

30)

Mean = 565.7

RMS = 4883

200 400 600 800100012001400160018002000

charge_dis_2_5 |
Nent = 1176
Mean = 766.9

RMs = 545

200 400 600 800100012001400160018002000

charge_dis 2.5 |
Nent = 1176
Mean = 679.4

RMS = 58.16

0
0 200 400 600 800100012001400160018002000

18

Charge_dis_2_5.]
Nent = 1176
Mean = 8347

RMS = 67.1

200 400 600 800100012001400160018002000

Charge_dis 2.5,
Nent = 1176
Mean = 637.9

RMS = 4485

200 400 600 800100012001400160018002000

25

charge_dis_2_5 |
Nent = 1176
Mean = 767

RMS = 6027

o2

200 400 600 800100012001400160018002000

Charge_dis_2.5 ]
Nent = 1176
Mean = 698.2

RMS = 59.76

0
0 200 400 600 800100012001400160018002000

charge_dis_2_5.

Nent = 1176

Mean = 6265

RMS = 4485

200 400 600 800100012001400160018002000

o<

charge_dis_2.5.
Nent = 1176
Mean = 6516

RMS = 5617

200 400 600 800100012001400160018002000

o2

charge_dis_2_5 |

Nent = 1176
Mean = 729.7
RMS = 57.68

200 400 600 800100012001400160018002000

charge_dis_2.5 |
Nent = 1176
Mean = 552.1

RMS = 47.24

0
0 200 400 600 800100012001400160018002000

charge_dis_2_5.

Nent = 1176

22

Mean = 671.2

RMS = 6147

200 400 600 800100012001400160018002000

30F

25

201

151

10

charge_dis 2.5,
Nent = 1176
Mean = 4832

RMS = 3855

0
0

200 400 600 800100012001400160018002000

charge_dis_2_5 ]
Nent = 1176
Mean = 439.6

RMS = 375

200 400 600 800100012001400160018002000

20

Ccharge_dis_2.5 |
Nent=1176
Mean = 917.2

RMS = 509

0
0 200 400 600 800100012001400160018002000




charge_dis_2_6.

Nent = 1176

Mean = 564.1

RMS = 5306

o2

200 400 600 800100012001400160018002000

charge_dis 2.6,

Nent = 1176

Mean = 849.7

RMS = 5939

200 400 600 800100012001400160018002000

charge_dis_2_6 |

Nent = 1176

Mean = 434

RMS = 5176

0 200 400 600 800100012001400160018002000

charge_dis_2.6.

Nent = 1176

Mean = 4855

RMS = 47.24

0
0 200 400 600 800100012001400160018002000

30|

25

20

15)

10

Charge_dis_2_6.

Nent = 1176

= Mean = 389.3

RMS = 4057

0

0 200 400 600 800100012001400160018002000

Charge_dis_2.6,

Nent = 1176

Mean = 489.9

RMS = 4615

0
0 200 400 600 800100012001400160018002000

0
0 200 400 600 800100012001400160018002000

1200

1000

800

600

400

200

0

charge_dis_2_6 |

Nent = 1176

Mean = 5366

RMS = 5343

Charge_dis_2.6 ]

Nent = 1176
- Mean = 0
RMS = -0

0 200 400 600 800100012001400160018002000

charge_dis_2_6.

Nent = 1176

30F Mean = 509
RMS = 4394

251

20

15

10

s

[(\FETEUT P ST P I P P e

0 200 400 600 800100012001400160018002000

charge_dis_2.6.

Nent = 1176

Mean = 6795

RMS = 54.42

25

0
0 200 400 600 800100012001400160018002000

charge_dis_2_6 |

Nent = 1176

S Mean = 483.2

RMS = 56.15

0)
0 200 400 600 800100012001400160018002000

charge_dis_2.6 |

Nent = 1176
Mean = 397.1

30k RMS = 46.41

251

20

15

10F

s

ol LB L L bbb i b b

0 200 400 600 800100012001400160018002000

charge_dis_2_6.

Nent = 1176

Mean = 5819

RMS = 59.48

0
0 200 400 600 800100012001400160018002000

charge_dis 2.6,

Nent = 1176

Mean = 5605

RMS = 49.74

0
0 200 400 600 800100012001400160018002000

charge_dis_2_6 ]

Nent = 1176

30F Mean = 506.4
RMS = 48.85

0
0 200 400 600 800100012001400160018002000

charge_dis_2.6.

Nent=1176

Mean = 4333

30

RMS = 4372

0
0 200 400 600 800100012001400160018002000



charge_dis_2_7.

Nent = 1176
vean = 17
v = 4559

251

201

15f

10f

sk

PP PPN NP 1R PP PO PR PR PP

0 200 400 600 800100012001400160018002000

e a2 7
e = 1176
ean = 5347
30f RMS = 44.77
25

lll.n_n.d.n.n_d.nu_l.n_n.n_l.n_n.n_l.n.n_n.

0
0 200 400 600 800100012001400160018002000

charge_dis_2_7 |

Nent = 1176
Mean = 557.8
RMS = 5095

25

20

15

10

sk

obubi B B bbbl binde,

0 200 400 600 800100012001400160018002000

charge_dis_2_7.

Nent = 1176

Mean = 4965

RMS = 519

0
0 200 400 600 800100012001400160018002000

Charge_dis_2_7.

Nent = 1176

Mean = 719.8

RMS = 65.89

0
0 200 400 600 800100012001400160018002000

Charge_dis 2.7,

Nent = 1176

Mean = 5223

RMS = 55.64

0
0 200 400 600 800100012001400160018002000

charge_dis_2_7 |

Nent = 1176

30F Mean = 396.5
RMS = 5107

0
0 200 400 600 800100012001400160018002000

Charge_dis_2_7 ]

Nent = 1176

Mean = 342

RMS = 3727

0
0 200 400 600 800100012001400160018002000

35

30)

25]

20]

15

10}

charge_dis_2_7.

Nent = 1176

Mean = 3915

RMS = 39.96

0

0 200 400 600 800100012001400160018002000

Charge_dis_2.7.

Nent = 1176

Mean = 5249

RMS = 47.06

0
0 200 400 600 800100012001400160018002000

charge_dis_2_7 ]

Nent = 1176

Mean = 5114

RMS = 535

0)
0 200 400 600 800100012001400160018002000

charge_dis_2.7 ]

Nent = 1176

35

30)

25]

20)

15

10}

Mean = 5685

- RMS = 46.1

0
0 200 400 600 800100012001400160018002000

25

o2

30|

charge_dis_2_7.

Nent = 1176

Mean = 5123

RMS = 50

200 400 600 800100012001400160018002000

charge_dis_2_7,

Nent = 1176

Mean = 520.8

RMS = 44.89

200 400 600 800100012001400160018002000

charge_dis_2_7 ]

Nent = 1176

Mean = 409.3

RMS = 4271

200 400 600 800100012001400160018002000

charge_dis_2_7.

Nent=1176

25

20

15)

10|

Mean = 404.8

RMS = 5113

0

0 200 400 600 800100012001400160018002000



charge_dis 2.6 |
Nent = 1176
Mean = 991.4

RMS = 638

0
0 200 400 600 800100012001400160018002000

charge_dis 2.6,
Nent = 1176
Mean = 917.7

RMS = 49.02

0
0 200 400 600 800100012001400160018002000

charge_dis_2_6 |
Nent = 1176
Mean = 1072

RMS = 5355

0
0 200 400 600 800100012001400160018002000

25

20

15)

10

charge_dis 2.6 |
Nent = 1176
Mean = 763.7

RMs = 48.04

0
0 200 400 600 800100012001400160018002000

20

18

16

14

Charge_dis_2_6]
Nent = 1176
Mean = 1412

RMS = 8467

0
0 200 400 600 800100012001400160018002000

30

251

20

10

s

Charge_dis 2.8,
Nent = 1176
Mean = 5782

RMS = 3531

0

0 200 400 600 800100012001400160018002000

25

charge_dis_2_8 |
Nent = 1176
Mean = 1279

RMS = 6324

0
0 200 400 600 800100012001400160018002000

Charge_dis_2_8 ]
Nent = 1176
Mean = 8302

RMS = 5498

0
0 200 400 600 800100012001400160018002000

charge_dis_2.6.

Nent = 1176

Mean = 8828

RMS = 49.42

0
0 200 400 600 800100012001400160018002000

Ccharge_dis_2.6.

Nent = 1176

Mean = 1166

RMS = 7244

0
0 200 400 600 800100012001400160018002000

charge_dis_2_8 |

Nent = 1176
Mean = 1098
RMS = 634

0)
0 200 400 600 800100012001400160018002000

charge_dis_2.6 |

Nent = 1176

Mean = 901.3

RMS = 5618

0
0 200 400 600 800100012001400160018002000

charge_dis_2_6.

Nent = 1176

18

16

14

Mean = 1186

RMS = 66.18

0
0 200 400 600 800100012001400160018002000

charge_dis 2.8,

Nent = 1176

25

15

10

sk

0

Mean = 3825

RMS = 3535

0 200 400 600 800100012001400160018002000

charge_dis_2_8 |

Nent= 1176

Vean = 8171
30 RMS = 42.26
25

0
0 200 400 600 800100012001400160018002000

charge_dis 2.6,

Nent=1176

Mean = 7316

RMS = 47.33

0
0 200 400 600 800100012001400160018002000




charge_dis_2_9 |
Nent = 1176
Mean = 918.8

RMS = 49

0
0 200 400 600 800100012001400160018002000

charge_dis 2.9,
Nent = 1176
Mean = 837.1

RMS = 4557

0
0 200 400 600 800100012001400160018002000

charge_dis_2_9 |
Nent = 1176
Mean = 1122

RMS = 63.16

0
0 200 400 600 800100012001400160018002000

charge_dis 2.9 ]
Nent = 1176
Mean = 836.4

RMS = 60.4

0
0 200 400 600 800100012001400160018002000

Charge_dis_2_9 ]
Nent = 1176
Mean = 8917

RMS = 5275

0
0 200 400 600 800100012001400160018002000

30

251

20

151

10

Charge_dis 2.9,
Nent = 1176
Mean = 7332

RMS = 4234

0
0 200 400 600 800100012001400160018002000

charge_dis_2_9 |
Nent = 1176
Mean = 8433

RMS = 55.48

0
0 200 400 600 800100012001400160018002000

251

20

10

Charge_dis_2_9 ]
Nent = 1176
Mean = 615.7

RMS = 3624

b

0 200 400 600 800100012001400160018002000

20

151

10

charge_dis_2_9 ]
Nent = 1176
Mean = 491

RMS = 4831

0
0 200 400 600 800100012001400160018002000

25

charge_dis_2.9.
Nent = 1176
Mean = 9469

RMS = 5447

0
0 200 400 600 800100012001400160018002000

0)
0 200 400 600 800100012001400160018002000

charge_dis_2_9 ]
Nent = 1176
Mean = 5143

RMS = 4595

charge_dis_2_9 ]
Nent = 1176
Mean = 946.2

RMS = 47.88

0
0 200 400 600 800100012001400160018002000

charge_dis_2_9 ]
Nent = 1176
Mean = 769.8

RMS = 46.07

0
0 200 400 600 800100012001400160018002000

30

charge_dis 2.9,
Nent = 1176
Mean = 7865

RMS = 49.83

0
0 200 400 600 800100012001400160018002000

30|

charge_dis_2_9 ]
Nent = 1176
Mean = 895.1

RMS = 4756

0
0 200 400 600 800100012001400160018002000

25

charge_dis_2.9 ]
Nent=1176
Mean = 7538

RMS = 4384

0
0 200 400 600 800100012001400160018002000




charge_dis_2_10)

Nent = 1176

Mean = 5265

35F RMS = 3224

30

200 400 600 800100012001400160018002000

Charge_dis_2_10)

Nent = 1176

Mean = 5916

RMs = 4251

351

251

20

0
0 200 400 600 800100012001400160018002000

harao s 1)
et = 1176
vean = 4523

a5k v = 3416

30F

251

20F

15F

10F

1 j

1l T AT N T

0
0 200 400 600 800100012001400160018002000

charge_dis_2_10)

Nent = 1176

Mean = 470.4

RMS = 4039
30

20

10F

0
0 200 400 600 800100012001400160018002000

charge_dis_2_10)
Nent = 1176
Mean = 5829
35k RMS = 3765
30
25
20
15
10
5k
0 T PR A P T P e
0 200 400 600 800100012001400160018002000

Charge_dis_2_10)

Nent = 1176
Mean = 4893
RMS = 356
351
30
251
20
151
10
sF
olu M M
0 200 400 600 800100012001400160018002000

charge_dis_2_10)

Nent = 1176

Mean = 735

301

RMS = 53.1

200 400 600 800100012001400160018002000

charge_dis_2_10j43

Nent = 1176

Mean = 4732

RMS = 4138

0
0 200 400 600 800100012001400160018002000

charge_dis_2_10)

Nent = 1176
Mean = 603.1
RMS = 3731
30
251
20
15
1o
5
G"'I"'I' A P I P I P
0 200 400 600 800100012001400160018002000

charge_dis_2_10)

Nent = 1176

o<

Mean = 578.2

RMS = 48.68

200 400 600 800100012001400160018002000

charge_dis_2_10j40

Nent = 1176
wean = 7335
Rus = 476
25
20
15
101
sk
LTI TR I ) T PO P P PP
0 200 400 600 800100012001400160018002000

charge_dis_2_10jg4

Nent = 1176

251

20

10

5

Mean = 6295

RMS = 4095

|||L|||||||||||||||||||||||||

0)

0 200 400 600 800100012001400160018002000

Nent = 1176

Mean = 922.8

RMS = 6187

charge_dis_2_10]

200 400 600 800100012001400160018002000

Nent = 1176

25 Mean = 770.1

RMS = 5091

charge_dis_2_10)

o2

200 400 600 800100012001400160018002000

Nent = 1176

Mean = 855.1

RMS = 58.35

charge_dis_2_10)

200 400 600 800100012001400160018002000

charge_dis_2_10]

Nent=1176

Mean = 689

RMS = 54.83

25

0
0 200 400 600 800100012001400160018002000



25

o2

o2

35

30

25

20

15)

10

charge_dis_2_11]

Nent = 1176

Mean = 734.4

RMS = 5464

200 400 600 800100012001400160018002000

Charge_dis_2_11]

Nent = 1176

Mean = 787.1

RMS = 47.22

200 400 600 800100012001400160018002000

charge_dis_2_11]

Nent = 1176

"

Mean = 477.1

RMS = 36.19

35

30

25

20

15)

10|

0

200 400 600 800100012001400160018002000

charge_dis_2_11]

Nent = 1176

Mean = 514.4

RMS = 3396

0 200 400 600 800100012001400160018002000

30|

25

20

15)

10

Charge_dis_2_11]

Nent = 1176

Mean = 5406

RMS = 4595

0
0 200 400 600 800100012001400160018002000

35)

Charge_dis_2_11]

Nent = 1176

Mean = 696.1

RMS = 4221

0
0 200 400 600 800100012001400160018002000

30|

25

20

15

10

0

charge_dis_2_11]

Nent = 1176

Mean = 4787

RMS = 37.05

0 200 400 600 800100012001400160018002000

35)

30|

25

20

15)

10|

0

charge_dis_2_11j3

Nent = 1176

Mean = 4708

RMS = 3431

0 200 400 600 800100012001400160018002000

charge_dis_2_11]
Nent = 1176
Mean = 675.1

RMS = 47.29

0
0 200 400 600 800100012001400160018002000

charge_dis_2_11]
Nent = 1176
Mean = 1063

RMS = 65.88

0
0 200 400 600 800100012001400160018002000

1200

1000

800

200

charge_dis_2_11[40

Nent = 1176
Mean = 0
RMS = -0

obbin b b b bbb bina dess

0 200 400 600 800100012001400160018002000

charge_dis_2_11j4
Nent = 1176
Mean = 7702

RMS = 47.05

0
0 200 400 600 800100012001400160018002000

charge_dis_2_11]

Nent = 1176

Mean = 767.1

RMS = 4959

0
0 200 400 600 800100012001400160018002000

30|

charge_dis_2_11]

Nent = 1176

Mean = 8335

RMS = 46.44

0
0 200 400 600 800100012001400160018002000

30|

25)

20

15)

10

[

charge_dis_2_11]

Nent = 1176

Mean = 568.8

RMS = 42.41

0 200 400 600 800100012001400160018002000

35

30|

25)

20|

15

10

charge_dis_2_11]

Nent=1176

Mean = 7835

RMS = 4413

A

0

0 200 400 600 800100012001400160018002000



charge_dis_2_12)

Nent = 1176

Mean = 11.44

800 RS = 1813

600~

400

300

100

200 400 600 800100012001400160018002000

0
0

charge_dis_2_12)

Nent = 1176
Mean = 3
RS = 9.804
1000~
800
600
400
200
0 FTE FET1 RTR1 FUTE FRTH FTR1 FERU RATH FRTE FTEY
0 200 400 600 800100012001400160018002000

charge_dis_2_12)
Nent = 1176
350F Mean = 34.63
RMS = 2634
300
250
200
150F
100
50)
oL 'L YR FY N PP FETE FEWE RR PETE FUTE AT
0 200 400 600 800100012001400160018002000

charge_dis_2_12)
Nent = 1176
Mean = 5.49

1000~ RMS = 1369

800

600

400

200

0 FTE FET1 RTR1 FUTE FETY FTR1 RERURUTH FRTE NTEY

0 200 400 600 800100012001400160018002000

Charge_dis_2_12]

Nent = 1176
60 Mean = 87.74
RMS = 23.44
50|
40|
30H
20H
10
0 M 1P PP T I P I e e
0 200 400 600 800100012001400160018002000

Charge_dis_2_12]
Nent = 1176
Mean = 3882
300k RMS = 2611
250
200
150
100
50
0
0 200 400 600 800100012001400160018002000

charge_dis_2_12]
Nent = 1176
Mean = 1346

a0F RMS = 3031

351

30

25

20

151

10F

5]

0 ||Ll|||||||||||||||||||||||||||||||||

0 200 400 600 800100012001400160018002000

Charge_dis_2_12]

Nent = 1176
Mean = 65.18
RMS = 2679

60

50

40R

30|

20|

10|

oL '™ TN FATE FETH FET1 FTR1 FUTE FATE ATR NERY

0 200 400 600 800100012001400160018002000

charge_dis_2_12]

Nent = 1176

Mean = 1613

RMS = 276

35

25

20

10

foLo FH0 O I Y P Y Y P B e
0 200 400 600 800100012001400160018002000

charge_dis_2 1)
Nent = 1176
Mean = 8166

45| RMS = 2696

40

350

30K

25

20H

15K

10p

5]

ol FERE FAT FETE RTRY FUTE AUT1 AAT FUTE FAT

0 200 400 600 800100012001400160018002000

charge_dis_2_12]

Nent = 1176

35fF Mean = 197.6
RMS = 3404

30

25

10

ols .I.i.I...I...I...I...I...I...I...Iu.
0 200 400 600 800100012001400160018002000

charge_dis_2_12]

Nent = 1176

Mean = 109.2

RMS = 3168

0
0 200 400 600 800100012001400160018002000

charge_dis_2_12]

Nent = 1176

900f Mean = 9.308

RMS = 1662

800

700

600

500

400

300

200

100

foL. YU IS I PR P Y P PP BT e

0 200 400 600 800100012001400160018002000

charge_dis_2_12]

Nent = 1176

25 Mean = 257.3

RMS = 53.46

0
0 200 400 600 800100012001400160018002000

charge_dis_2_12]
Nent = 1176
Mean = 1651
700k RMS = 2217
600~
500
400
300
200
100
5] YWH FUT FTE FETH FETE FTE1 FETS PUT ROT AT

0 200 400 600 800100012001400160018002000

charge_dis_2_12]

Nent=1176

Mean = 2296

35k RMS = 325

30

25

oLrm IFR WETEE FETH T FTR1 FERL FATE AT T

0 200 400 600 800100012001400160018002000




e e 2T CTTTYTERT Y TEED ETITYTEED
et = 1176 Nent = 1176 Nent = 1175 Nent = 1176
sook Mean = 861 1200F Mean = 0 600F Mean = 21.73 Mean = 42.38
s = 1020 us = 0 Rus = 292 Rus = 387
200 350
1000 500
700+ 300k
L 400F
600 800 250
500
600} 300 200
400
150
300f 400 200
100+
200
200 100+
100} 50 ﬁ
N VP TR VU PP Y VO DV PR TP IO P Y I I FO PUY IY IO PO P IO | VT IO N PO IV PN PR T O P 1 T I PO Y Y T PR Y IO
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

e a2 T Srarge a2 13 e a2 T ErTETEET
Nent - 1176 Nent = 1176 Nent = 1176 Nent = 1176
vean = 1852 Wean = 773 ean = 3522 Mean = 7203
5ok 60[
0k s - 419 s - 2608 RS - 3931 s - 2378
35F
50H
25 40h 30k
20 25 ‘o
30H
20F [
15k 30
20 15
10k 201
10F
10H
sk 10
sf
o-J o .L...|...|...|...|...|...|...|...|... FLPTYT AV YT U Y P Y B P o .L...|...|...|...|...|...|...|...|...
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

EXTTETEED ErE ErrxeE 1) ErrTTE
et = 1176 Nent = 176 Nent = 176 Nent = 1176
ean = 165 1200F Vean = 0 oan = 4393 350F Vean = 389
e s = o RS = 2626 RS = 2758
6001 250 300F
1000f
500 |
200l 250
800
400 200k
00k 150
300+ 150
400f 100
200 100k
[ 50
100+ 200 50
olh ol b b b olbdte bbb P/ N T IO T PV VY VY L BT IS
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

harge BTy Erry TR ™ e ErTyTEEY
ent - 1176 Nent - 1176 Nent - 1176 Nent - 1176
] Mean = 215.1 Mean = 111.6 Mean = 311.7 Mean = 70.69
s = 5003 a0k rus = 208 aws = 3098 wus = 289
30F
s0H
ok 3sf
25
30F 400
15f 3 20F
30H
20F 15k
10f
15F 20H
10f
10H
gy 10
sE
5]
o ..L..|...|...|...|...|...|...|...|... A T T T A T I I TR ¥ T I T TP T TR I IR T

0
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000



EXrT T ErrTTET YR ErrT T
et = 1176 Nent = 1176 Nent = 1176 Nent = 1176
s00F vean = 2874 Mean = 126 Wean = 56.44 Vean = 4235
s = 2662 Rws = 1966 RUS = 2657 250k Rus = 31
700f
100}
400 600
200
8of-
500f
300
150
400f- s0H
200 300 100k
401
200
100 20 50
100
oh' P VTR Y P Y AT OO Y AT PO o'L'""'"'"""""""""""""' o
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

ErTTTEET T T ErTTEET ErTTEET
ent- 1176 ent 1176 et 1176 Nent- 1176
1200y Mean = 0.7755 Mean = 5463 Mean = 20.99 Mean = 0.8963
RMS = 5.069 120 - RMS = 2355 400_ RMS = 2463 RMS = 5.352
1000 350 1000
100f
300
goof- 800
8o 250
600} ook 00k 600}
150
400) ol 400
100
200 20 200
50
obn bbb b b L A TP PP I TP TP PO PRI Oﬂl A TP TP FETL O TR IO PO TR
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

ErTTERT e ErmeEr 1Y ETTYTERT
Nent = 1176 Nent= 1176 Nent = 1176 Nent = 1176
Mean = 21.32 Mean = 3561 Mean = 85.97 sooF Mean = 24.96
RS = 2441 RMS = 10.49 35k RMS = 3464 RMS = 27.28
600} 1000
30 500~
500 800k
2511 4001
400
6001 20l
300
300~
15K
400
200k 200
10
200
- 100
100 5
on P T IY FI FUP I BN PN PO PO PP 0 Lj. OL
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

harge_ ErTrETEEn 1 ErryrrEn M ErEy M) ErTTETEEn
ent = 1176 Nent= 1176 Nent= 1176 Nent= 1176
vean = 1105 45E Wean = 9109 Mean = 3053 900 Mean = 8.457
v - 5921 Rws = 2769 400 RuS = 2638 Aws - 155
40} 800
1000
350
35H 700f
300f
800 s0H 600k
250
25H 500
600
200f
20 400
150
400 154 300
10H 100F 2001
200f
sH 50 100
P PO Y P T L FOY Y IO P IS o .L..|...|...|...|...|...|...|...|... 0&& P Y VY Y PO Y Y Y Y B e

0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000



ErT T e ErrTE R ErTEEET
ent = 1176 enc= 1176 ent= 1176 Nent = 1176
vean = 1272 o = 5501 1200F o = 0000850 vean = a24

a0k - Avs = 1550 A =00201s Avs = 2919

800
3sf 1000 250
700
3of
600F 800 200
25
500
150
600

2 400

15¢ 300F 400 100F

10f 200F

200 sok
5[l 100f
A R PRV PR PO PO BP0 PP O IO VTV PO PR PO PO OO PP PO PP A PN T PR PO PY PPN PP PP o
0200 400 600 800100012001400160018002000 0200 400 600 80010001200L400160018002000 0 200 400 600 80010001200L400160018002000 0 200 400 600 800100012001400160018002000

X IEED ErTY D CTTIXTERD EITTXTRED
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
vean = 9067 Vean = 7157 Mean = 44.49 Mean = 5420
sk M = 2123 60 Ris = 238 180F Rms = 2383 120 RMS = 2488
160F
501 100f
40 140
40H 120F 80
30
100f
30H soh
80F
20
20 60| 40
40)
10| 1ol 20
20|
o .L...I...I...I...I...I...I...I...In. P YL Y IFPURY I AP Y Y N PO IO P 0 C.LI...I...I...I...In.I...I...I...Im
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

charge_dis_2_15) charge_dis_2_15] charge_dis_2_15[40 charge_dis_2_15[1

ent - 1176 Nent = 1175 Nent = 1175 Nent = 1176
vean = .40 ean = 656 ean = 1585 ean = 20.43
[ o0 A = 1458 700} R = 21 450 RS = 2066
50 B
400
800 600}
40H 700} 350
500
600l 300
30 400 L
500 250
4001 300f 200
20H
300 150
200
101 2001 100
100+
100+ sok
1 1 FTPTEVUT IR PP YUY BYRY FIPE TP IO P NETITIVIY VY PRIYIIT PUOL PN PP PV B VTR IVEY FRRY PR PUL RO PN PP IO od&'
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160G18002000 0 200 400 600 800100012001400160G18002000 0 200 400 600 800100012001400160018002000

ErrTEn ErryTs e ) Err
ent = 1176 Nent= 1476 Nent= 1176 Nent = 1376
ean = 1084 ean = 1231 ean = 193 Wean = 56
45 RMS = 28.36 40 RMS = 33.98 RMS = 2358 RMS = 24.09
100
40F sk 600
3sF
30F 500( 80
30F
25F
4001
25F 60k
20F|
20F] 300[
15F] 40H
15H
200f
10K
10H
20
100f
sH
OEL_.I oJ oll G.LI...I...I...I...In.I...I...I...Im

0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000



25

o2

charge_dis_3_0.|
Nent = 1176
Mean = 894.3

RMS = 48.48

200 400 600 800100012001400160018002000

o2

charge_dis 3.0,
Nent = 1176
Mean = 8348

RMS = 5536

200 400 600 800100012001400160018002000

25

o2

charge_dis_3_0 |
Nent = 1176
Mean = 7242

RMS = 50.89

200 400 600 800100012001400160018002000

351

30

20

151

charge_dis_3_0 ]
Nent = 1176
Mean = 504.1

RMS = 362

[\\YETH FET1 TH WY FETI TR NI FETH FAT AT

0 200 400 600 800100012001400160018002000

20

18]

16|

14

12

10

Charge_dis_3_0.

Nent = 1176

Mean = 1217

RMS = 7201

0
0 200 400 600 800100012001400160018002000

30|

25

20

15)

10

0

Charge_dis 3.0,

Nent = 1176

Mean = 766

RMS = 39.42

0 200 400 600 800100012001400160018002000

40

35

30|

25

20

15

10|

0

charge_dis_3_0_|

Nent = 1176

Mean = 4646

RMS = 35.08

0 200 400 600 800100012001400160018002000

Charge_dis_3_0]

Nent = 1176

Mean = 7903

RMS = 5831

0
0 200 400 600 800100012001400160018002000

charge_dis_3.0.

Nent = 1176

351 Mean = 554.4

RMS = 36.88

200 400 600 800100012001400160018002000

charge_dis_3.0.

Nent = 1176

5| Mean = 8108

RMS = 5074

o<

200 400 600 800100012001400160018002000

charge_dis_3_0 ]

Nent = 1176

Mean = 559.9

RMS = 37.27

200 400 600 800100012001400160018002000

charge_dis_3.0 ]

Nent = 1176

30F Mean = 534.4
RMS = 39.12

251

20

15

10

5

bl Mo B L b b b b b

0 200 400 600 800100012001400160018002000

Charge_dis_3_0 ]
Nent = 1176
Mean = 534.1

35F RMS = 3149

30

251

20

15

10

sk

AT T | PR [ Y P P T e

0
0 200 400 600 800100012001400160018002000

charge_dis 3.0,

Nent = 1176

30F Mean = 8956

RMS = 43.99

o2

200 400 600 800100012001400160018002000

charge_dis_3_0]

Nent = 1176

Mean = 536.2

35k RMS = 3857

0
0 200 400 600 800100012001400160018002000

Charge_dis_3_0.

Nent=1176

35F Mean = 6617

RMS = 38.05

20

15

10

[oLFET1 FEREETY | P | T TR FURE FATE AT N

0 200 400 600 800100012001400160018002000




40|

35

30)

25

20

15

10|

charge_dis_3_1.

Nent = 1176

Mean = 487.6

RMS = 2736

il ..L...I...I...I...I...I...I...

200 400 600 800100012001400160018002000

charge_dis 3. 1.

Nent = 1176
Mean = 883.1
30 RMS = 4194
251
20
15F
10
sk
0 FETE FET1 RTRL A
0 200 400 600 800100012001400160018002000

charge_dis_3_1 |

Nent = 1176
Mean =08452
1000 RS = 2202
800
600
400
200
oL FETH FY FEUY FUTE FETE FERE RTRL PETE FRTH PP
0 200 400 600 800100012001400160018002000

charge_dis_3 1.

Nent = 1176

Mean = 7396

RMS = 48.72

0
0 200 400 600 800100012001400160018002000

Charge_dis_3_1.

Nent = 1176

o2

Mean = 8224

RMS = 4285

200 400 600 800100012001400160018002000

Charge_dis 3.1,

Nent = 1176
Mean = 887.6
RMS = 4171
251
20
15
10
5
0 ATINTT T PN PP I
0 200 400 600 800100012001400160018002000

charge_dis_3_1 |

Nent = 1176

20F Mean = 511.6
RMS = 3075

351

30

25

20

15

10

s5F

|||||||l||ll||||||||||||||||||||||||||

200 400 600 800100012001400160018002000

Charge_dis_3_1 ]

Nent = 1176

0
0

Mean = 689.2

RMS = 3925

200 400 600 800100012001400160018002000

charge_dis_3 1.

Nent = 1176

800~

700

600

500

300

100~

Mean = 1513

RMS = 22.03

0
0

200 400 600 800100012001400160018002000

Charge_dis_3 1.

Nent = 1176

Mean = 645.1

RMS = 3219

200 400 600 800100012001400160018002000

charge_dis_3_1 |

Nent = 1176

160

120

100H

60

40H

Mean = 55.42

RMS = 9.491

0
0

200 400 600 800100012001400160018002000

charge_dis_3 1 ]

Nent = 1176

351

25

20

10

0
0

Mean = 7302

RMS = 34.95

200 400 600 800100012001400160018002000

o2

charge_dis_3_1.

Nent = 1176

Mean = 994.3

RMS = 5651

200 400 600 800100012001400160018002000

Charge_dis 3.1
Nent =1176
Mean = 591.7

a0F RMS = 308

351

30

25

20

151

10

sk

0 AATE TR N PAF WU FTT1 PP FATE PATI RAT1 AT

0 200 400 600 800100012001400160018002000

charge_dis_3_1 ]

Nent = 1176
Mean = 7073
RMS = 3653

30

251

20

15

10

sk

obbinslons b Bn bl b biaala

0 200 400 600 800100012001400160018002000

1000

800

600

400

200

Ccharge_dis_3_1.

Nent=1176

Mean = 0,631

RMS = 2304

0

0 200 400 600 800100012001400160018002000



charge_dis_3_2.

Nent = 1176

25

20

15

10|

Mean = 604.4

RMS = 55

200 400 600 800100012001400160018002000

charge_dis_3.2.

Nent = 1176

Mean = 7246

RMs = 492

N

A —

0 200 400 600 800100012001400160018002000

charge_dis_3_2 |
Nent = 1176
Mean = 4545
251 RS = 4543
20
15
10
5k
obu Ll B bbbl bl
0 200 400 600 800100012001400160018002000

charge_dis_3_2.

Nent = 1176

30|

25

20)

15

10|

F Mean = 4928

RMS = 4265

0

0 200 400 600 800100012001400160018002000

30

25

20

15

10

Charge_dis_3_2.

Nent = 1176

Mean = 639.4

RMS = 455

0
0 200 400 600 800100012001400160018002000

160

140

120

100

80|

60

40|

20

0

Charge_dis_3.2.

Nent = 1176

Mean = 5492

RMS = 1914

0 200 400 600 800100012001400160018002000

40|

35)

30

25

20

15

10

0

charge_dis_3_2 |

Nent = 1176

F Mean = 402.1

RMS = 3499

0 200 400 600 800100012001400160018002000

700

600

500

400

300

200

100

0

Charge_dis_3.2 ]

Nent = 1176

Mean = 18.33

RMS = 2538

0 200 400 600 800100012001400160018002000

charge_dis_3_2.

Nent = 1176
Mean = 494.6
RMS = 36.82
30
251
20
15
1o
5
0 PP R | P 1 PP P T T T
0 200 400 600 800100012001400160018002000

30)

Charge_dis_3.2.

Nent = 1176

Mean = 706.1

RMS = 46.75

200 400 600 800100012001400160018002000

charge_dis_3_2 |

Nent = 1176
Mean = 388.7
RMS = 3476
351
30
251
20
151
10
s
ol L .I.LII...I...I...I...I...I...Iu.
0 200 400 600 800100012001400160018002000

charge_dis_3.2 |

Nent = 1176

45]

40

35

30)

25|

20

15]

10}

0)

Mean = 345.4

RMS = 2718

|Lll'|||||||||||||||||||||||||||

0 200 400 600 800100012001400160018002000

Ccharge_dis_3_2.

Nent = 1176

40F

30

20

15

Mean = 463.2

RMS = 3107

s ..ll...I...I...I...I...I...I...

200 400 600 800100012001400160018002000

charge_dis_ 32

Nent =1176
Mean = 7122
RMS = 44.18
251
20
15
10
5
0 sl el l||||||||||||||||||||||
0 200 400 600 800100012001400160018002000

charge_dis_3_2 ]

Nent = 1176
S0F Mean = 274.8
RMS = 2502
40
301
20
10
ol ..LI...I...I...I... MW FRTH PP P
0 200 400 600 800100012001400160018002000

charge_dis_3_2.

Nent=1176

40F

351

251

15

sk

Mean = 319.7

RMS = 30.06

||||A

0

0 200 400 600 800100012001400160018002000




25

20)

15)

10|

charge_dis_3_3.

Nent = 1176

Mean = 6115

RMS = 4551

0
0 200 400 600 800100012001400160018002000

charge_dis 3.3,

Nent = 1176

BlY Mean = 478.4
RMS = 2425

40

30

201

10

0 |||||||J|| |FETH FRTE FTE1 STT1 FETH PP I

0 200 400 600 800100012001400160018002000

charge_dis_3_3 |

Nent = 1176

25

20]

15

10

Mean = 4212

RMs = 38.12

0 200 400 600 800100012001400160018002000

charge_dis_3_3.

Nent = 1176

35)

30

25

20

15)

10|

Mean = 4108

RMS = 3332

0

0 200 400 600 800100012001400160018002000

o2

Charge_dis_3_3.

Nent = 1176

Mean = 581.1

RMS = 4495

200 400 600 800100012001400160018002000

Charge_dis 3.3,

Nent = 1176

Mean = 7716

RMS = 5413

200 400 600 800100012001400160018002000

charge_dis_3_3 |

Nent = 1176
Mean = 4104
RMS = 3925
30
251
20
151
10
.
oLl Bl B bl bbbl
0 200 400 600 800100012001400160018002000

35)

30|

25

20

15)

10|

0

Charge_dis_3.3 |

Nent = 1176

Mean = 412.4

RMS = 3107

0 200 400 600 800100012001400160018002000

charge_dis_3.3.

Nent = 1176

351

30

20

o o

Mean = 468.7

RMS = 2976

200 400 600 800100012001400160018002000

Charge_dis_3.3.

Nent = 1176

Mean = 6266

RMS = 328

0
0 200 400 600 800100012001400160018002000

harge_dis_3_3_10

charge_dis_3_3 |

Nent = 1176
Mean = 4169
RMS = 3128

351

30

251

20

151

10

s

RLITTIEY A PPN TR P P P ree e

0 200 400 600 800100012001400160018002000

charge_dis_3.3 |

Nent = 1176

40

30

20

0)

Mean = 3519

RMS = 2975

0 200 400 600 800100012001400160018002000

charge_dis_3_3.

Nent = 1176

35

251

15

Mean = 4715

RMS = 2617

200 400 600 800100012001400160018002000

charge_dis 3.3,

Nent = 1176

40

Mean = 5714

RMS = 3128

200 400 600 800100012001400160018002000

charge_dis_3_3 |

Nent = 1176

Mean = 498.1

RMS = 5371

200 400 600 800100012001400160018002000

charge_dis_3_3.

Nent=1176

351

0
0

Mean = 397.2

RMS = 3264

200 400 600 800100012001400160018002000



charge_dis_3.4,

Nent = 1176
Mean = 326
RMS = 3366
30
251
201
15F
10
[
G"'I A [T P O e N I e
0 200 400 600 800100012001400160018002000

35)

30)

charge_dis 3.4,
Nent = 1176
Mean = 509.1

RMS = 37.7

200 400 600 800100012001400160018002000

35

charge_dis_3_4 |
Nent = 1176
Mean = 442.1

RMS = 4496

200 400 600 800100012001400160018002000

30|

25

20)

15

10|

0

ot

charge_dis_3_4 |
Nent = 1176
Mean = 581.9

RMS = 5493

0 200 400 600 800100012001400160018002000

35

30|

25

20

15

10

Charge_dis_3_4.]
Nent = 1176
Mean = 415.1

RMS = 28.82

...I.JI. M PP S T P P T

0

0 200 400 600 800100012001400160018002000

30

Charge_dis 3.4,
Nent = 1176
Mean = 7345

RMS = 44.64

0
0 200 400 600 800100012001400160018002000

35

30

25

20

15)

10|

0

el

charge_dis_3_4 |
Nent = 1176
Mean = 487.9

RMS = 3463

0 200 400 600 800100012001400160018002000

Charge_dis_3_4]
Nent = 1176
Mean = 6036

RMS = 4212

0
0 200 400 600 800100012001400160018002000

25|

0
0

charge_dis_3. 4.

Nent = 1176

Mean = 2625

RMS = 3365

200 400 600 800100012001400160018002000

Charge_dis_3.4.

Nent = 1176

Mean = 5484

RMS = 57.32

200 400 600 800100012001400160018002000

charge_dis_3_4 |

Nent = 1176

35

Mean = 3534

RMS = 383

200 400 600 800100012001400160018002000

charge_dis_3.4 |

Nent = 1176

35

30)

25]

20)

15

10}

Mean = 4088

I RMS = 3412

0)

0 200 400 600 800100012001400160018002000

o2

charge_dis_3_4 ]
Nent = 1176
Mean = 500.3

RMS = 5595

200 400 600 800100012001400160018002000

35

30

20

15

10

charge_dis 3 4.
Nent = 1176
Mean = 3858

RMS = 2593

200 400 600 800100012001400160018002000

30F

charge_dis_3_4 ]
Nent = 1176
Mean = 458.4

RMS = 44.28

200 400 600 800100012001400160018002000

Ccharge_dis_3_4 |
Nent=1176
Mean = 550.8

RMS = 3751

0
0 200 400 600 800100012001400160018002000




charge_dis_3.5 | charge_dis_3_5 ] charge_dis 3.5} Charge_dis_3_5 ]
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
Mean = 599.4 Mean = 457.3 Mean = 3339 Mean = 5673
30k RS = 39.32 35F RMS = 3355 30 RMS = 4215 25 RMS = 4521
251 251
201
20 20
151
15 15F
10
10F 10F
51
5F 51
c.nlu.l].l..|.n|n.|n.|.n|.n|n. 0 0 ‘ G...I...I..I
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

Charge_dis 3.5, Charge_dis 3.5 Charge_dis 3.5, Charge_dis 3.5,
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
1200F Mean = 0 40F Mean = 4153 Mean = 2676 Mean = 499.1
RMS = -0 RMS = 30.09 RMS = 2536 35F RMS = 33.02
45
351
1000 40 30
30 asf
25
800
25k 30k
20
600 20F 25
20F 15
15
400 15F i
10
10
200
- sk
5 LU J
obwbinbi bbb bbbl ol l vl GnJu L bbb b beaa bena b [RYTRERTE| FFH 'R EEEL NERY FURY PRTY FRTINTT
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

e a5 ] o5 ] e a5 ] g5 ]
ent = 1176 Nent = 1176 Nent = 1176 Nent= 1176
35F Mean = 5325 Mean = 486.9 Mean = 322.8 Mean = 6005
RMS = 384 351 RMS = 36.82 RMS = 37.63 35 RMS = 3541
30 2ok ok
30F
25} 25k 25
25F
20F
201 L
20 20F
L 15k
15 151 15k
10 10F 10 10fF
5p 5 5 sk
0 A o |l...|..|...|...|...|...|...|... ol b B b b C...|...|J.|.|.|...|......|...|...|...
0 200 400 600 8001000120014001600L8002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000
harge_ BT s ] T
ent = 1176 Nent= 1176 Nent= 1176 Nent= 1176
Mean = 314.7 45F Mean = 3563 60F Mean = 1766 Mean = 3827
4o RMS = 28.25 RMS = 26.64 RMS = 245 RMS = 3218
351
a0F
35F sok
sk 30F
30F
30F I P
25F
25E
S 20F
20k 30|
20F
15f
15F
15F 20k
P 10F
10 10k
10f
sk sk 5F
c...I‘.. el binbibv i bindg bl .Il..l...|...|...|...|...|...|... PP Y P TR Y YL Y P Y B P G...IJ.I N A N A

0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000



harge @35 ] ETTYTETE harge a3 5 ] ETTIXTETE
Nent = 1176 Nent = 1176 Nent =117 Nent = 1176
Vean = 4479 35F Vean = 4243 35F Wean = 5368 Vean = 1668
s vis = 207 RMs = 3027 RMS = 4121 700k RS = 2254
30)
30k 6001
25
P 500
20|
20F 400
15F 3 300k
10F 10 200}
sk 5 100
ol l o 0 o PP Y A PP Y Y L PP IPOY P
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

Charge_dis_3.6. Charge_dis 3.6,

charge_dis 3.6, harge_dis_3 6.5 Charge_dis 3.6,

ent = 1176 Nent= 1176 Nent= 1176 Nent= 1176
vean = 6016 Mean = 555.4 3 Mean = 783 1200F Vean = 0
ws = 4360 Rws = 3614 Rus = oase RMs = 0
251
1000
20f
800f
15
600}
10
400
S 200f
NI AR T e o o B PPEY P Y P POY I IO PR Y IO
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

harge_as3.6 ] Tharge s 5.6 ] harge 3.5 ] Tharge_s 3.5 ]
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
Vean = 4693 Vean = 2869 Wean = 393.1 30F Vean = 6075
35 RMS = 38.87 40F RMS = 3238 30 RMS = 4155 RMS = 43.05
30 351 251
L 30F
25 2ok
25F
20F
15
20F
15
15F 1ok
10k
10F
sF g
sk
0 obrl B b b b bl 0 TR AT TPV A A T
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

g @36 ] arge s 35 ] harge a3 5 ] Tharge e 35 ]
Nent = 1176 Nent = 1176 Nent = 176 Nent = 1176
vean = 4057 Vean = 3635 Mean = 477 Mean = 3304
3sr Rvis = 3459 RMs = 2896 450 RMs = 2258 RMs = 3174
40F 35k
20k 400f
35F
350 3o
25k 20k
300 25
20 25 |
250) 2E
15F 2F 200}
15F
15F 150}
10F 1ok
10F 100k
sk L
J h 5F 50 5
AATIN AT NI TS Y YO PP PO AL 1. I PR P T PO P PP I woben bbbl bbbl
0 0

0 0
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000




e a3 ] g3 7] o3 ] g a7 ]
et = 1176 Nent = 1176 Nent = 1176 Nent = 1176
30F vean = 6152 Wean = 3624 Wean = 5263 Vean = 401
RMS = 44.94 40 RMS = 29.98 30 RMS = 3823 RMS = 30.95
35
35k
251 ok
30F
20 25F
25k
20F
20F 15
15F
15F
10f
10k 10F
sk
sp sk
| .L i ...I.I'.I.LI...I...I...I...I...I...I...

o2

200 400 600 800100012001400160018002000 200 400 600 800100012001400160018002000 200 400 600 800100012001400160018002000 200 400 600 800100012001400160018002000

g T T e g T
ent = 1176 Nent= 1176 Nent= 1176 Nent= 1176
vean = 4518 Vean = 358 Mean = 4843 1200F Vean = 0
450F RMS = 287 RMS = 3586 RMS = 2623 RMS = 0
ok 45F
400F a0F 1000
| 25k
350 sk
800
300} 2E 30F
250 P
2 600|-
151
200} 20F
150k 1ok 156 400
100} 10k
Sy 200
) d sk
P P Y P T PO FPY Y BN P IS PPN Y T Y Y R Y Y Y o"""'J"""'"""""""""""' P PN I PN PO Y VY PN Y B e
0 200 400 600 8001000120014001600L8002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

ETXTER EIT TR e ] ETT TR
et - 1176 Nent = 1176 Nent = 1176 Nent = 1176
vean = 300 Wean = 2148 Mean = 2053 Vean = 3444
10F RMS = 2979 4sF RMS = 272 20F RMS = 2612 10F RMS = 3176
40F
35f 35f
35F
30F 30F
30fF
25F 25F
25F
20F 20F
20F
15F 15F
15F
10F 1ok 10F
sk sb sk
FAIY N1 T P PRIV IV PP O C.JI. TP P TP PP PP O PP P T, T TUUT IV VU0 PO O I I IV o
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

e g ] ETTTYTERE g an ] YRS
Nent = 1176 Nent = 1176 Nent= 1176 Nent = 1176
a5 vean = 422 Mean = 2202 Mean = 3973 Vean = 3112
s = 3533 35k Rws = 5252 RS = 2093 Rws = an64
a0F
30fF
30 3s5f
25F E
5k 30
20F 25
20F
20F
15| 15k
15F
10F 10k
10F
sk o
5 £
AP 10 PR PP YUY RPRL POPE FPL IO o 10 T TR P I PP PP TR P AN A W I T AT

0 0
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000




charge_dis_3_6.

Nent = 1176

Mean = 738.8

25

RMS = 4639

o2

200 400 600 800100012001400160018002000

charge_dis 3.8,
Nent = 1176
Mean = 204.2

30f RMS = 35.77

251

20

15

10

sk

11 |||u|||||||||||||||||||I|||I|||I|||

0
0 200 400 600 800100012001400160018002000

charge_dis_3_6 |

Nent = 1176

Mean = 776.4

RMS = 49.84

0 200 400 600 800100012001400160018002000

charge_dis_3.6.

Nent = 1176

s0fF Mean = 3303
RMS = 24.76

40

30

20

10

|||IJ::L:|||||I|||I|||I|||I|||I|||I|||

0
0 200 400 600 800100012001400160018002000

Charge_dis_3_6.

Nent = 1176
Mean = 408
RMS = 46.14

30

25

20

15

10

5k

G"'I' MY 1/ T T T P P

0 200 400 600 800100012001400160018002000

Charge_dis 3.8,

Nent = 1176

Mean = 5124

RMS = 40.76

0
0 200 400 600 800100012001400160018002000

charge_dis_3_8 |

Nent = 1176

Mean = 501.8

RMS = 55.48

25

0
0 200 400 600 800100012001400160018002000

Charge_dis_3_8 ]

Nent = 1176

Mean = 3926

35

RMS = 4036

30

251

20

151

10

ol L L bbb b bl

0 200 400 600 800100012001400160018002000

charge_dis_3.6.

Nent = 1176

SO0F Mean = 100.9
RMS = 2828

40

301

20H

10H

0 ..h...|...|...I...I...I...I...I...I...

0 200 400 600 800100012001400160018002000

Charge_dis_3.6.

Nent = 1176

Mean = 5389

RMS = 5081

0
0 200 400 600 800100012001400160018002000

charge_dis_3_6 |

Nent = 1176

35fF Mean = 169.3
RMS = 35.21

30

25

10

0 200 400 600 800100012001400160018002000

charge_dis_3.6 |

Nent = 1176
Mean = 6918

30 RMS = 449

251

201

15

10

5

O"'I"'I" 11y

0 200 400 600 800100012001400160018002000

Charge_dis_3_6 ]
Nent = 1176
Mean = 535.3

30 RMS = 4324

251

20

15

10

sk

0
0 200 400 600 800100012001400160018002000

charge_dis 3.8,

Nent =1176
Mean = 139.1
RMS = 28.41

351

30

251

20

15

10

5|

0 Juhu|||||||n||||||||||||||||||||I|||

0 200 400 600 800100012001400160018002000

charge_dis_3_8 ]

Nent = 1176

30F Vean = 478
RMs = 4248

251

20

15

10

5

QPP IV Y Y I PO T P

0 200 400 600 800100012001400160018002000

charge_dis 3.6,

Nent=1176

Mean = 199.7

35k RMS = 39

30

25

[

0 julu M ETTE PETH FET FTE1 FETY FOT PR AT
0 200 400 600 800100012001400160018002000




charge_dis_3_9 | Charge_dis_3_9_] charge_dis 3.9} Charge_dis_3_9 ]
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
so0fF Mean = 87.86 Mean = 3215 Mean = 275.6 Mean = 151
RMS = 26.03 30 RMS = 4054 RMS = 4165 50F RMS = 2538
25
40|
40
20
30H a0k
151
20 20
10F
10H sk 10
o |l|l||||||||||||||||||||||||||||||||||| 0 olu ||ll|||||||||||||||||||||||||||||| olubs PN T PR P T PO P e e
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

e E e CrTT ST
et = 1178 Nent= 1176 Nem= 1176 Nent = 1178
ean = 163 Mean = 544 Mean = 5457 Mean = 1027
s = 2221 Rus = 2276 RS = 2255 rs = 2052
700 120 50| sof
600}
100 40 a0k
500
8o
400 3 30f
60
300
20H 20
404
200
10H 10H
100 20
olk ol b b o .Ln.d..d..d..d..d..d..d..d... A/ T T T PR IR IO AT PP P
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800 100012001400160018002000 0 200 400 600 80010001200140L60018002000

HEEE!E!!EEI“ ETTTEE T ErT T ETTYTEEY
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
49 Mean = 102.6 Mean = 311.3 Mean = 192.7 Mean = 224
RMS = 28.25 RMS = 47.63 40 RMS = 3139 351 RMS = 29.97
40f
35F ok
35F
30fF
30F 25F
25F
25F 20F
20F
20F
1sf
15F
15H
10F
10H 10F
l I I
o T P T T T P P o X 11 AN N N T P PIY TN YT T PY DY DY L Y IS
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

e g ] FTTTYTERE rge ae ] FTTYTERE
Nent = 1176 Nent = 1176 Nent= 1176 Nent = 1176
1200F vean = 0 Mean = 46.24 Mean = 1203 Mean = 5304
s = 0 180fF Rws = 2286 S0 RUS = 2524 6 Avs - 1805
1000f 160p
40 50
140F
800
120F "l 20H
100F
600
30H]
sof
20f
400 60 20H
40
10F
200+ 10H
20
N PR T ETET PP PIPY IYUY RPRL POTA FPL IO B % T VST PP P VY PRI PR PO IO P 1 P TIPRT IO FOOY PRRT PP IO PETT PP I

0
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000



charge_dis_3_10)
Nent = 1176
Mean = 1015

sok RMS = 26.41

401

30|

201

10H

o1 FY. Y YA I PO S I P e

0 200 400 600 800100012001400160018002000

Charge_dis_3_10)

Nent = 1176

Mean = 46.53

220F RMS = 26.06

200F
180F
160F
140F
120F
100F
8o
60fy
40

20|
M T RTRI FETE PRI TR FERA RATY FRTA NTTY

200 400 600 800100012001400160018002000

0
0

charge_dis_3_10)

Nent = 1176
Mean = 2005
RMS = 348

30

251

20

15

10

sk

M A (N T TS TS FTR ETE RUTE FETE AT

0
0 200 400 600 800100012001400160018002000

charge_dis_3_10)

Nent = 1176

Mean = 462

RMS = 2553

120

100

80

60H

40]

20]

0
0 200 400 600 800100012001400160018002000

charge_dis_3_10)
Nent = 1176
Mean = 859.7

30 RMS = 4713

251

20

15

10

5

0
0 200 400 600 800100012001400160018002000

Charge_dis_3_10)

Nent = 1176

Mean = 4426

RMS = 3411

0
0 200 400 600 800100012001400160018002000

charge_dis_3_10)

Nent = 1176

35 Mean = 6345
RMS = 36.69

30

25

10

o TR FERTET [FN | TEWE R FrrS Feve pew e

0 200 400 600 800100012001400160018002000

Charge_dis_3_10]

Nent = 1176

Mean = 717

RMS = 46.68

0
0 200 400 600 800100012001400160018002000

charge_dis_3_10)

Nent = 1176

o2

Mean = 818.1

RMS = 46

200 400 600 800100012001400160018002000

charge_dis_3_10)

Nent = 1176
160F Mean = 53.43
RMS = 2713
140F
120F
100
80
60
40
20)
ol [P FETE FETY FET1 FERY AT AUTU ATRY AT
0 200 400 600 800100012001400160018002000

charge_dis_3_10)

Nent = 1176

221

Mean = 1043

RMS = 5827

200 400 600 800100012001400160018002000

charge_dis_3_10)

Nent = 1176

35[1

30H]

250

20

15K

10[

Mean = 84.14

RMS = 27.68

0
0

200 400 600 800100012001400160018002000

charge_dis_3_10]

Nent = 1176

Mean = 8457

RMS = 47.3

0
0 200 400 600 800100012001400160018002000

charge_dis_3_10)

Nent = 1176

35F Mean = 1617

RMS = 3517

30

25

20

15

foLr 1L WU T FETH FET1 FTR FERL FATE AT N

0 200 400 600 800100012001400160018002000

charge_dis_3_10)

Nent = 1176

Mean = 8095

RMS = 38.96

25

201

10

.

0 200 400 600 800100012001400160018002000

charge_dis_3_10]

Nent = 1176

1200F Mean = 0
Aws = 0

1000

800f

600

400

200}

oln bbb bl il il

0 200 400 600 800100012001400160018002000



charge_dis_3_11]

Nent = 1176
Mean = 641.2
RMS = 3283
30
25
20
15
1or
5
o MLM

0 200 400 600 800100012001400160018002000

Charge_dis_3_11]

harge_dis_3_11_4

Nent = 1176
Mean = 3711
RMS = 329

35

30

25

20 J

151

10F

sF

||||j||kl|||||||||||||||||||||||||||||

0
0 200 400 600 800100012001400160018002000

Nent = 1176

30F Mean = 683.8
RMS = 4435

charge_dis_3_11]

o2

200 400 600 800100012001400160018002000

ErTTrTERY
ent = 1178
vean = 3278
s = 2022

50

40k

30k

20+

10k

o ...J..i...|...|...|...|...|...|...|...

0 200 400 600 800100012001400160018002000

Charge_dis_3_11]

Nent = 1176
Mean = 185.7
RMS = 28.44

40

351

30

25

20

151

10

5_I‘

| illllllllll||||||||||||||||||||||||

200 400 600 800100012001400160018002000

Charge_dis_3_11]

Nent = 1176

Mean = 1802

45F RMS = 2588

40

35

||L||||||||||||||||||||||||||||||||||
200 400 600 800100012001400160018002000

charge_dis_3_11]

Nent = 1176

Mean = 256.2

RMS = 3488

200 400 600 800100012001400160018002000

charge_dis_3_11j43

sofF
Rus = 2002

40

30f

20f

10

o .J.lI...|...|...|...|...|...|...|...|...

0 200 400 600 800100012001400160018002000

charge_dis_3_11]

Nent = 1176

30|

Mean = 1795

RMS = 4711

200 400 600 800100012001400160018002000

charge_dis_3 1]
Nent = 1176
50| Mean = 227.1
RMS = 2607
40
30
20
10F
0 |IJ|| bbb b b byas biaaley
0 200 400 600 800100012001400160018002000

charge_dis_3_11]

Nent = 1176
Mean = 2212
RMS = 4034

30

251

20

15F

10

5

L1 TIETE FITY FTES FTT e FEve Feee e

0 200 400 600 800100012001400160018002000

charge_dis_3_11]

Nent = 1176
Mean = 215

700 RMS = 3302

600~

500

400

300

200

100

ow

0 200 400 600 800100012001400160018002000

charge_dis_3_11]

Nent = 1176
351 Mean = 4945
RMS = 39.63
30
251
20
15
10
sk
ol [
0 200 400 600 800100012001400160018002000

Charge_dis_3_11]
Nent =1176
Mean = 1908

45F RMS = 2522

40

351

30

25F

20

15

10F

sF

ol [} P TS FETY FET FTEE FETY FUT P AT

0 200 400 600 800100012001400160018002000

charge_dis_3_11]

Nent = 1176
35F Mean = 7033
RMS = 4186
30
25
20
15
10
sk
L FETI FERIRTE (ETn 11 NPE FET FEra A
0 200 400 600 800100012001400160018002000

charge_dis_3_11]

Nent = 1176
Mean = 2673
Rws = 2584

40F

35F

30F

25F

20F

15F

10F

sk

...j..tl...l...|...|...|...|...|...|...

0
0 200 400 600 800100012001400160018002000



charge_dis_3_12)

Nent = 1176

1200F Mean = 0
RMS = -0

1000~

800

600

400

200

o PP P I T PSPPI ST PP e e

0 200 400 600 800100012001400160018002000

charge_dis_3_12]

Nent = 1176

1200 Vean = 0
s = o0

1000f

800

600}

400

200

| PP Y Y IR PR Y Y P IR P

0 200 400 600 800100012001400160018002000

charge_dis_3_12)

Nent = 1176

1200 Vean = 0
Rus = o0

1000

800f

600

400f

200

o I FUFPY PP PR PP Y PO PN Y PO

0 200 400 600 800100012001400160018002000

charge_dis_3_12)
Nent = 1176

1200F Mean = 0
RMS = -0

1000~

800

600

400

200

c|||||||||||||||||||||||||||||||||||||||

0 200 400 600 800100012001400160018002000

Charge_dis_3_12]

Nent = 1176

1200F Mean = 0
RMS = -0

1000f

800

600~

400

200

0 P RTH FETE T PET PE UTH PUTE P e

0 200 400 600 800100012001400160018002000

Charge_dis_3_12]

Nent = 1176

1200 Mean =0
s = o

1000

800

600

400

200

o P IFPUPY A TP FY Y N P IO P

0 200 400 600 800100012001400160018002000

charge_dis_3_12]

Nent = 1176

1200F Mean = 0
RMS = -0

1000F

800

600~

400

200

obmbins b b bbb b bl

0 200 400 600 800100012001400160018002000

Charge_dis_3_12]

Nent = 1176

1200F Mean = 0
RMS = -0

1000f

800

600~

400

200

[SLFET1 NTRE FTTE FETH FET1 FTR1 FUTE FATE ATR NORY

0 200 400 600 800100012001400160018002000

charge_dis_3_12]

Nent = 1176

1200F Mean = 0
RMS = -0

1000

800

600

400

200

0 FETE PP PP P TP P P T P e

0 200 400 600 800100012001400160018002000

charge_dis_3_12]

Nent = 1176

1200 Mean =0
s = o

1000f

800~

600

400

200

| I Y Y I Y R Y Y IR O

0 200 400 600 800100012001400160018002000

charge_dis_3_12]

Nent = 1176

1200~ Mean =0
RMS = 0

1000

800

600~

400f

200

oL PR PR P TR Y P B P Y

0 200 400 600 800100012001400160018002000

charge_dis_3_12]

Nent = 1176

1200F Mean = 0
RMS = -0

1000

800

600

400

200

o FETE FUTE FATE FATY FERY FARY FATA FUTEATRA AT

0 200 400 600 800100012001400160018002000

charge_dis_3_12]

Nent = 1176

1200F Mean = 0
RMS = -0

1000

800

600

400

200

0 P T Y P P I T P P e

0 200 400 600 800100012001400160018002000

Ccharge_dis_3_12]

Nent =1176

1200F Mean = 0
RMS = -0

1000

800

600

400

200

0 FERE FTH1 FERE FETH IUT1 RPN FUTE PATE RAT1 NAT)

0 200 400 600 800100012001400160018002000

charge_dis_3_12]

Nent = 1176

1200F Mean = 0
RMS = -0

1000~

800

600

400

200

5| FETE FURT FTEL FETH FETE FTE1 FETE PUTE RT AT

0 200 400 600 800100012001400160018002000

charge_dis_3_12]

Nent = 1176

1200F Mean = 0
Aws = 0

1000

800f

600

400

200}

B PPEY F IOY PT PORY Y PO PR PP IO

0 200 400 600 800100012001400160018002000




charge_dis_3_13)

Nent = 1176

1200F Mean = 0
RMS = -0

1000~

800

600

400

200

o PP P I T PSPPI ST PP e e

0 200 400 600 800100012001400160018002000

Charge_dis_3_13)

Nent = 1176

1200 Vean = 0
s = o0

1000f

800

600}

400

200

| PP Y Y IR PR Y Y P IR P

0 200 400 600 800100012001400160018002000

charge_dis_3_13)

Nent = 1176

1200 Vean = 0
Rus = o0

1000

800f

600

400f

200

o I FUFPY PP PR PP Y PO PN Y PO

0 200 400 600 800100012001400160018002000

charge_dis_3_13]
Nent = 1176

1200F Mean = 0
RMS = -0

1000~

800

600

400

200

c|||||||||||||||||||||||||||||||||||||||

0 200 400 600 800100012001400160018002000

charge_dis_3_13]

Nent = 1176

1200F Mean = 0
RMS = -0

1000f

800

600~

400

200

0 P RTH FETE T PET PE UTH PUTE P e

0 200 400 600 800100012001400160018002000

Charge_dis_3_13)

Nent = 1176

1200 Mean =0
s = o

1000

800

600

400

200

o P IFPUPY A TP FY Y N P IO P

0 200 400 600 800100012001400160018002000

charge_dis_3_13]

Nent = 1176

1200F Mean = 0
RMS = -0

1000F

800

600~

400

200

obmbins b b bbb b bl

0 200 400 600 800100012001400160018002000

Charge_dis_3_13]

Nent = 1176

1200F Mean = 0
RMS = -0

1000f

800

600~

400

200

[SLFET1 NTRE FTTE FETH FET1 FTR1 FUTE FATE ATR NORY

0 200 400 600 800100012001400160018002000

charge_dis_3_13]

Nent = 1176

1200F Mean = 0
RMS = -0

1000

800

600

400

200

0 FETE PP PP P TP P P T P e

0 200 400 600 800100012001400160018002000

charge_dis_3_13)

Nent = 1176

1200 Mean =0
s = o

1000f

800~

600

400

200

| I Y Y I Y R Y Y IR O

0 200 400 600 800100012001400160018002000

charge_dis_3_13)

Nent = 1176

1200~ Mean =0
RMS = 0

1000

800

600~

400f

200

oL PR PR P TR Y P B P Y

0 200 400 600 800100012001400160018002000

charge_dis_3_13]

Nent = 1176

1200F Mean = 0
RMS = -0

1000

800

600

400

200

o FETE FUTE FATE FATY FERY FARY FATA FUTEATRA AT

0 200 400 600 800100012001400160018002000

charge_dis_3_13)

Nent = 1176

1200F Mean = 0
RMS = -0

1000

800

600

400

200

0 P T Y P P I T P P e

0 200 400 600 800100012001400160018002000

Charge_dis_3_13)

Nent =1176

1200F Mean = 0
RMS = -0

1000

800

600

400

200

0 FERE FTH1 FERE FETH IUT1 RPN FUTE PATE RAT1 NAT)

0 200 400 600 800100012001400160018002000

charge_dis_3_13)

Nent = 1176

1200F Mean = 0
RMS = -0

1000~

800

600

400

200

5| FETE FURT FTEL FETH FETE FTE1 FETE PUTE RT AT

0 200 400 600 800100012001400160018002000

Ccharge_dis_3_13)

Nent = 1176

1200F Mean = 0
Aws = 0

1000

800f

600

400

200}

B PPEY F IOY PT PORY Y PO PR PP IO

0 200 400 600 800100012001400160018002000




charge_dis_3_14)

Nent = 1176

1200F Mean = 0
RMS = -0

1000~

800

600

400

200

o PP P I T PSPPI ST PP e e

0 200 400 600 800100012001400160018002000

Charge_dis_3_14]

Nent = 1176

1200 Vean = 0
s = o0

1000f

800

600}

400

200

| PP Y Y IR PR Y Y P IR P

0 200 400 600 800100012001400160018002000

charge_dis_3_14)

Nent = 1176

1200 Vean = 0
Rus = o0

1000

800f

600

400f

200

o I FUFPY PP PR PP Y PO PN Y PO

0 200 400 600 800100012001400160018002000

charge_dis_3_14
Nent = 1176

1200F Mean = 0
RMS = -0

1000~

800

600

400

200

c|||||||||||||||||||||||||||||||||||||||

0 200 400 600 800100012001400160018002000

Charge_dis_3_14]

Nent = 1176

1200F Mean = 0
RMS = -0

1000f

800

600~

400

200

0 P RTH FETE T PET PE UTH PUTE P e

0 200 400 600 800100012001400160018002000

Charge_dis_3_14]

Nent = 1176

1200 Mean =0
s = o

1000

800

600

400

200

o P IFPUPY A TP FY Y N P IO P

0 200 400 600 800100012001400160018002000

charge_dis_3_14]

Nent = 1176

1200F Mean = 0
RMS = -0

1000F

800

600~

400

200

obmbins b b bbb b bl

0 200 400 600 800100012001400160018002000

Charge_dis_3_14]

Nent = 1176

1200F Mean = 0
RMS = -0

1000f

800

600~

400

200

[SLFET1 NTRE FTTE FETH FET1 FTR1 FUTE FATE ATR NORY

0 200 400 600 800100012001400160018002000

charge_dis_3_14]

Nent = 1176

1200F Mean = 0
RMS = -0

1000

800

600

400

200

0 FETE PP PP P TP P P T P e

0 200 400 600 800100012001400160018002000

charge_dis_3_14]

Nent = 1176

1200 Mean =0
s = o

1000f

800~

600

400

200

| I Y Y I Y R Y Y IR O

0 200 400 600 800100012001400160018002000

charge_dis_3_14)

Nent = 1176

1200~ Mean =0
RMS = 0

1000

800

600~

400f

200

oL PR PR P TR Y P B P Y

0 200 400 600 800100012001400160018002000

charge_dis_3_14)

Nent = 1176

1200F Mean = 0
RMS = -0

1000

800

600

400

200

o FETE FUTE FATE FATY FERY FARY FATA FUTEATRA AT

0 200 400 600 800100012001400160018002000

charge_dis_3_14)

Nent = 1176

1200F Mean = 0
RMS = -0

1000

800

600

400

200

0 P T Y P P I T P P e

0 200 400 600 800100012001400160018002000

Charge_dis_3_14]

Nent =1176

1200F Mean = 0
RMS = -0

1000

800

600

400

200

0 FERE FTH1 FERE FETH IUT1 RPN FUTE PATE RAT1 NAT)

0 200 400 600 800100012001400160018002000

charge_dis_3_14)

Nent = 1176

1200F Mean = 0
RMS = -0

1000~

800

600

400

200

5| FETE FURT FTEL FETH FETE FTE1 FETE PUTE RT AT

0 200 400 600 800100012001400160018002000

charge_dis_3_14]

Nent = 1176

1200F Mean = 0
Aws = 0

1000

800f

600

400

200}

B PPEY F IOY PT PORY Y PO PR PP IO

0 200 400 600 800100012001400160018002000



charge_dis_3_15) charge_dis_3_15) charge_dis_3_15) Charge_dis_3_15)
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
1200F Mean = 0 1200F Mean = 0 1200F Mean = 0 1200F Mean = 0
RMS = 0 RMS = -0 RMS = -0 RMS = -0
1000~ 1000f 1000 1000
800 800 800 800
600 600~ 600 600
400 400 400 400
200 200 200 200
G||||||||||||||||||||||||||||||||||||||| G...I...I...I...I...In.I...I...I...In. G||||||||||||||||||||||||||||||||||||||| G...I...I...I...I...In.I...I...I...In.
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

charge_dis_3_15) Charge_dis_3_15) charge_dis_3 1) Charge_dis_3_15)
Nent = 1176 Nent = 1176 Nent = 1176 Nent =1176
1200F Mean = 0 1200F Mean = 0 1200F Mean = 0 1200F Mean = 0
RMS = -0 RMS = -0 RMS = 0 RMS = -0
1000~ 1000f 1000 1000
800 800 800 800
600 600 600 600
400 400 400 400
200 200 200 200
c|||||||||||||||||||||||||||I|||I|||I||| C|||||||||||||||||||||||||||||||I|||I||| G"'I"'I"'I"'I"'I"'I"'I"'I"'I"' C|||||||||||||||||||||||||||||||I|||I|||
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

charge_dis_3_15) charge_dis_3_15] charge_dis_3_15[40 charge_dis_3_15[41
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
1200F Mean = 0 1200F Mean = 0 1200F Mean = 0 1200F Mean = 0
RMS = -0 RMS = -0 RMS = -0 RMS = -0
1000~ 1000F 1000 1000~
800 800 800 800
600 600~ 600 600
400 400 400 400
200 200 200 200
oL FETH FEY FEE1 FUTH FETE FER NTRL PETE FRTE PP obmbins b b bbb b bl obbin b b b bbb bina dess 5| FETE FURT FTEL FETH FETE FTE1 FETE PUTE RT AT
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

charge_dis_3_15g2 Charge_dis_3_15k3 Charge_dis_3_15[ga Charge_dis_3_155
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
1200F Mean = 0 1200F Mean = 0 1200F Mean = 0 1200F Mean = 0
RMS = -0 RMS = -0 RMS = -0 RMS = -0
1000 1000 1000~ 1000
800 800 800 800
600 600~ 600 600
400 400~ 400~ 400
200 200 200 200
c||||||||||||||||||||||||||||||||||||||| G||||||||||||||||||||||||||||||||||||||| O|||||||||||||||||||||||||||I|||I|||I||| G|||||||||||||n||||||||||||I|||I|||I|||
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000



charge_dis_4_0.

Nent = 1176

25

o2

Mean = 516.2

RMS = 5456

200 400 600 800100012001400160018002000

Charge_dis_4_0_]
Nent = 1176
Mean = 6156

RMS = 5006

30)

charge_dis 4.0,
Nent = 1176
Mean = 564.4

RMS = 4532

0
0 200 400 600 800100012001400160018002000

200 400 600 800100012001400160018002000

Charge_dis 4.0,
Nent = 1176
Mean = 4185

RMS = 39.82

251

o2

charge_dis_4_0 |
Nent = 1176
Mean = 7356

RMS = 5413

0
0 200 400 600 800100012001400160018002000

200 400 600 800100012001400160018002000

charge_dis_4_0_|
Nent = 1176
Mean = 684.7

RMS = 47.72

0
0 200 400 600 800100012001400160018002000

charge_dis_4_0 ]
Nent = 1176
Mean = 707

RMS = 4623

0
0 200 400 600 800100012001400160018002000

Charge_dis_4_0]
Nent = 1176
Mean = 762

RMS = 541

0
0 200 400 600 800100012001400160018002000

charge_dis_4_0]
Nent = 1176
Mean = 664.7

RMS = 57.67

0
0 200 400 600 800100012001400160018002000

charge_dis_4.0.
Nent = 1176
Mean = 4645

RMS = 5221

0
0 200 400 600 800100012001400160018002000

25]

charge_dis_4_0 ]
Nent = 1176
Mean = 7393

RMS = 5086

0)
0 200 400 600 800100012001400160018002000

charge_dis_4_0 ]
Nent = 1176
Mean = 513

RMS = 5183

0
0 200 400 600 800100012001400160018002000

charge_dis_4_0.

Nent = 1176

30

Mean = 439.6

RMS = 5001

200 400 600 800100012001400160018002000

charge_dis_4_0.

Nent = 1176

Mean = 587.4

RMS = 4417

200 400 600 800100012001400160018002000

charge_dis_4_0]

Nent = 1176
30F wean = 6593
s = 450
25
20
15
10f
sk
olnlinly |..h
0200 400 600 800100012001400160018002000

charge_dis_4_0.

Nent=1176

351

30

25

Mean = 5765

RMS = 38.78

0
0 200 400 600 800100012001400160018002000



charge_dis_4_1.

Nent = 1176

35

Mean = 576.2

RMS = 4478

200 400 600 800100012001400160018002000

charge._dis 4.1,
Nent = 1176
Mean = 538.1

RMS = 4755

0
0

200 400 600 800100012001400160018002000

charge_dis_a_1 |
Nent = 1176
Mean = 796.8

RMs = 6201

200 400 600 800100012001400160018002000

charge_dis_4_1 ]
Nent = 1176
Mean = 677.4

RMS = 46.97

Charge_dis_4_1 ]
Nent = 1176
Mean = 485.2

RMS = 3877

200 400 600 800100012001400160018002000

Charge_dis 4.1
Nent = 1176
Mean = 6736

RMS = 5611

200 400 600 800100012001400160018002000

charge_dis_4_1 |
Nent = 1176
Mean = 8495

RMS = 7079

200 400 600 800100012001400160018002000

0
0 200 400 600 800100012001400160018002000

Charge_dis_4_1 ]
Nent = 1176
Mean = 653

RMS = 4759

0
0 200 400 600 800100012001400160018002000

charge_dis_4_1.

Nent = 1176

Mean = 558.1

RMS = 5137

0
0 200 400 600 800100012001400160018002000

Charge_dis_4_1.

Nent = 1176

Mean = 6923

RMS = 53.99

0
0 200 400 600 800100012001400160018002000

35

30)

25]

20

15

10}

charge_dis_a_1 |

Nent = 1176

0

Mean = 463.1

RMS = 3318

!

0 200 400 600 800100012001400160018002000

charge_dis_4_1 ]

Nent = 1176

30|

25

20|

15j

10}

Mean = 693.9

RMS = 4461

0
0 200 400 600 800100012001400160018002000

25

o2

charge_dis_4_1 ]
Nent = 1176
Mean = 7017

RMS = 6044

200 400 600 800100012001400160018002000

0
0

charge_dis_4_1
Nent = 1176
Mean = 477.3

RMS = 41.99

200 400 600 800100012001400160018002000

30F

charge_dis_4_1 ]
Nent = 1176
Mean = 6513

RMS = 5378

200 400 600 800100012001400160018002000

charge_dis_4_1 ]
Nent=1176
Mean = 6529

RMS = 60.94

0
0 200 400 600 800100012001400160018002000




charge_dis_4_2.

Nent = 1176

22F

Mean = 731

RMS = 56.37

200 400 600 800100012001400160018002000

charge._dis 4.2,

Nent = 1176
Mean = 684.9
RMS = 40.41

30

251

20

151

10F

sk

C"'I"'I" P FT NI A TR PR AT

0 200 400 600 800100012001400160018002000

charge_dis_4_2 |

Nent = 1176

o2

Mean = 474.1

RMS = 5021

200 400 600 800100012001400160018002000

charge_dis_4_2.

Nent = 1176

Mean = 520.2

RMS = 47.3

0
0 200 400 600 800100012001400160018002000

Charge_dis_4_2.

Nent = 1176

35

Mean = 7083

RMS = 4717

200 400 600 800100012001400160018002000

Charge_dis_4_2.

Nent = 1176

25

o2

Mean = 1078

RMS = 5881

200 400 600 800100012001400160018002000

charge_dis_4_2 |

Nent = 1176

20F Mean = 437
RMS = 3921

351

30

200 400 600 800100012001400160018002000

Charge_dis_4_2 ]

Nent = 1176
351 Mean = 483
RMS = 39.64
30
251
20
151
10
5
0
0 200 400 600 800100012001400160018002000

charge_dis_4_2.

Nent = 1176

Mean = 1089

RMS = 6197

0
0 200 400 600 800100012001400160018002000

Charge_dis_4_2.

Nent =1176
Vean = 7324
RMS = 4863
25
20
15
10
sk
o J.I.I.LI.I.I.LI.IJ

0 200 400 600 800100012001400160018002000

harge_dis_4_2_10

charge_dis__2 |

Nent = 1176

30F Mean = 787.5
RMS = 45.68

251

20

15

10

s

obaboalen 1B, 1 [N Y Y Y

0 200 400 600 800100012001400160018002000

charge_dis_4_2 ]

Nent = 1176

Mean = 563

RMS = 42.88

0
0 200 400 600 800100012001400160018002000

charge_dis_4_2.

Nent = 1176

Mean = 1065

22

RMS = 6232

200 400 600 800100012001400160018002000

charge_dis_4_2.

Nent = 1176

Mean = 569.7

RMS = 4556

200 400 600 800100012001400160018002000

charge_dis_4_2 ]

Nent = 1176

Mean = 633.7

RMS = 49.76

o2

200 400 600 800100012001400160018002000

Ccharge_dis_4_2.

Nent=1176

Mean = 569.3

RMS = 5769

0
0 200 400 600 800100012001400160018002000




charge_dis_4_3.

Nent = 1176

o2

Mean = 730.8

RMS = 49.47

200 400 600 800100012001400160018002000

charge_dis 4.3,

Nent = 1176

25

o2

Mean = 709.4

RMs = 458

200 400 600 800100012001400160018002000

charge_dis_4_3 |

Nent = 1176

30

Mean = 454.7

RMS = 38.15

200 400 600 800100012001400160018002000

charge_dis_4_3.

Nent = 1176

0
0

Mean = 604.9

RMS = 5486

200 400 600 800100012001400160018002000

25

0
0

Charge_dis_4_3 ]
Nent = 1176
Mean = 528

RMS = 49.7

200 400 600 800100012001400160018002000

Charge_dis 4.3,
Nent = 1176
Mean = 1097

RMS = 77

200 400 600 800100012001400160018002000

charge_dis_4_3 |
Nent = 1176
Mean = 465.4

RMS = 562

200 400 600 800100012001400160018002000

30F

25

20

151

Charge_dis_4_3 ]
Nent = 1176
Mean = 5155

RMS = 4286

0
0 200 400 600 800100012001400160018002000

charge_dis_4_3.

Nent = 1176

Mean = 7293

RMS = 68.46

0
0 200 400 600 800100012001400160018002000

Charge_dis_4.3.

Nent = 1176

Mean = 9909

RMS = 68.91

0
0 200 400 600 800100012001400160018002000

charge_dis_4_3 |

Nent = 1176

45|

40

35

30)

25]

20)

15

10

Mean = 3336

RMS = 27.75

0

0 200 400 600 800100012001400160018002000

charge_dis_4_3 |

Nent = 1176

Mean = 680.9

RMS = 5126

0
0 200 400 600 800100012001400160018002000

charge_dis_4_3,

Nent = 1176

Mean = 1029

RMS = 568

200 400 600 800100012001400160018002000

charge_dis 4.3,

Nent = 1176

Mean = 7749

RMS = 4551

0
0

200 400 600 800100012001400160018002000

charge_dis_4_3 |

Nent = 1176

Mean = 719.1

RMS = 5165

25

o2

200 400 600 800100012001400160018002000

Charge_dis_4_3.

Nent=1176

5 Mean = 816.7

RMS = 5239

0
0 200 400 600 800100012001400160018002000




charge_dis_4_4 | Charge_dis_4_4_] charge_dis_d_4_} Charge_dis_4_4 ]
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
1200F Mean = 0 1200F Mean = 0 1200F Mean = 0 1200F Mean = 0
RMS = 0 RMS = -0 RMS = -0 RMS = -0
1000~ 1000f 1000 1000
800 800 800 800
600 600~ 600 600
400 400 400 400
200 200 200 200
G||||||||||||||||||||||||||||||||||||||| G...I...I...I...I...In.I...I...I...In. G||||||||||||||||||||||||||||||||||||||| G...I...I...I...I...In.I...I...I...In.
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

charge_dis_4 4. charge_dis_4 4. charge_dis_4_4 Charge_dis 4.4,
Nent = 1176 Nent = 1176 Nent = 1176 Nent =1176
1200F Mean = 0 1200F Mean = 0 1200F Mean = 0 1200F Mean = 0
RMS = -0 RMS = -0 RMS = 0 RMS = -0
1000~ 1000f 1000 1000
800 800 800 800
600 600 600 600
400 400 400 400
200 200 200 200
c|||||||||||||||||||||||||||I|||I|||I||| C|||||||||||||||||||||||||||||||I|||I||| G"'I"'I"'I"'I"'I"'I"'I"'I"'I"' C|||||||||||||||||||||||||||||||I|||I|||
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

charge_dis_4_4 | charge_dis_4_4 | charge_dis_a_4 | charge_dis_4_4 ]
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
1200F Mean = 0 1200F Mean = 0 1200F Mean = 0 1200F Mean = 0
RMS = -0 RMS = -0 RMS = -0 RMS = -0
1000~ 1000F 1000 1000~
800 800 800 800
600 600~ 600 600
400 400 400 400
200 200 200 200
oL FETH FEY FEE1 FUTH FETE FER NTRL PETE FRTE PP obmbins b b bbb b bl obbin b b b bbb bina dess 5| FETE FURT FTEL FETH FETE FTE1 FETE PUTE RT AT
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

charge_dis_4_4 ] Charge_dis_4_4 ] charge_dis_4_4 ] Charge_dis_4_4 ]
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176

1200F Mean = 0 1200F Mean = 0 1200F Mean = 0 1200F Mean = 0
RMS = -0 RMS = -0 RMS = 0 RMS = -0

1000 1000 1000~ 1000

800 800 800 800

600 600~ 600 600

400 400 400 400

200 200 200 200

[} FET FET1 RTEE FETE FETY FTR1 FTTL FUTH FAT N [SLFET1 NTRE FTTE FETH FET1 FTR1 FUTE FATE ATR NORY o FETE FUTE FATE FATY FERY FARY FATA FUTEATRA AT [oLFET1 'Y FTT FETH FET1 FTR FURE FATE ATTA NN

0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000




charge_dis_4_5 | Charge_dis_4_5 ] charge_dis_4_5} Charge_dis_4_5 ]
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
1200F Mean = 0 1200F Mean = 0 1200F Mean = 0 1200F Mean = 0
RMS = 0 RMS = -0 RMS = -0 RMS = -0
1000~ 1000f 1000 1000
800 800 800 800
600 600~ 600 600
400 400 400 400
200 200 200 200
G||||||||||||||||||||||||||||||||||||||| G...I...I...I...I...In.I...I...I...In. G||||||||||||||||||||||||||||||||||||||| G...I...I...I...I...In.I...I...I...In.
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

charge_dis 4.5, charge_dis 4.5, charge_dis 4.5, Charge_dis 4.5,
Nent = 1176 Nent = 1176 Nent = 1176 Nent =1176
1200F Mean = 0 1200F Mean =0.01956 1200F Mean = 0 1200F Mean = 0
RMS = -0 RMS =06704 RMS = 0 RMS = -0
1000~ 1000f 1000 1000
800 800 800 800
600 600 600 600
400 400 400 400
200 200 200 200
c|||||||||||||||||||||||||||I|||I|||I||| C|||||||||||||||||||||||||||||||I|||I||| G|||||||||||||||I|||||||||||||||I|||I||| C|||||||||||||||||||||||||||||||I|||I|||
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

charge_dis_4_5 | charge_dis_4_5 | charge_dis_4_5 | charge_dis_4_5 ]
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
1200F Mean = 0 1200F Mean = 0 1200F Mean = 0 1200F Mean = 0
RMS = -0 RMS = -0 RMS = -0 RMS = -0
1000~ 1000F 1000 1000~
800 800 800 800
600 600~ 600 600
400 400 400 400
200 200 200 200
oL FETH FEY FEE1 FUTH FETE FER NTRL PETE FRTE PP obmbins b b bbb b bl obbin b b b bbb bina dess 5| FETE FURT FTEL FETH FETE FTE1 FETE PUTE RT AT
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

charge_dis_4.5 ] Charge_dis_4_5 ] Charge_dis_4.5 ] Charge_dis_4.5 ]
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176

1200F Mean = 0 1200F Mean = 0 1200F Mean =0.01701 1200F Mean = 0
RMS = -0 RMS = -0 RMS = 0583 RMS = -0

1000~ 1000 1000 1000

800 800 800 800

600 600~ 600 600

400 400 400 400

200 200 200 200

[} FET FET1 RTEE FETE FETY FTR1 FTTL FUTH FAT N [SLFET1 NTRE FTTE FETH FET1 FTR1 FUTE FATE ATR NORY o FETE FUTE FATE FATY FERY FARY FATA FUTEATRA AT [oLFET1 'Y FTT FETH FET1 FTR FURE FATE ATTA NN

0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000



charge_dis_4_6 | charge_dis_4_6_] charge_dis_4_6_} Charge_dis_4_6_]
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
1200F Mean = 0 1200F Mean = 0 1200F Mean = 0 1200F Mean = 001785
RMS = 0 RMS = -0 RMS = -0 RMS =06121
1000~ 1000f 1000 1000
800 800 800 800
600 600~ 600 600
400 400 400 400
200 200 200 200
c||||||||||||||||||||||||||||||||||||||| G||||||||||||||||||||||||||||||||||||||| G||||||||||||||||||||||||||||||||||||||| G|||||||||||||||||||||||||||||||||||||||
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

charge_dis 4.6, Charge_dis 4.6, charge_dis 4.6 Charge_dis 4.6,
Nent = 1176 Nent = 1176 Nent = 1176 Nent =1176
1200F Mean = 0 1200F Mean = 0 1200F Mean = 0 1200F Mean = 0
RMS = -0 RMS = -0 RMS = 0 RMS = -0
1000~ 1000f 1000 1000
800 800 800 800
600 600 600 600
400 400 400 400
200 200 200 200
c|||||||||||||||||||||||||||I|||I|||I||| C|||||||||||||||||||||||||||||||I|||I||| G"'I"'I"'I"'I"'I"'I"'I"'I"'I"' C|||||||||||||||||||||||||||||||I|||I|||
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

charge_dis_4_6 | charge_dis_4_6 | charge_dis__6 | charge_dis_4_6 ]
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
1200F Mean = 0 1200F Mean = 0 1200F Mean = 0 1200F Mean = 0
RMS = -0 RMS = -0 RMS = -0 RMS = -0
1000~ 1000F 1000 1000~
800 800 800 800
600 600~ 600 600
400 400 400 400
200 200 200 200
oL FETH FEY FEE1 FUTH FETE FER NTRL PETE FRTE PP obmbins b b bbb b bl obbin b b b bbb bina dess 5| FETE FURT FTEL FETH FETE FTE1 FETE PUTE RT AT
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

charge_dis_4_6 ] Charge_dis_4_6_] Charge_dis_4_6 ] Charge_dis_4_6 ]
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176

1200F Mean = 0 1200F Mean = 0 1200F Mean = 0 1200F Mean = 0
RMS = -0 RMS = -0 RMS = 0 RMS = -0

1000 1000 1000~ 1000

800 800 800 800

600 600~ 600 600

400 400 400 400

200 200 200 200

[} FET FET1 RTEE FETE FETY FTR1 FTTL FUTH FAT N [SLFET1 NTRE FTTE FETH FET1 FTR1 FUTE FATE ATR NORY o FETE FUTE FATE FATY FERY FARY FATA FUTEATRA AT [oLFET1 'Y FTT FETH FET1 FTR FURE FATE ATTA NN

0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000



charge_dis_4_7 | charge_dis_4_7_] charge_dis_d_7_} Charge_dis_4_7_]
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
1200F Mean = 0 1200F Mean = 0 1200F Mean = 0 1200F Mean = 0
RMS = 0 RMS = -0 RMS = -0 RMS = -0
1000~ 1000f 1000 1000
800 800 800 800
600 600~ 600 600
400 400 400 400
200 200 200 200
G||||||||||||||||||||||||||||||||||||||| G...I...I...I...I...In.I...I...I...In. G||||||||||||||||||||||||||||||||||||||| G...I...I...I...I...In.I...I...I...In.
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

charge_dis 4.7, charge_dis 4.7, charge_dis_4_7. Charge_dis 4.7,
Nent = 1176 Nent = 1176 Nent = 1176 Nent =1176
1200F Mean = 0 1200F Mean = 0 1200F Mean = 0 1200F Mean = 0
RMS = -0 RMS = -0 RMS = 0 RMS = -0
1000~ 1000f 1000 1000
800 800 800 800
600 600 600 600
400 400 400 400
200 200 200 200
c|||||||||||||||||||||||||||I|||I|||I||| C|||||||||||||||||||||||||||||||I|||I||| G"'I"'I"'I"'I"'I"'I"'I"'I"'I"' C|||||||||||||||||||||||||||||||I|||I|||
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

charge_dis_a_7 | charge_dis_4_7 | charge_dis_a_7 ] charge_dis_4_7_]
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
1200F Mean = 0 1200F Mean = 0 1200F Mean = 0 1200F Mean = 0
RMS = -0 RMS = -0 RMS = -0 RMS = -0
1000~ 1000F 1000 1000~
800 800 800 800
600 600~ 600 600
400 400 400 400
200 200 200 200
oL FETH FEY FEE1 FUTH FETE FER NTRL PETE FRTE PP obmbins b b bbb b bl obbin b b b bbb bina dess 5| FETE FURT FTEL FETH FETE FTE1 FETE PUTE RT AT
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

charge_dis_4_7 ] Charge_dis_4_7_] harge_dis_4_7 ] Charge_dis_4_7 ]
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176

1200F Mean = 0 1200F Mean = 0 1200F Mean =0.01361 1200F Mean = 0
RMS = -0 RMS = -0 RMS =0.4664 RMS = -0

1000~ 1000 1000 1000

800 800 800 800

600 600~ 600 600

400 400 400 400

200 200 200 200

[} FET FET1 RTEE FETE FETY FTR1 FTTL FUTH FAT N [SLFET1 NTRE FTTE FETH FET1 FTR1 FUTE FATE ATR NORY o FETE FUTE FATE FATY FERY FARY FATA FUTEATRA AT [oLFET1 'Y FTT FETH FET1 FTR FURE FATE ATTA NN

0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000



charge_dis_4_5.| Charge_dis_4_5] charge_dis_4_5 |

charge_dis_4_6.

Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
Mean = 580 Mean = 7135 Mean = 655.7 Mean = 592.1
RMS = 57.94 RMS = 6372 RMS = 5416 RMS = 5146

o2

0
0

200 400 600 800100012001400160018002000 200 400 600 800100012001400160018002000 200 400 600 800100012001400160018002000 200 400 600 800100012001400160018002000

charge_dis 4.6, Charge_dis 4.8, Charge_dis_4_6. Charge_dis 4.8,

Nent = 1176 Nent = 1176 Nent = 1176 Nent=1176

5 Mean = 7646 Mean = 6314 2 Mean = 907.5 25| Mean = 7415

RMS = 706 RMS = 6211 RMS = 68.9 RMS = 6175

o2

0 0
0 0

200 400 600 800100012001400160018002000 200 400 600 800100012001400160018002000 200 400 600 800100012001400160018002000 200 400 600 800100012001400160018002000

charge_dis_4_6 | charge_dis_4_8 | charge_dis_4_8 | charge_dis_4_8 |

et = 1176 Nent = 1176 Nert = 1176 Nent = 1176
vean = 6062 Wean = 6264 Wean = 751.1 Vean = 6904
RMS = 67.67 RMS = 47.28 RMS = 70.52 25F RMS = 51.17

o2
o2

200 400 600 800100012001400160018002000 200 400 600 800100012001400160018002000 200 400 600 800100012001400160018002000 200 400 600 800100012001400160018002000

charge_dis_4_6 | Charge_dis_4_8 ] charge_dis_4_6 | Charge_dis_4_6.

Nent = 1176 Nent = 1176 Nent = 1176 Nent=1176
Mean = 7018 Mean = 757 Mean = 943.1 Mean = 8513
RMS = 5376 RMS = 6071 RMS = 7655 RMS = 635

0 0 0 0
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000




25

o2

25

o2

charge_dis_4_9.

Nent = 1176

Mean = 6795

RMS = 64.02

200 400 600 800100012001400160018002000

charge_dis 4.9,

Nent = 1176

Charge_dis_4_9 ]
Nent = 1176
Mean = 686.7

RMS = 65.63

200 400 600 800100012001400160018002000

vean = 7201 2

RMS = 5764

200 400 600 800100012001400160018002000

o2

charge_dis_4_9 |

Nent = 1176

Charge_dis 4.9,
Nent = 1176
Mean = 509.9

RMS = 59.76

200 400 600 800100012001400160018002000

Mean = 684.1

RMSs = 59.92

200 400 600 800100012001400160018002000

o2

charge_dis_4_6.

Nent = 1176

charge_dis_4_9 |
Nent = 1176
Mean = 739.7

RMS = 5079

200 400 600 800100012001400160018002000

Mean = 797.7

RMS = 4961

0
0 200 400 600 800100012001400160018002000

Charge_dis_4_9 ]
Nent = 1176
Mean = 589

RMS = 6111

0
0 200 400 600 800100012001400160018002000

22F

charge_dis_4_9 ]
Nent = 1176
Mean = 810.1

RMS = 67.8

200 400 600 800100012001400160018002000

0
0

charge_dis_4.9.
Nent = 1176
Mean = 672.7

RMS = 67.66

200 400 600 800100012001400160018002000

charge_dis_4_9 ]
Nent = 1176
Mean = 1154

RMS = 68.26

200 400 600 800100012001400160018002000

charge_dis_4_9 ]
Nent = 1176
Mean = 1119

RMS = 64.69

0
0 200 400 600 800100012001400160018002000

25

0
0

charge_dis_4_9 ]
Nent = 1176
Mean = 570.9

RMS = 57.39

200 400 600 800100012001400160018002000

25

o2

charge_dis_4.9.
Nent = 1176
Mean = 596.8

RMS = 6361

200 400 600 800100012001400160018002000

25

o2

charge_dis_4_9 ]
Nent = 1176
Mean = 599.6

RMS = 48.87

200 400 600 800100012001400160018002000

30F

charge_dis_4_9 ]
Nent=1176
Mean = 7122

RMS = 47.16

0
0 200 400 600 800100012001400160018002000




charge_dis_a_10)

vean = 53
25k ws = 4077
20
15f
10f
s
ot B R b b b
0 200 400 600 8001000120014001600L8002000

Charge_dis_4_10)

Nent = 1176

35

20

151

Mean = 4986

RMS = 34.42

0 200 400 600 800100012001400160018002000

harge_dis_4_10_8

charge_dis_a_10)

Nent = 1176

5F

o2

Mean = 419.9

RMSs = 49.47

200 400 600 800100012001400160018002000

charge_dis_4_10)

Nent = 1176

Mean = 545.9

RMS = 5106

0
0 200 400 600 800100012001400160018002000

Charge_dis_4_10]

Nent = 1176

35F Mean = 383.3
RMS = 3527

30

25

20

151

10

sk

G"'I M I T T T T P P

0 200 400 600 800100012001400160018002000

Charge_dis_4_10)
Nent = 1176
Mean = 9159

RMS = 7009

200 400 600 800100012001400160018002000

30F

charge_dis_4_10]
Nent = 1176
Mean = 389.9

RMS = 5226

200 400 600 800100012001400160018002000

charge_dis_4_10j43
Nent = 1176
Mean = 588.8

RMS = 5011

0
0 200 400 600 800100012001400160018002000

charge_dis_4_10)

Nent = 1176

o2

Mean = 7796

RMS = 57.05

200 400 600 800100012001400160018002000

charge_dis_4_10)

Nent = 1176

Mean = 1015

RMS = 6061

200 400 600 800100012001400160018002000

35

charge_dis_a_10jg0

Nent = 1176

Mean = 439.7

RMS = 438

200 400 600 800100012001400160018002000

251

20

charge_dis_4_10jg4

Nent = 1176
Mean = 4903

RMS = 45.53

0
0 200 400 600 800100012001400160018002000

1200

1000

800

600

400

200

charge_dis_4_10]

Nent = 1176
- Mean = 0
RMS = -0

[

0 200 400 600 800100012001400160018002000

35)

charge_dis_4_10)

Nent = 1176

F Mean = 535.3

RMS = 36.71

0
0 200 400 600 800100012001400160018002000

charge_dis_4_10)

Nent = 1176

1200

1000

800

600

400

200

F Mean = 0

RMS = -0

[

0 200 400 600 800100012001400160018002000

charge_dis_4_10]

Nent=1176

Mean = 588

RMS = 50.07

0
0 200 400 600 800100012001400160018002000



charge_dis_a_11]

Nent = 1176

Mean = 791.9

RMS = 53.37

200 400 600 800100012001400160018002000

Charge_dis_4_11]

Nent = 1176

Mean = 9226

RMS = 7433

200 400 600 800100012001400160018002000

charge_dis_a_11]

Nent = 1176

o2

Mean = 518.3

RMs = 4551

200 400 600 800100012001400160018002000

0
0 200 400 600 800100012001400160018002000

charge_dis_4_11]
Nent = 1176
Mean = 5333

RMS = 5423

Charge_dis_4_11]

Nent = 1176

22

Mean = 762.7

RMS = 55.68

200 400 600 800100012001400160018002000

Charge_dis_4_11]

25

o2

Nent = 1176
Mean = 807.1
RMS = 6022

200 400 600 800100012001400160018002000

charge_dis_4_11]
Nent = 1176
Mean = 593.7

RMS = 6268

200 400 600 800100012001400160018002000

Charge_dis_4_11]
Nent = 1176
Mean = 592

RMS = 5753

0
0 200 400 600 800100012001400160018002000

charge_dis_4_11]

Nent = 1176

25|

Mean = 716.1

RMS = 6257

200 400 600 800100012001400160018002000

charge_dis_4_11]

Nent = 1176

Mean = 824.7

RMS = 65.51

o<

200 400 600 800100012001400160018002000

charge_dis_a_11]
Nent = 1176
Mean = 6914

RMS = 6086

200 400 600 800100012001400160018002000

charge_dis_4_11]
Nent = 1176
Mean = 3833

RMS = 58.08

0
0 200 400 600 800100012001400160018002000

charge_dis_a_11]

Nent = 1176

20

Mean = 1096

RMS = 7635

200 400 600 800100012001400160018002000

charge_dis_4_11]

Nent = 1176

0
0

Mean = 532.1

RMS = 5224

200 400 600 800100012001400160018002000

20

charge_dis_a_11]
Nent = 1176
Mean = 6519

RMS = 6658

200 400 600 800100012001400160018002000

30|

0
0 200 400 600 800100012001400160018002000

charge_dis_4_11]
Nent=1176
Mean = 491

RMS = 48.26




charge_dis_4_12)

Nent = 1176

25

o2

Mean = 658.9

RMS = 54.41

200 400 600 800100012001400160018002000

charge_dis_4_12)

Nent = 1176

20

Mean = 810.4

RMS = 62.47

200 400 600 800100012001400160018002000

charge_dis_a_12)

Nent = 1176

30

o2

Mean = 658.2

RMS = 44.02

200 400 600 800100012001400160018002000

0
0 200 400 600 800100012001400160018002000

charge_dis_4_12]
Nent = 1176
Mean = 7275

RMS = 4952

Charge_dis_4_12]

Nent = 1176

25

o2

Mean = 618.4

RMS = 5376

200 400 600 800100012001400160018002000

Charge_dis_4_12]

Nent = 1176

Mean = 985.1

RMS = 67.48

200 400 600 800100012001400160018002000

charge_dis_4_12]
Nent = 1176
Mean = 917.4

RMS = 6554

200 400 600 800100012001400160018002000

charge_dis_4_12J43
Nent = 1176
Mean = 1049

RMS = 68.2

0
0 200 400 600 800100012001400160018002000

charge_dis_4_12]

1200

1000

800

600

400

200

Nent = 1176
Mean = 0
RMS = -0

0
0

200 400 600 800100012001400160018002000

charge_dis_4_12]

Nent = 1176

20

Mean = 8669

RMS = 7091

200 400 600 800100012001400160018002000

o2

charge_dis_a_12]

Nent = 1176
Mean = 881.1
RMS = 5217

200 400 600 800100012001400160018002000

0
0 200 400 600 800100012001400160018002000

charge_dis_4_12]
Nent = 1176
Mean = 819.7

RMS = 68.66

charge_dis_4_12]

Nent = 1176

Mean = 7233

RMS = 56.37

200 400 600 800100012001400160018002000

charge_dis_4_12]

Nent = 1176

Mean = 1002

RMS = 84.43

200 400 600 800100012001400160018002000

charge_dis_a_12)
Nent = 1176
Mean = 7715

RMS = 4436

200 400 600 800100012001400160018002000

22F

charge_dis_4_12]
Nent=1176
Mean = 1265

RMS = 76.04

0
0 200 400 600 800100012001400160018002000



charge_dis_a_13)

Nent = 1176

20

Mean = 952.9

RMS = 58.31

200 400 600 800100012001400160018002000

Charge_dis_4_13)

Nent = 1176

o2

Mean = 7256

RMS = 65.79

200 400 600 800100012001400160018002000

charge_dis_a_13)

Nent = 1176

o2

Mean = 948.2

RMS = 7016

200 400 600 800100012001400160018002000

0
0 200 400 600 800100012001400160018002000

charge_dis_4_13)

Nent = 1176

Mean = 9338

RMS = 63.05

charge_dis_4_13]

Nent = 1176

0
0

Mean = 857.4

RMS = 5161

200 400 600 800100012001400160018002000

Charge_dis_4_13)

Nent = 1176

221

Mean = 1020

RMS = 6745

200 400 600 800100012001400160018002000

charge_dis_4_13]
Nent = 1176
Mean = 1072

RMS = 56.09

200 400 600 800100012001400160018002000

0
0 200 400 600 800100012001400160018002000

charge_dis_4_13j43
Nent = 1176
Mean = 1161

RMS = 8256

charge_dis_4_13)

charge_dis_4_13)

Nent = 1176

Nent = 1176
1200F Mean = 0
RMS = -0
1000
800
600
400
200
G...I...I...I...I...I...I...I...I...I.u
0 200 400 600 800100012001400160018002000

charge_dis_4_13)

Nent = 1176

Mean = 906.4

RMS = 68.26

Mean = 9325

RMS = 7194

200 400 600 800100012001400160018002000

charge_dis_4_13]

Nent = 1176

200 400 600 800100012001400160018002000

charge_dis_a_13)

Nent = 1176

o2

Mean = 1206

RMS = 66.94

Mean = 5437

RMS = 5557

200 400 600 800100012001400160018002000

charge_dis_a_13)

Nent = 1176

200 400 600 800100012001400160018002000

charge_dis_4_13)
Nent = 1176
Mean = 832

RMS = 69.52

Mean = 1234

RMS = 83.85

200 400 600 800100012001400160018002000

0
0 200 400 600 800100012001400160018002000

charge_dis_4_13)
Nent=1176
Mean = 7416

RMS = 6322

0
0 200 400 600 800100012001400160018002000



charge_dis_4_14)

Nent = 1176

Mean = 1122

RMSs = 79.42

200 400 600 800100012001400160018002000

Charge_dis_4_14]

Nent = 1176

o2

Mean = 948.9

RMS = 5498

200 400 600 800100012001400160018002000

charge_dis_a_14)

Nent = 1176

o2

Mean = 1342

RMS = 6113

200 400 600 800100012001400160018002000

charge_dis_4_14)

Nent = 1176

251

201

15

10

0
0

Mean = 1407

RMS = 60

200 400 600 800100012001400160018002000

0
0

Charge_dis_4_14]
Nent = 1176
Mean = 7402

RMS = 4838

200 400 600 800100012001400160018002000

o2

Charge_dis_4_14]
Nent = 1176
Mean = 9602

RMS = 58.49

200 400 600 800100012001400160018002000

charge_dis_4_14]
Nent = 1176
Mean = 888.8

RMS = 5655

200 400 600 800100012001400160018002000

18

16

12

10

charge_dis_4_14j43
Nent = 1176
Mean = 1444

RMS = 762

0
0 200 400 600 800100012001400160018002000

charge_dis_4_14)

Nent = 1176

20

Mean = 1343

RMS = 8003

200 400 600 800100012001400160018002000

charge_dis_4_14)

Nent = 1176

18

Mean = 1150

RMS = 7341

200 400 600 800100012001400160018002000

Nent = 1176

25

o2

Mean = 1379

RMS = 6427

200 400 600 800100012001400160018002000

charge_dis_4_lajga

Nent = 1176

0
0

Mean = 1201

RMS = 62.65

200 400 600 800100012001400160018002000

charge_dis_a_1aJg0

charge_dis_a_14)

Mean = 8241
2k Rws = 5048
20
15f
10f
s
[\ IV || I TV P Y PR P
0 200 400 600 800100012001400160018002000

charge_dis_4_14]

Nent = 1176

25

20|

15

10|

Mean = 865.3

RMS = 60.92

200 400 600 800100012001400160018002000

charge_dis_a_14)

Nent = 1176

Mean = 1329

RMS = 79.19

200 400 600 800100012001400160018002000

Ccharge_dis_4_14]

Nent=1176

Mean = 9455

RMS = 4965

0

0 200 400 600 800100012001400160018002000




charge_dis_a_15)

Nent = 1176

25

o2

Mean = 1237

RMS = 68.21

200 400 600 800100012001400160018002000

Charge_dis_4_15)

Nent = 1176

o2

Mean = 8828

RMS = 5486

200 400 600 800100012001400160018002000

charge_dis_a_15)

Nent = 1176

221

Mean = 1802

RMS = 7513

200 400 600 800100012001400160018002000

0
0 200 400 600 800100012001400160018002000

charge_dis_4_15)

Nent = 1176
Mean = 9442

RMs = 58.44

Charge_dis_4_15)

Nent = 1176

Mean = 1345

RMS = 6338

200 400 600 800100012001400160018002000

Charge_dis_4_15)

Nent = 1176
Mean = 735.4
RMS = 58.88

200 400 600 800100012001400160018002000

charge_dis_4_15]

Nent = 1176

Mean = 1635

RMS = 74.98

200 400 600 800100012001400160018002000

charge_dis_4_15[43

Nent = 1176

Mean = 966.1

RMS = 6147

0
0 200 400 600 800100012001400160018002000

charge_dis_4_15)

Nent = 1176

0
0 200 400 600 800100012001400160018002000

Mean = 1144

RMS = 76.08

charge_dis_4_15)

Nent = 1176

30

0
0 200 400 600 800100012001400160018002000

Mean = 5624

RMS = 4087

charge_dis_a_15[g0

Nent = 1176

25|

0)
0 200 400 600 800100012001400160018002000

Mean = 9317

RMS = 48.05

20

15

10

0
0 200 400 600 800100012001400160018002000

charge_dis_4_15[g4
Nent = 1176
Mean = 791.9

RMS = 55.85

charge_dis_4_15)

Nent = 1176

o2

22|

Mean = 9435

RMS = 66.09

200 400 600 800100012001400160018002000

charge_dis_4_15)

Nent = 1176

Mean = 1080

RMS = 7199

200 400 600 800100012001400160018002000

charge_dis_a_15[41

Nent = 1176

0
0

Mean = 1205

RMS = 6229

200 400 600 800100012001400160018002000

Ccharge_dis_4_15[45

Nent=1176

22F

0
0 200 400 600 800100012001400160018002000

Mean = 980.2

RMS = 642




35

30

25

20

15)

10|

charge_dis_5.0.

Nent = 1176

F Mean = 405.8

RMS = 4177

0
0 200 400 600 800100012001400160018002000

25

20

15)

10|

0

charge_dis 5.0,

Nent = 1176

Mean = 3948

RMS = 4313

0 200 400 600 800100012001400160018002000

charge_dis_5_0 |

Nent = 1176

50

40

30]

20]

10

Mean = 396.9

- RMS = 28.16

0

...I.J.Il.l...I...I...I...I...I...I...

0 200 400 600 800100012001400160018002000

charge_dis_5.0.

Nent = 1176

40

35

30

25

20]

15)

10

F Mean = 4165

RMS = 3463

0

0 200 400 600 800100012001400160018002000

Charge_dis_5.0.

Nent = 1176

Mean = 328.4

RMS = 4332

0
0 200 400 600 800100012001400160018002000

Charge_dis 5.0,

Nent = 1176
Vean = 6508
Rws = 4267

251

201

15

10f

5L

0 i I PR T FETa FeTl FEe R

0 200 400 600 800100012001400160018002000

charge_dis_5_0 |

Nent = 1176

351

Mean = 360.6

RMS = 35.74

0
0 200 400 600 800100012001400160018002000

Charge_dis_5.0]

Nent = 1176

35

30

251

15

10

Mean = 6475

RMS = 3568

0
0 200 400 600 800100012001400160018002000

charge_dis_5.0.

Nent = 1176

Mean = 7176

RMS = 4712

o2

200 400 600 800100012001400160018002000

Charge_dis_5.0.

Nent = 1176
30F Mean = 8313
RMS = 45

251
20
151
10

5k

0
0 200 400 600 800100012001400160018002000

harge_dis_5_0_10 charge_dis_5_0_|

Nent = 1176

Mean = 829

RMS = 4621

200 400 600 800100012001400160018002000

charge_dis_5.0 ]

Nent = 1176

Mean = 1098

RMS = 60.68

0
0 200 400 600 800100012001400160018002000

35

30|

25)

20|

15

10

charge_dis_5_0.

Nent = 1176

Mean = 491

RMS = 3429

200 400 600 800100012001400160018002000

charge_dis 5.0,

Nent = 1176

d

Mean = 3776

RMS = 3357

35

30

25

20|

15)

10

200 400 600 800100012001400160018002000

charge_dis_5_0]

Nent = 1176

Mean = 570

RMS = 4107

200 400 600 800100012001400160018002000

charge_dis_5.0.

Nent=1176

Mean = 4018

RMS = 3075

k

0

0 200 400 600 800100012001400160018002000



charge_dis_5_1.

Nent = 1176
Mean = 8338

P RMS = 47.07

201

15F

10

51

bbb, L L Bl b b by

0 200 400 600 800100012001400160018002000

charge_dis 5 1.

Nent = 1176

Mean = 552.1

RMs = 493

0
0 200 400 600 800100012001400160018002000

charge_dis_5_1 |

Nent = 1176

35

30

4|

151

sk

Mean = 573

RMs = 3361

0 200 400 600 800100012001400160018002000

charge_dis_5_1.

Nent = 1176

251

10

oumuhmumuhm.um.hu

Mean = 646.4

RMS = 47.86

0 200 400 600 800100012001400160018002000

Charge_dis_5_1.

Nent = 1176
Mean = 7828
RMS = 48.09
251
20
151
10
5
0 I T PP ..I.t
0 200 400 600 800100012001400160018002000

Charge_dis 5.1

Nent = 1176

Mean = 6719

RMS = 4455

200 400 600 800100012001400160018002000

charge_dis_5_1 |

Nent = 1176

30F

Mean = 8643

RMS = 4717

200 400 600 800100012001400160018002000

Charge_dis_5_1 ]

Nent = 1176

251

20

10

Mean = 7492

RMS = 3892

0
0 200 400 600 800100012001400160018002000

charge_dis_5_1]
Nent = 1176
Mean = 588.7

RMS = 4481

200 400 600 800100012001400160018002000

0
0

Charge_dis_5 1.
Nent = 1176
Mean = 6526

RMS = 59.41

200 400 600 800100012001400160018002000

30

251

20

charge_dis_5_1 ]
Nent = 1176
Mean = 599.1

RMS = 39.66

200 400 600 800100012001400160018002000

charge_dis_5 1]
Nent = 1176
Mean = 9215

RMS = 57.22

0
0 200 400 600 800100012001400160018002000

charge_dis_5_1 ]
Nent = 1176
Mean = 580.6

RMS = 43.42

0
0 200 400 600 800100012001400160018002000

25

charge_dis 5 1
Nent = 1176
Mean = 1096

RMS = 5154

0
0 200 400 600 800100012001400160018002000

30F

charge_dis_5_1 ]
Nent = 1176
Mean = 613.3

RMS = 4220

0
0 200 400 600 800100012001400160018002000

charge_dis_5_1 ]
Nent=1176
Mean = 1023

RMS = 5456

0
0 200 400 600 800100012001400160018002000




30]

25)

20)

15)

10

0

charge_dis_5.2.

Nent = 1176

Mean = 356.2

RMS = 3253

_._._._IJ..I P TR Y T I P

0 200 400 600 800100012001400160018002000

charge_dis 5.2,

Nent = 1176

Mean = 3315

RMs = 318

0
0 200 400 600 800100012001400160018002000

harge_dis_5_2_8 charge_dis_5_2 {

1200

1000

800

600

400

200

Nent = 1176
F Mean = 0
RMS = 0

0

0 200 400 600 800100012001400160018002000

charge_dis_5_2.

Nent = 1176

30

25

20

15

10|

Mean = 303.7

RMS = 47.24

0

0 200 400 600 800100012001400160018002000

Charge_dis_5.2 ]
Nent = 1176
Mean = 605

RMS = 60.89

0
0 200 400 600 800100012001400160018002000

Charge_dis 5.2,
Nent = 1176
Mean = 633

RMS = 39.89

0
0 200 400 600 800100012001400160018002000

30F

0
0 200 400 600 800100012001400160018002000

charge_dis_5_2 |
Nent = 1176
Mean = 4523

RMS = 4179

30

251

15

Charge_dis_5.2 ]
Nent = 1176
Mean = 487.8

RMS = 3829

0 200 400 600 800100012001400160018002000

charge_dis_5.2.

Nent = 1176

Mean = 6653

RMS = 5047

0
0 200 400 600 800100012001400160018002000

30)

charge_dis_5.2.

Nent = 1176

Mean = 6459

RMS = 43.95

0
0 200 400 600 800100012001400160018002000

1200

1000

800

600

400

200

charge_dis_5_2 ]

Nent = 1176
F Mean = 0
RMS = -0

0

0 200 400 600 800100012001400160018002000

charge_dis 5.2 |

Nent = 1176

30|

25]

20|

15j

10}

Mean = 440.7

RMS = 45.29

0)

0 200 400 600 800100012001400160018002000

charge_dis_5_2.

Nent = 1176

Mean = 743.1

RMS = 47.47

0
0 200 400 600 800100012001400160018002000

charge_dis_5_2.

Nent = 1176

Mean = 6343

RMS = 38.46

0
0 200 400 600 800100012001400160018002000

charge_dis_5_2 ]

Nent = 1176

Mean = 470.1

RMS = 3052

40

30

25

15

10

obalins ||i|||||||||||| MW FRTH PP P
0 200 400 600 800100012001400160018002000

Ccharge_dis_5_2.

Nent=1176

Mean = 677.9

RMS = 4956

0
0 200 400 600 800100012001400160018002000



charge_dis_5.3.

Nent = 1176

Mean = 9635

RMS = 46.00
25
20
151
10
sl

0
0 200 400 600 800100012001400160018002000

charge_dis 5.3,

Nent = 1176

Mean = 4345

RMS = 2915

35

30

15

10

0 |||I||JI| NMFETE FETE R FET1 FETH FETd T
0 200 400 600 800100012001400160018002000

charge_dis_5_3 |

Nent = 1176

Mean = 4152

45F RMS = 2916

25F

20F

15

10

foLeETR T 11 Y PP FETE FET NTR PETE FUTY P

0 200 400 600 800100012001400160018002000

charge_dis 5.3,

Nent = 1176

Mean = 3863

35

RMS = 3527

30

251

20

15

10

\ETEE | ST [T FETE P FTT FETE Fe A
0 200 400 600 800100012001400160018002000

Charge_dis_5.3.

Nent = 1176

Mean = 987.1

RMS = 62.43

0
0 200 400 600 800100012001400160018002000

25

Charge_dis 5.3,

Nent = 1176

Mean = 965.7

RMS = 5737

0
0 200 400 600 800100012001400160018002000

500

400

300

200

100

0

charge_dis_5_3 |

Nent = 1176

Mean = 8.887

RMS = 1606

0 200 400 600 800100012001400160018002000

25

20

15

10

0

Charge_dis_5.3 ]

Nent = 1176

Mean = 9416

RMS = 49.67

0 200 400 600 800100012001400160018002000

35

30)

25|

20

15]

10

charge_dis_5.3.

Nent = 1176

Mean = 468

RMS = 3474

0
0 200 400 600 800100012001400160018002000

30)

Charge_dis_5.3.

Nent = 1176

Mean = 671.1

RMS = 47.06

0
0 200 400 600 800100012001400160018002000

charge_dis_5_3 |

Nent = 1176

25]

Mean = 4495

RMS = 5316

0)
0 200 400 600 800100012001400160018002000

charge_dis_5.3 |

Nent = 1176

500

400

300

200

100§

Mean = 8.177

RMS = 3.037

0

0 200 400 600 800100012001400160018002000

charge_dis_5.3.

Nent = 1176

Mean = 917.8

RMS = 5108

0
0 200 400 600 800100012001400160018002000

charge_dis 5.3,

Nent = 1176

24

Mean = 1057

RMS = 59.38

0
0 200 400 600 800100012001400160018002000

25)

0
0 200 400 600 800100012001400160018002000

30|

25

20|

15)

10

0

charge_dis_5_3 |

Nent = 1176

Mean = 7243

RMS = 57.11

charge_dis 5.3,

Nent=1176

Mean = 680.6

RMS = 4253

0 200 400 600 800100012001400160018002000




charge_dis_5.4,

Nent = 1176

30

251

1or

Mean = 441.4

RMS = 36.01

oL PP P oy PR O Y P B e

0 200 400 600 800100012001400160018002000

charge_dis 5 4.

Nent = 1176

Mean = 6163

RMS = 4764

0
0 200 400 600 800100012001400160018002000

charge_dis_5_4 |

Nent = 1176

Mean = 5114

35k Rus = 3483
30
25
20
15
10
sk

Lol b b bl

0
0 200 400 600 800100012001400160018002000

charge_dis_5 4,

Nent = 1176

25

20

151

hod

Mean = 468.4

RMS = 3311

0 200 400 600 800100012001400160018002000

Charge_dis_5_4.

Nent = 1176

30

Mean = 566.9

RMS = 4463

200 400 600 800100012001400160018002000

Charge_dis_5 4,

Nent = 1176

45F

40

35

Mean = 386.9

RMS = 2762

200 400 600 800100012001400160018002000

charge_dis_5_4 |

Nent = 1176
Mean = 607.8
301 RMS = 427
251
20
151
101
5
obbens L1, [ I I P Y Y
0 200 400 600 800100012001400160018002000

Charge_dis_5_4]

Nent = 1176

30

251

15

101

Mean = 7265

RMS = 4825

0
0 200 400 600 800100012001400160018002000

30|

0
0

charge_dis_5.4.

Nent = 1176

F Mean = 5795

RMS = 48.97

200 400 600 800100012001400160018002000

Charge_dis 5.4,
Nent = 1176
Mean = 5188
40 RMS = 3747
351
30
25
20 n
15
10
s
obrelii By
0 200 400 600 800100012001400160018002000

charge_dis_5_4 ]

Nent = 1176
Mean = 566
RMS = 38.95
30
251
20
15F
10
5
obowlo oo 1M I e b bian b bina e
0 200 400 600 800100012001400160018002000

charge_dis_5.4 ]

Nent = 1176

35

30|

25

20)

15]

10}

Mean = 5103

RMS = 3216

|||||||J|||ll|||||||||||||||||||||||||

0)

0 200 400 600 800100012001400160018002000

251

20

151

10

Charge_dis_5_4 ]
Nent = 1176
Mean = 5465

RMS = 44.8

0
0 200 400 600 800100012001400160018002000

4sf

40

25

20

sF

0 J |L||||||||||||||||||||||||||||||||||

charge_dis 5 4.
Nent = 1176
Mean = 1336

RMS = 2313

0 200 400 600 800100012001400160018002000

30

251

20

bl

charge_dis_5_4 ]
Nent = 1176
Mean = 4732

RMS = 33.23

0 200 400 600 800100012001400160018002000

charge_dis_5_4 ]
Nent=1176
Mean = 4202

RMS = 3560

0
0 200 400 600 800100012001400160018002000




35

30

25

20]

15)

10]

charge_dis_5.5.

Nent = 1176

Mean = 528.4

RMS = 37.89

0
0 200 400 600 800100012001400160018002000

35)

30)

25)

20]

15)

10

charge_dis 5.5,
Nent = 1176
Mean = 433.4

RMS = 3766

0

0 200 400 600 800100012001400160018002000

charge_dis_5_5 |
Nent = 1176
Mean = 749.1

RMs = 478

0
0 200 400 600 800100012001400160018002000

charge_dis_5.5 |
Nent = 1176
Mean = 674.4

RMS = 53.94

0
0 200 400 600 800100012001400160018002000

30

25

20

15)

10

Charge_dis_5.5.

Nent = 1176

Mean = 2925

RMS = 4141

0
0 200 400 600 800100012001400160018002000

30

25

20

15

10|

0

Charge_dis 5.5,

Nent = 1176

Mean = 4006

RMS = 39.1

0 200 400 600 800100012001400160018002000

40|

35)

30

25

20

15

10

0

charge_dis_5_5 |

Nent = 1176

Mean = 4546

RMS = 3224

0 200 400 600 800100012001400160018002000

Charge_dis_5.5 ]

Nent = 1176

30|

25

20

15

10

0

Mean = 6235

RMS = 4381

0 200 400 600 800100012001400160018002000

charge_dis_5.5 ]
Nent = 1176
Mean = 4125

RMS = 4671

0
0 200 400 600 800100012001400160018002000

Charge_dis_5.5.
Nent = 1176
Mean = 581.7

RMS = 375

0
0 200 400 600 800100012001400160018002000

30

251

20

oben Ll

charge_dis_5_5 ]
Nent = 1176
Mean = 4146

RMS = 3033

0 200 400 600 800100012001400160018002000

charge_dis_5.5 |
Nent = 1176
Mean = 839.1

RMS = 52.33

0
0 200 400 600 800100012001400160018002000

15

10

charge_dis_5.5]
Nent = 1176
Mean = 503.1

RMS = 455

OJ_._.J..HL_‘IHJ.._._.J_‘“J.._._.JM_L._._.J_‘J_L

0 200 400 600 800100012001400160018002000

harge_dis_5_5_7

30

251

20

151

10

ol by

charge_dis 5.5,
Nent = 1176
Mean = 4183

RMS = 36.24

0 200 400 600 800100012001400160018002000

charge_dis_5_5 ]
Nent = 1176
Mean = 5416

RMS = 4182

0
0 200 400 600 800100012001400160018002000

charge_dis_5.5 ]
Nent=1176
Mean = 7517

RMS = 58.27

0
0 200 400 600 800100012001400160018002000




charge_dis_5.6.

Nent = 1176
Mean = 590.3
30f RMS = 40.37
251
20
15
10F
51
G"'I"'I' MNP P T P e
0 200 400 600 800100012001400160018002000

40

35

30)

25

20

15

10]

charge_dis 5.6,

Nent = 1176

Mean = 5035

RMS = 3437

200 400 600 800100012001400160018002000

charge_dis_5_6 |

Nent = 1176

35

30

25

20

15

10|

0

Mean = 5845

RMS = 3334

A

0 200 400 600 800100012001400160018002000

charge_dis 5.6,

Nent = 1176

Mean = 7146

RMS = 44.04

0
0 200 400 600 800100012001400160018002000

Charge_dis_5.6.

Nent = 1176
30F Mean = 739.7
RMS = 5281
251
20~
15
10
5

0
0 200 400 600 800100012001400160018002000

Charge_dis 5.6,

Nent = 1176

1200F Mean = 0

RMS = -0

1000

400

200

[oLFET1 NTRY FTTE FETH FET1 FTR1 FUTE FATE ATR NIRY

0 200 400 600 800100012001400160018002000

charge_dis_5_6 |

Nent= 1176
ean = seso
s = a0

25

20

15

10f

sk

IV [

0 200 400 600 800100012001400160018002000

Charge_dis_5.6 ]

Nent = 1176

Mean = 1006

RMS = 56.47

0
0 200 400 600 800100012001400160018002000

45|

40

35

30)

25|

20|

15]

10}

0

charge_dis_5.6 ]
Nent = 1176
Mean = 469.6

RMS = 27.35

A

0 200 400 600 800100012001400160018002000

Charge_dis_5.6.
Nent = 1176
Mean = 4438

RMS = 39.25

0
0 200 400 600 800100012001400160018002000

25|

charge_dis_5_6 |
Nent = 1176
Mean = 9288

RMS = 47.39

0)
0 200 400 600 800100012001400160018002000

25]

20)

15

10}

0)

charge_dis_5.6 |
Nent = 1176
Mean = 5756

RMS = 45.28

0 200 400 600 800100012001400160018002000

charge_dis_5.6.

Nent = 1176

Mean = 839.2

RMS = 5174

0
0 200 400 600 800100012001400160018002000

45

charge_dis 5.6,

Nent = 1176

Mean = 462.1

RMS = 28.42

0
0 200 400 600 800100012001400160018002000

35

30

25

20

15)

10|

[

charge_dis_5_6 ]

Nent = 1176

Mean = 6222

RMS = 3259

0 200 400 600 800100012001400160018002000

30|

charge_dis_5.6.

Nent=1176

Mean = 7556

RMS = 5264

0
0 200 400 600 800100012001400160018002000




charge_dis 5.7 |
Nent = 1176
Mean = 548.1

RMS = 4098

0
0 200 400 600 800100012001400160018002000

30|

Charge_dis 5.7,
Nent = 1176
Mean = 845.7

RMs = 47.97

0
0 200 400 600 800100012001400160018002000

30)

25

20

15)

10|

charge_dis_5_7 |
Nent = 1176
Mean = 643.1

RMs = 38.07

0
0 200 400 600 800100012001400160018002000

charge_dis 5.7 ]
Nent = 1176
Mean = 7459

RMS = 4221

0
0 200 400 600 800100012001400160018002000

35)

30)

25

20

15]

10|

Charge_dis_5_7.

Nent = 1176

Mean = 4649

RMS = 3283

0

0 200 400 600 800100012001400160018002000

Charge_dis 5.7,

Nent = 1176

Mean = 6848

RMS = 4812

0
0 200 400 600 800100012001400160018002000

30

0
0 200 400 600 800100012001400160018002000

25

20

15)

10|

0

charge_dis_5_7 |

Nent = 1176

Mean = 5262

RMS = 39.16

Charge_dis_5_7 ]

Nent = 1176

Mean = 7728

RMS = 44.49

0 200 400 600 800100012001400160018002000

charge_dis_5.1.

Nent = 1176

Mean = 1039

RMS = 53.94

0
0 200 400 600 800100012001400160018002000

charge_dis 5.7,

Nent = 1176
Mean = 4608
RMS = 3533

30

25

20

151

10

sk

G"'I" ||l

0 200 400 600 800100012001400160018002000

charge_dis_5_7 ]

Nent = 1176

30F

Mean = 1005

RMS = 4935

0)
0 200 400 600 800100012001400160018002000

charge_dis_5.7 ]

Nent = 1176

Mean = 986.3

RMS = 5069

0
0 200 400 600 800100012001400160018002000

charge_dis_5_7.

Nent = 1176
Mean = 5322

35k RMS = 3517

30

25

20

15

10

sk

G"'I"'I I P P P P P

0 200 400 600 800100012001400160018002000

charge_dis_5 7.

Nent = 1176

Mean = 826.7

RMS = 60.14

200 400 600 800100012001400160018002000

charge_dis_5_7 ]

Nent = 1176

40

30

25

15

Mean = 647.1

RMS = 33.89

..I...I.J

200 400 600 800100012001400160018002000

Ccharge_dis_5_7.

Nent=1176

25

Mean = 8023

RMS = 50.06

0
0 200 400 600 800100012001400160018002000




charge_dis_5.6.

Nent = 1176

Mean = 410.9

RMS = 447
30
25
201
15
10
[

charge_dis 5.6,

Nent = 1176

30)

Mean = 736.7

RMS = 44.97

0
0 200 400 600 800100012001400160018002000

charge_dis_5_6 |

Nent = 1176

Mean = 355.7

RMS = 40

0
0 200 400 600 800100012001400160018002000

charge_dis_5.6.

Nent = 1176
Mean = 646.7
RS = 4369

251

20

15F

10

5k

0 ||||||||||!|||l|||||||||||||||||||||||

0 200 400 600 800100012001400160018002000

Charge_dis_5.6.

Nent = 1176

Mean = 540.9

RMS = 36.49

200 400 600 800100012001400160018002000

Charge_dis 5.8,

Nent = 1176

Mean = 672.7

RMS = 44.63

200 400 600 800100012001400160018002000

charge_dis_5_8 |
Nent = 1176
Mean = 686.3
30 RMS = 4642
251
20
151
101
5
0
0 200 400 600 800100012001400160018002000

Charge_dis_5.8 ]

Nent = 1176

Mean = 942.1

RMS = 5339

0
0 200 400 600 800100012001400160018002000

charge_dis_5. 6.

Nent = 1176

Mean = 460.9

RMS = 46.77

0
0 200 400 600 800100012001400160018002000

Charge_dis 5.6,

Nent = 1176

Mean = 4795

RMS = 4405

251

20

10

[(\STTURER (KT (10 FET1 FET) FATd Fei Frra A

0 200 400 600 800100012001400160018002000

charge_dis_5_6 |

Nent = 1176

Mean = 6073

RMS = 52.89

25|

0)
0 200 400 600 800100012001400160018002000

charge_dis_5.6 |

Nent = 1176

Mean = 801.3

RMS = 5438

0
0 200 400 600 800100012001400160018002000

charge_dis_5.6 ]
Nent = 1176
Mean = 6913

RMS = 54.89

0
0 200 400 600 800100012001400160018002000

24

charge_dis 5.8,
Nent = 1176
Mean = 6856

RMS = 55.45

0
0 200 400 600 800100012001400160018002000

charge_dis_5_8 ]
Nent = 1176
Mean = 1017

RMS = 63.85

0
0 200 400 600 800100012001400160018002000

25

Charge_dis_5.6 ]
Nent=1176
Mean = 916

RMS = 56.95

0
0 200 400 600 800100012001400160018002000




22

20

18|

16|

14]

12]

10

charge_dis_5.9 |
Nent = 1176
Mean = 1018

RMS = 8191

0
0 200 400 600 800100012001400160018002000

40

35

30)

25

20]

15)

10

0

charge_dis 5.9,
Nent = 1176
Mean = 396

RMs = 2981

0 200 400 600 800100012001400160018002000

charge_dis_5_9 |
Nent = 1176
Mean = 762.4

RMS = 4059

0
0 200 400 600 800100012001400160018002000

charge_dis 5.9 ]
Nent = 1176
Mean = 6752

RMS = 5152

0
0 200 400 600 800100012001400160018002000

30

25

20

15)

10

Charge_dis_5.9.

Nent = 1176

Mean = 6102

RMS = 39.98

0

0 200 400 600 800100012001400160018002000

Charge_dis 5.9,

Nent = 1176

Mean = 1060

RMS = 7082

0
0 200 400 600 800100012001400160018002000

30|

25

20

15

10

0
0 200 400 600 800100012001400160018002000

charge_dis_5_9 |

Nent = 1176

Mean = 9306

RMS = 4723

Charge_dis_5.9 ]

Nent = 1176

Mean = 856

RMS = 6092

0
0 200 400 600 800100012001400160018002000

charge_dis_5.9 ]
Nent = 1176
Mean = 4785

RMS = 5098

0
0 200 400 600 800100012001400160018002000

Charge_dis 5.9,
Nent = 1176
Mean = 673.7

RMS = 431

0
0 200 400 600 800100012001400160018002000

25

20

15F

10

charge_dis_5_9 ]
Nent = 1176
Mean = 5683

RMS = 5195

0
0 200 400 600 800100012001400160018002000

1200

1000

800

600

400~

charge_dis_5.9 ]
Nent = 1176
Mean = 0

RMS = -0

o FETE FUTE FATE FATY FERY FARY FATA FUTEATRA AT

0 200 400 600 800100012001400160018002000

500

400

300

200

100

charge_dis_5.9 ]
Nent = 1176
Mean = 5581

RMS = 1.481

0

0 200 400 600 800100012001400160018002000

25

charge_dis 5.9,
Nent = 1176
Mean = 7916

RMS = 54.49

0
0 200 400 600 800100012001400160018002000

charge_dis_5_9 ]
Nent = 1176
Mean = 1048

RMS = 62.89

0
0 200 400 600 800100012001400160018002000

charge_dis 5.9 ]
Nent=1176
Mean = 790.6

RMS = 56.75

0
0 200 400 600 800100012001400160018002000




Nent = 1176

Mean = 643.2

RMS = 5368

charge_dis_5_10)

0
0 200 400 600 800100012001400160018002000

Nent = 1176

Mean = 950.8

RMs = 4591

Charge_dis_5_10)

0
0 200 400 600 800100012001400160018002000

Nent = 1176

35

Mean = 298.8

RMS = 38.93

charge_dis_5_10)

0
0 200 400 600 800100012001400160018002000

Nent = 1176

Mean = 644.8

RMS = 3766

charge_dis_5_10)

0
0 200 400 600 800100012001400160018002000

Charge_dis_5_10]

Nent = 1176

351

30

251

20

15

10

Mean = 432.1

RMS = 3513

LI...I...I...I...I...I...I...

200 400 600 800100012001400160018002000

Charge_dis_5_10)

Nent = 1176

30

Mean = 5805

RMS = 3728

200 400 600 800100012001400160018002000

charge_dis_5_10]

Nent = 1176
Mean = 4075
RMS = 3688
30
251
20
151
10
.
oL i bW b b banabes bonn bialasy
0 200 400 600 800100012001400160018002000

charge_dis_5_10j43

Nent = 1176

351

Mean = 4972

RMS = 36.83

0
0 200 400 600 800100012001400160018002000

charge_dis_5_10)

Nent = 1176

Mean = 5927

RMS = 5221

25

o2

200 400 600 800100012001400160018002000

charge_dis_5_10)

Nent = 1176

Mean = 9369

RMS = 7632

200 400 600 800100012001400160018002000

Nent = 1176

Mean = 570.1

RMS = 5055

200 400 600 800100012001400160018002000

charge_dis_5_10j44

Nent = 1176

Mean = 6153

RMS = 45.11

0
0 200 400 600 800100012001400160018002000

charge_dis_5_10j40

35

30|

25

20|

15

10

charge_dis_5_10)

Nent = 1176

Mean = 503.9

RMS = 36.85

0

0 200 400 600 800100012001400160018002000

1200

1000

800

600

400

200

charge_dis_5_10)

0

Nent = 1176
C Mean = 0
RMS = 0

0 200 400 600 800100012001400160018002000

charge_dis_5_10)

Nent = 1176

30|

25

20|

15)

10

[

Mean = 3586

RMS = 3957

0 200 400 600 800100012001400160018002000

charge_dis_5_10]

Nent=1176

25

Mean = 960.2

RMS = 60.83

0
0 200 400 600 800100012001400160018002000



charge_dis_5_11]

Nent = 1176

30F

o2

Mean = 978.1

RMS = 49.42

200 400 600 800100012001400160018002000

Charge_dis_5_11]

Nent = 1176

Mean = 1321

RMS = 69.21

200 400 600 800100012001400160018002000

charge_dis_5_11]

Nent = 1176

351

30

251

20

151

10

Mean = 548

RMs = 39.82

0 200 400 600 800100012001400160018002000

harge_

charge_dis_5_11]

Nent = 1176

22F

18

14

121

Mean = 1069

RMS = 60.05

0
0 200 400 600 800100012001400160018002000

Charge_dis_5_11]

Nent = 1176

Mean = 828.1

RMS = 4737

0
0 200 400 600 800100012001400160018002000

Charge_dis_5_11]

Nent = 1176

Mean = 1216

RMS = 5932

0
0 200 400 600 800100012001400160018002000

charge_dis_5_11]

Nent = 1176

Mean = 6426

RMS = 4066

0
0 200 400 600 800100012001400160018002000

charge_dis_5_11j43

Nent = 1176

Mean = 8842

RMS = 47.84

0
0 200 400 600 800100012001400160018002000

charge_dis_5_11]

Nent = 1176

Mean = 1204

22F

RMS = 68.54

20

16

12

0
0 200 400 600 800100012001400160018002000

charge_dis_5_11]

Nent = 1176

2 Mean = 9656

RMS = 6115

0
0 200 400 600 800100012001400160018002000

charge_dis_5_11]

Nent = 1176

Mean = 882.1

RMS = 49.97

0)
0 200 400 600 800100012001400160018002000

charge_dis_5_11]

Nent = 1176

Mean = 7118

RMS = 45.94

0
0 200 400 600 800100012001400160018002000

charge_dis_5_11]

Nent = 1176

o2

Mean = 1218

RMS = 5176

200 400 600 800100012001400160018002000

charge_dis_5_11]

Nent = 1176

25

o2

Mean = 1058

RMS = 6552

200 400 600 800100012001400160018002000

charge_dis_5_11]

Nent = 1176

Mean = 947

RMS = 7012

200 400 600 800100012001400160018002000

Ccharge_dis_5_11]

Nent=1176

0
0

Mean = 7582

RMS = 5209

200 400 600 800100012001400160018002000




charge_dis_5_12)

Nent = 1176

30

o2

Mean = 8212

RMS = 5313

200 400 600 800100012001400160018002000

charge_dis_5_12]

Nent = 1176

30F

o2

Mean = 6832

RMs = 47.81

200 400 600 800100012001400160018002000

charge_dis_5_12)

Nent = 1176

30F

o2

Mean = 1016

RMS = 5539

200 400 600 800100012001400160018002000

charge_dis_5_12]

Nent = 1176

0
0

Mean = 9208

RMS = 557

200 400 600 800100012001400160018002000

Charge_dis_5_12]

Nent = 1176

25

20

0

harge_dis_5_12 5

L

Mean = 648.7

RMS = 47.49

200 400 600 800100012001400160018002000

Charge_dis_5_12]

Nent = 1176

1000 Mean = 853
Rus = 1774

800

600

400

2001

| IR R R AN

0
0

200 400 600 800100012001400160018002000

charge_dis_5_12]

Nent = 1176

Mean = 6785

RMS = 69.58

200 400 600 800100012001400160018002000

Charge_dis_5_12]

Nent = 1176

140},

120

100

80H

60

40

20

Mean = 76.13

RMS = 69

0
0

200 400 600 800100012001400160018002000

charge_dis_5_12]

Nent = 1176

25

o2

Mean = 1106

RMS = 56.89

200 400 600 800100012001400160018002000

charge_dis_5_12]

Nent = 1176
Mean = 8411
25k RMS = 503
20
15
10F
s
0
0 200 400 600 800100012001400160018002000

charge_dis_5_12]

Nent = 1176

Mean = 659.4

RMS = 3255

200 400 600 800100012001400160018002000

charge_dis_5_12]

Nent = 1176

0
0

Mean = 8273

RMS = 47.48

200 400 600 800100012001400160018002000

220

200

180

160

140

120

100

80|

60|

40,

20

charge_dis_5_12]

Nent = 1176

Mean = 48.48

RMS = 176

[

0 200 400 600 800100012001400160018002000

35

30|

25)

20|

15

10

charge_dis_5_12]

Nent = 1176

Mean = 496.7

RMS = 36.76

0

0 200 400 600 800100012001400160018002000

charge_dis_5_12)

Nent = 1176
00 Mean = 68.78
RMS = 5619
180
160
140
120
100

80

60

40

20|

0 200 400 600 800100012001400160018002000

30

25

20|

15

10|

Ccharge_dis_5_12]

Nent=1176

Mean = 5545

RMS = 40.45

0

0 200 400 600 800100012001400160018002000



charge_dis_5_13)

Nent = 1176

25

o2

Mean = 1097

RMSs = 57.82

200 400 600 800100012001400160018002000

Charge_dis_5_13)

Nent = 1176

Mean = 9255

RMs = 5952

200 400 600 800100012001400160018002000

charge_dis_5_13)

Nent = 1176

251

o2

Mean = 1409

RMS = 6551

200 400 600 800100012001400160018002000

charge_dis_5_13)

Nent = 1176

22F

20

18

16

14

121

10

Mean = 1176

RMS = 6651

0
0 200 400 600 800100012001400160018002000

Charge_dis_5_13]

Nent = 1176

351

Mean = 1099

RMS = 4974

200 400 600 800100012001400160018002000

Charge_dis_5_13)

Nent = 1176

25

0
0

Mean = 1057

RMS = 5752

200 400 600 800100012001400160018002000

charge_dis_5_13]

Nent = 1176

20

Mean = 1636

RMS = 7232

200 400 600 800100012001400160018002000

charge_dis_5_13j3

Nent = 1176

Mean = 9082

RMS = 5027

0
0 200 400 600 800100012001400160018002000

charge_dis_5_13)

Nent = 1176

0
0

Mean = 6506

RMS = 5637

200 400 600 800100012001400160018002000

Charge_dis_5_13)

Nent = 1176

20

Mean = 1019

RMS = 6135

200 400 600 800100012001400160018002000

charge_dis_5_13)

Nent = 1176

Mean = 855.9

RMS = 5115

200 400 600 800100012001400160018002000

charge_dis_5_13]

Nent = 1176

35

30

251

20

151

10

Mean = 639.3

RMS = 36.41

0
0 200 400 600 800100012001400160018002000

charge_dis_5_13)

Nent = 1176
Mean = 4338
RMS = 3146

351

30

251

20

15

10

i i

G...In [ I Y Y T I P

0 200 400 600 800100012001400160018002000

charge_dis_5_13]

Nent = 1176

0
0

Mean = 769.5

RMS = 5221

200 400 600 800100012001400160018002000

charge_dis_5_13)

Nent = 1176

200 400

Mean = 7126

RMS = 4121

600 800100012001400160018002000

Ccharge_dis_5_13]

Nent=1176

22F

Mean = 9614

RMS = 56.78

0
0 200 400 600 800100012001400160018002000




30

251

1or

5

charge_dis_5_14)
Nent = 1176
Mean = 584.3

RMS = 37.49

0

0 200 400 600 800100012001400160018002000

Charge_dis_5_14]
Nent = 1176
Mean = 880.1

RMS = 62.47

0
0 200 400 600 800100012001400160018002000

charge_dis_5_14)
Nent = 1176
Mean = 732.7

RMS = 4769

0
0 200 400 600 800100012001400160018002000

charge_dis_5_14]

Nent = 1176

Mean = 7528

RMs = 48.74

0
0 200 400 600 800100012001400160018002000

Charge_dis_5_14]
Nent = 1176
Mean = 838.2

RMS = 4613

0
0 200 400 600 800100012001400160018002000

30|

Charge_dis_5_14]
Nent = 1176
Mean = 706.6

RMS = 4918

0
0 200 400 600 800100012001400160018002000

30

25

20

15]

10

0

charge_dis_5_14]
Nent = 1176
Mean = 834.7

RMS = 4405

0 200 400 600 800100012001400160018002000

25

20

15

10

0

charge_dis_5_14j43
Nent = 1176
Mean = 917.9

RMS = 5221

0 200 400 600 800100012001400160018002000

30

251

151

1o

charge_dis_5_14]
Nent = 1176
Mean = 5236

RMS = 37.96

0
0 200 400 600 800100012001400160018002000

charge_dis_5_14]
Nent = 1176
Mean = 786.2

RMS = 4093

0
0 200 400 600 800100012001400160018002000

25

charge_dis_5_14)

Nent = 1176
Mean = 694.1
RMS = 5059

0)
0 200 400 600 800100012001400160018002000

charge_dis_5_14)
Nent = 1176
Mean = 1047

RMS = 58.18

0
0 200 400 600 800100012001400160018002000

charge_dis_5_14)
Nent = 1176
Mean = 753

RMS = 56.82

0
0 200 400 600 800100012001400160018002000

25

charge_dis_5_14]
Nent = 1176
Mean = 1109

RMS = 58.19

0
0 200 400 600 800100012001400160018002000

30F

charge_dis_5_14)
Nent = 1176
Mean = 7617

RMS = 50.49

0
0 200 400 600 800100012001400160018002000

charge_dis_5_14]
Nent=1176
Mean = 1269

RMS = 6167

0
0 200 400 600 800100012001400160018002000




Nent = 1176

25

o2

Mean = 1057

RMS = 56.32

charge_dis_5_15)

200 400 600 800100012001400160018002000

Charge_dis_5_15)

Nent = 1176

30)

Mean = 773.4

RMs = 434

200 400 600 800100012001400160018002000

charge_dis_5_15)

Nent = 1176

o2

Mean = 1547

RMS = 59.44

200 400 600 800100012001400160018002000

0
0 200 400 600 800100012001400160018002000

charge_dis_5_15)
Nent = 1176
Mean = 7856

RMS = 42.42

Nent = 1176

Mean = 1336

RMS = 57.8

Charge_dis_5_15)

200 400 600 800100012001400160018002000

Nent = 1176

Mean = 7225

RMS = 4109

Charge_dis_5_15)

200 400 600 800100012001400160018002000

charge_dis_5_15]

Nent = 1176

o2

Mean = 1384

RMS = 5017

200 400 600 800100012001400160018002000

Nent = 1176

251

20

15

10

0 vl e Ll

Mean = 8285

RMS = 49.97

charge_dis_5_15[43

0 200 400 600 800100012001400160018002000

charge_dis_5_15)

Nent = 1176

30)

25|

20]

15

10

Mean = 673.9

RMS = 37.72

200 400 600 800100012001400160018002000

Charge_dis_5_15)

Nent = 1176

25~

o<

Mean = 8978

RMS = 53.73

200 400 600 800100012001400160018002000

charge_dis_5_15)

Nent = 1176

Mean = 1142

RMS = 5558

200 400 600 800100012001400160018002000

0
0 200 400 600 800100012001400160018002000

charge_dis_5_15[d4

Nent = 1176
Mean = 938.1

RMS = 42.85

charge_dis_5_15)

Nent = 1176

18

16

141

12

10

0
0 200 400 600 800100012001400160018002000

Mean = 1234

RMS = 69.56

charge_dis_5_15)

Nent = 1176

351

30

25

20

15

10

obnli B Mo bl bbbl

Mean = 5142

RMS = 36.41

0 200 400 600 800100012001400160018002000

charge_dis_5_15[1

Nent = 1176

251

0
0 200 400 600 800100012001400160018002000

Mean = 1272

RMS = 59.46

30

0
0 200 400 600 800100012001400160018002000

Ccharge_dis_5_15[45
Nent=1176
Mean = 770.1

RMS = 46.97




charge_dis_6.0.

Nent = 1176

Mean = 769.6

RMSs = 47.22

0
0 200 400 600 800100012001400160018002000

40

35

30

25)

20

15

10

0

charge_dis 6.0,

Nent = 1176

Mean = 575.9

RMS = 28.18

0 200 400 600 800100012001400160018002000

charge_dis_6_0 ]

Nent = 1176

Mean = 776.8

RMs = 5272

0
0 200 400 600 800100012001400160018002000

30

25

20]

15

10

charge_dis_6.0.

Nent = 1176

Mean = 903.1

RMS = 4389

0

0 200 400 600 800100012001400160018002000

22,

20

18,

16

14

12|

10

2

Charge_dis_6_0.

Nent = 1176

J

Mean = 927.2

RMS = 5203

0

0 200 400 600 800100012001400160018002000

Charge_dis 6.0,

Nent = 1176

Mean = 8185

RMS = 496

0
0 200 400 600 800100012001400160018002000

25

charge_dis_6_0 ]

Nent = 1176

Mean = 1012

RMS = 60.09

0
0 200 400 600 800100012001400160018002000

Charge_dis_6.0]

Nent = 1176

Mean = 1052

RMS = 48.43

0
0 200 400 600 800100012001400160018002000

45|

40

35

30|

25|

20)

15]

10]

charge_dis_6.0 ]
Nent = 1176
Mean = 4476

RMS = 3075

0

0 200 400 600 800100012001400160018002000

25|

charge_dis 6.0,
Nent = 1176
Mean = 1164

RMS = 58.19

0
0 200 400 600 800100012001400160018002000

30)

charge_dis_6_0 ]
Nent = 1176
Mean = 5544

RMS = 4356

0)
0 200 400 600 800100012001400160018002000

charge_dis_6.0 ]
Nent = 1176
Mean = 833.1

RMS = 47.32

0
0 200 400 600 800100012001400160018002000

25

o2

charge_dis_6_0 ]
Nent = 1176
Mean = 909.3

RMS = 4871

200 400 600 800100012001400160018002000

0
0

charge_dis 6.0,
Nent = 1176
Mean = 1063

RMS = 53

200 400 600 800100012001400160018002000

30F

charge_dis_6_0]
Nent = 1176
Mean = 732.1

RMS = 413

200 400 600 800100012001400160018002000

351

251

20

10

charge_dis_6.0 ]
Nent=1176
Mean = 578.1

RMS = 3129

Ld.n_n_n.l.n.n_d.n_n_d.n_n.n_l.n_n_d.n.n_n.

bl Ll

0 200 400 600 800100012001400160018002000




charge_dis_6_1_] charge_dis_6_1_] charge_dis_6_1} Charge_dis_6_1_]
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
Mean = 764 Mean = 738.9 30F Mean = 902.7 Mean = 647.3
RMS = 4022 30 RMS = 4499 RMS = 4052 RMS = 4589
251
20
15
10
s
0 0 G||||||||||||||||||||||||||||||||||||| 0
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

Charge o 6.1 harge o 6.1 Charge a6 1 Tharge a5 1
Nent = 1176 Nent = 1176 Nent =1176 Nent = 1176
Vean = 047.1 Mean = 115 Mean = 1221 Vean = 8978
RS = 52,09 2k RMS = 5669 RMS = 6446 RMS = 4802
25
20
20
15
15
10
10
5 S
o .|_|.|_|.|.|.|.L|.|_|.L|.|.|j 0 o 0
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

charge_dis_6_1 ] charge_dis_6_1 ] charge_dis_6_1 ]

harge_dis_6_1_8 charge_dis_6_1_§

et = 1176 Nent = 1176 Nert = 1176 Nent = 1176
vean = 8123 Vean = 583 Wean = 7715 Vean = 708.1
351 RMS = 42.55 RMS = 57.1 30 RMS = 4351 RMS = 45.85

0)
200 400 600 800100012001400160018002000 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

charge_dis 6.1 ] Charge_dis_6_1 ] charge_dis_6_1 ] charge_dis_6_1.

et = 1176 Nent= 1176 Nemt= 1176 Nent = 1176
ean = 5565 Mean = 7505 Mean = 7605 Mean = 5673
ms = 3037 [R— RS = asgs —

35 sk

30F 2k

25F 3

20F l 20k

1sf 15k

10F 10F

s sk
AT A T A W AN A

0 0 0
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000




charge_dis_6_2 ]
Nent = 1176
Mean = 556.3
35k RMS = 3225
30
251
20
151
10
sk
0 | .It.l...l...l...l...l...I...
0 200 400 600 800100012001400160018002000

charge_dis 6.2
Nent = 1176
Mean = 561.1

30f RMS = 38.97

25

20

15

10

sk

sl ||l|||||||||||||||||||||||||

0
0 200 400 600 800100012001400160018002000

charge_dis_6_2 |

Nent = 1176

10F Mean = 4218
RMS = 3144

351

30

25

15

10

0
0 200 400 600 800100012001400160018002000

charge_dis_6_2.

Nent = 1176

Mean = 4895

351 RMS = 3368

30

25

0
0 200 400 600 800100012001400160018002000

Charge_dis_6_2.

Nent = 1176
Mean = 485.1
RMS = 3923

30

25

20

15

10

5k

0 PRI ETY (PP P I P P T e

0 200 400 600 800100012001400160018002000

Charge_dis_6.2.

Nent = 1176

Mean = 688.9

RMS = 4612

0
0 200 400 600 800100012001400160018002000

charge_dis_6_2 |

Nent = 1175

45E ean = 3938
s = s2a7

a0F

35f

30F

0
0 200 400 600 800100012001400160018002000

Charge_dis_6.2 ]

Nent = 1176

Mean = 4923

RMS = 3581

0
0 200 400 600 800100012001400160018002000

charge_dis_6.2.

Nent = 1176

Mean = 3719

RMS = 42.85

0
0 200 400 600 800100012001400160018002000

charge_dis_6.2.

Nent = 1176

Mean = 553.2

RMS = 37.96

0
0 200 400 600 800100012001400160018002000

charge_dis_6_2 ]

Nent = 1176

35 Mean = 4059
RMS = 37.06

30

25

10

RLITTI | A PN TN P P PR Feee e
0 200 400 600 800100012001400160018002000

charge_dis 6.2 ]

Nent = 1176

Mean = 519.4

RMS = 5261

0
0 200 400 600 800100012001400160018002000

charge_dis_6_2.

Nent = 1176

Mean = 924.8

RMS = 4853

0
0 200 400 600 800100012001400160018002000

25

charge_dis_6_2.

Nent = 1176

Mean = 840.9

RMS = 557

0
0 200 400 600 800100012001400160018002000

[

charge_dis_6_2 ]

Nent = 1176

Mean = 5755

RMS = 36.41

0 200 400 600 800100012001400160018002000

30

25

20|

15

10|

charge_dis_6_2.

Nent=1176

Mean = 490.1

RMS = 38.37

0

0 200 400 600 800100012001400160018002000



charge_dis_6_3.

Nent = 1176

Mean = 794.3

RMS = 6375

0
0 200 400 600 800100012001400160018002000

charge_dis 6.3,

Nent = 1176

Mean = 700.7

RMS = 48.19

0
0 200 400 600 800100012001400160018002000

35

30)

25

20]

15

10|

0

charge_dis_6_3 |

Nent = 1176

Mean = 477.4

RMS = 3244

0 200 400 600 800100012001400160018002000

30

25

20

15

10|

charge_dis_6.3.

Nent = 1176

Mean = 8165

RMS = 439

0
0 200 400 600 800100012001400160018002000

Charge_dis_6.3 ]
Nent = 1176
Mean = 706.6

RMS = 5096

0
0 200 400 600 800100012001400160018002000

Charge_dis 6.3,
Nent = 1176
Mean = 6175

RMS = 56.07

0
0 200 400 600 800100012001400160018002000

30|

charge_dis_6_3 |
Nent = 1176
Mean = 5312

RMS = 48.93

0
0 200 400 600 800100012001400160018002000

Charge_dis_6.3 ]
Nent = 1176
Mean = 8189

RMS = 55.06

0
0 200 400 600 800100012001400160018002000

charge_dis_6.3.

Nent = 1176

Mean = 628.7

P RMS = 47.22
20
151
10
5

0
0 200 400 600 800100012001400160018002000

charge_dis 6.3,

Nent = 1176

30
251

20

10

s

0

Mean = 7032

RMS = 42.68

0 200 400 600 800100012001400160018002000

charge_dis_6_3 |

Nent = 1176

30|

0)
0 200 400 600 800100012001400160018002000

Mean = 707

RMS = 49.46

charge_dis 6.3 |

Nent = 1176

Mean = 588.2

RMS = 46.94

0
0 200 400 600 800100012001400160018002000

charge_dis_6_3 ]
Nent = 1176
Mean = 652.1

RMS = 5555

0
0 200 400 600 800100012001400160018002000

25

20

15)

10

charge_dis 6.3,
Nent = 1176
Mean = 603.1

RMS = 419

0
0 200 400 600 800100012001400160018002000

30|

charge_dis_6_3 |
Nent = 1176
Mean = 6717

RMS = 47.16

0
0 200 400 600 800100012001400160018002000

charge_dis_6.3 ]
Nent=1176
Mean = 6542

RMS = 5364

0
0 200 400 600 800100012001400160018002000




charge_dis_6.4,

Nent = 1176

Mean = 986.3

25

RMs = 537

o2

200 400 600 800100012001400160018002000

charge_dis 6.4,

Nent = 1176

5| Mean = 1081

RMs = 87.92

o<

200 400 600 800100012001400160018002000

charge_dis_6_4 |

Nent = 1176

Mean = 1055

221

RMS = 63.05

200 400 600 800100012001400160018002000

charge_dis 6.4,

Nent = 1176

Mean = 949.8

RMS = 53.47

0
0 200 400 600 800100012001400160018002000

Charge_dis_6_4.

Nent = 1176

Mean = 642.1

RMS = 3363

30

251

10

sF
...I...I..JI.. | I T P P T
200 400 600 800100012001400160018002000

Charge_dis 6.4,

Nent = 1176

Mean = 989.4

RMS = 543

200 400 600 800100012001400160018002000

charge_dis_6_4 |

Nent= 1176
Mean = 7007
RMS = 30.68
35
30
25
20
15[
10
sk
obbunsless III“L.I.LA.I.A.LI.I.I_LI.A.I.LI.I.A.LA.I.A.
0 200 400 600 800100012001400160018002000

Charge_dis_6_4]

Nent = 1176

Mean = 1048

RMS = 56.67

0
0 200 400 600 800100012001400160018002000

charge_dis_6.4.

Nent = 1176

Mean = 926.9

RMS = 46.87

o2

200 400 600 800100012001400160018002000

charge_dis 6.4,

Nent = 1176

Mean = 893.2

RMS = 5098

0
0

200 400 600 800100012001400160018002000

charge_dis_6_4 ]

Nent = 1176

30F Mean = 633.7
RMS = 43

harge_dis_6_4_11

200 400 600 800100012001400160018002000

charge_dis_6.4 |

Nent = 1176

35F Mean = 664.4

RMS = 35.92

15

10

0
0 200 400 600 800100012001400160018002000

charge_dis_6_4,

Nent = 1176

Mean = 918

RMS = 47.41
25
20
15
10
sk

0
0 200 400 600 800100012001400160018002000

charge_dis 6.4,

Nent = 1176

Mean = 7262

RMS = 4022

251

20

10

O.u.l.Lu_l.Lu.lj

0 200 400 600 800100012001400160018002000

charge_dis_6_4 ]

Nent = 1176

Mean = 888.9

RMS = 5166

25

0
0

200 400 600 800100012001400160018002000

Charge_dis 6.4,

Nent=1176

Mean = 8739

RMS = 4865

0
0 200 400 600 800100012001400160018002000



30

o2

charge_dis_6.5.

Nent = 1176

Mean = 1243

RMS = 8105

200 400 600 800100012001400160018002000

charge_dis 6.5,
Nent = 1176
Mean = 1135

RMS = 59.48

200 400 600 800100012001400160018002000

charge_dis_6_5 |
Nent = 1176
Mean = 6346

RMs = 37.28

200 400 600 800100012001400160018002000

charge_dis_6.5 ]
Nent = 1176
Mean = 9129

RMS = 4331

0
0 200 400 600 800100012001400160018002000

0
0

Charge_dis_6.5.]
Nent = 1176
Mean = 666.6

RMS = 46.18

200 400 600 800100012001400160018002000

25

0
0

Charge_dis 6.5,
Nent = 1176
Mean = 1083

RMS = 5363

200 400 600 800100012001400160018002000

251

o2

charge_dis_6_5 |
Nent = 1176
Mean = 607.7

RMS = 4758

200 400 600 800100012001400160018002000

Charge_dis_6.5]
Nent = 1176
Mean = 9876

RMS = 56.37

0
0 200 400 600 800100012001400160018002000

30|

0
0

charge_dis_6.5 ]
Nent = 1176
Mean = 827.9

RMS = 47.43

200 400 600 800100012001400160018002000

charge_dis 6.5,
Nent = 1176
Mean = 1327

RMS = 8214

200 400 600 800100012001400160018002000

35|

30|

25|

20|

15]

10

charge_dis_6_5 |
Nent = 1176
Mean = 628.1

RMS = 36.42

200 400 600 800100012001400160018002000

charge_dis_6.5 |
Nent = 1176
Mean = 1099

RMS = 69.78

0
0 200 400 600 800100012001400160018002000

22,

25

o2

charge_dis_6.5 ]
Nent = 1176
Mean = 1250

RMS = 6751

200 400 600 800100012001400160018002000

charge_dis 6.5,
Nent = 1176
Mean = 1080

RMS = 59.83

200 400 600 800100012001400160018002000

20

charge_dis_6_5 ]
Nent = 1176
Mean = 1251

RMS = 63

200 400 600 800100012001400160018002000

Charge_dis_6.5 ]
Nent=1176
Mean = 1112

RMS = 7141

0
0 200 400 600 800100012001400160018002000




charge_dis_6.6.

Nent = 1176

Mean = 680.1

RMS = 5938

0
0 200 400 600 800100012001400160018002000

40

35

30)

25

20

15

10]

0

charge_dis 6.6,

Nent = 1176

Mean = 4445

RMSs = 2987

A

0 200 400 600 800100012001400160018002000

35

30)

25

20]

15

10|

0

charge_dis_6_6 |

Nent = 1176

Mean = 575.1

RMs = 3755

0 200 400 600 800100012001400160018002000

charge_dis_6.6.

Nent = 1176

Mean = 768.1

RMS = 56.44

0
0 200 400 600 800100012001400160018002000

Charge_dis_6_6.

Nent = 1176

Mean = 486.8

RMS = 3599

351

200 400 600 800100012001400160018002000

Charge_dis 6.6,

Nent = 1176

Mean = 496.1

RMS = 44.95

o2

200 400 600 800100012001400160018002000

charge_dis_6_6 ]

Nent = 1176

Mean = 5262

RMS = 4331

200 400 600 800100012001400160018002000

Charge_dis_6.6]

Nent = 1176

Mean = 399.4

RMS = 34.02

45

20F
35F
30F
25
20F
15
10F
sk

o

0 200 400 600 800100012001400160018002000

charge_dis_6.6.

Nent = 1176
Mean = 548.4
RMS = 4137
30
251
20
15
10F
5k
Cluulunl |||h|||||||||||||||||||||||||
0 200 400 600 800100012001400160018002000

Charge_dis 6.6,

Nent = 1176

35F Mean = 5147

RMS = 3489

200 400 600 800100012001400160018002000

charge_dis_6_6 |
Nent = 1176
Mean = 3987
351 RMS = 33.09
30
25
20
15
10
s
oLl i@ b b bbb bl
0 200 400 600 800100012001400160018002000

charge_dis_6.6 |

Nent = 1176

Mean = 676.2

RMS = 48.91

0
0 200 400 600 800100012001400160018002000

charge_dis_6.6.

Nent = 1176

30

Mean = 700.8

RMS = 47.72

200 400 600 800100012001400160018002000

charge_dis 6.6,

Nent = 1176

30

Mean = 8026

RMS = 5335

200 400 600 800100012001400160018002000

charge_dis_6_6 ]

Nent = 1176

Mean = 529.7

RMS = 37.78

200 400 600 800100012001400160018002000

charge_dis_6.6.

Nent=1176

30

0
0

Mean = 5719

RMS = 4956

200 400 600 800100012001400160018002000



35

30

25

20

151

charge_dis_6.7 |
Nent = 1176
Mean = 486.3

RMS = 3528

200 400 600 800100012001400160018002000

Charge_dis 6.7,
Nent = 1176
Mean = 1136

RMS = 6563

200 400 600 800100012001400160018002000

30

charge_dis_6_7 |
Nent = 1176
Mean = 5386

RMSs = 4172

200 400 600 800100012001400160018002000

charge_dis 6.7 ]
Nent = 1176
Mean = 779.4

RMS = 48.48

0
0 200 400 600 800100012001400160018002000

Charge_dis_6_7 ]
Nent = 1176
Mean = 500.2

RMS = 6262

200 400 600 800100012001400160018002000

30

Charge_dis 6.7,
Nent = 1176
Mean = 663.9

RMS = 403

200 400 600 800100012001400160018002000

20f

15

10

charge_dis_6_7 ]
Nent = 1176
Mean = 430.1

RMS = 383

200 400 600 800100012001400160018002000

30

251

15

101

ol ls

Charge_dis_6_7 ]
Nent = 1176
Mean = 6352

RMS = 4359

0 200 400 600 800100012001400160018002000

charge_dis_6.7 ]
Nent = 1176
Mean = 6078

RMS = 4428

200 400 600 800100012001400160018002000

charge_dis 6.7,
Nent = 1176
Mean = 5665

RMS = 35.07

200 400 600 800100012001400160018002000

o2

charge_dis_6_7 ]
Nent = 1176
Mean = 6214

RMS = 4632

200 400 600 800100012001400160018002000

charge_dis 6.7 ]
Nent = 1176
Mean = 7485

RMS = 5109

0
0 200 400 600 800100012001400160018002000

30|

o2

30|

35

20

charge_dis_6_7 ]
Nent = 1176
Mean = 5386

RMS = 43.37

200 400 600 800100012001400160018002000

charge_dis 6.7,
Nent = 1176
Mean = 568

RMS = 4431

200 400 600 800100012001400160018002000

charge_dis_6_7 ]
Nent = 1176
Mean = 535.3

RMS = 37.96

200 400 600 800100012001400160018002000

charge_dis 6.7 ]
Nent=1176
Mean = 883.4

RMS = 69.57

0
0 200 400 600 800100012001400160018002000




charge_dis_6.6. |
Nent = 1176
Mean = 848.4

RMS = 4875

200 400 600 800100012001400160018002000

30F

o2

charge_dis 6.6,
Nent = 1176
Mean = 939.2

RMS = 5132

200 400 600 800100012001400160018002000

251

o2

charge_dis_6_6 |
Nent = 1176
Mean = 880.2

RMS = 5483

200 400 600 800100012001400160018002000

charge_dis_6.6 ]
Nent = 1176
Mean = 8053

RMS = 5277

0
0 200 400 600 800100012001400160018002000

20

Charge_dis_6.6]
Nent = 1176
Mean = 1005

RMS = 7202

200 400 600 800100012001400160018002000

o2

Charge_dis 6.8,
Nent = 1176
Mean = 7792

RMS = 46.47

200 400 600 800100012001400160018002000

20

charge_dis_6_8 |
Nent = 1176
Mean = 9109

RMS = 7L4

200 400 600 800100012001400160018002000

Charge_dis_6.8 ]
Nent = 1176
Mean = 7726

RMS = 46.07

0
0 200 400 600 800100012001400160018002000

30|

charge_dis_6.5 |
Nent = 1176
Mean = 7036

RMS = 4431

200 400 600 800100012001400160018002000

charge_dis 6.6,
Nent = 1176
Mean = 668.1

RMS = 5016

200 400 600 800100012001400160018002000

25|

o2

charge_dis_6_6 |
Nent = 1176
Mean = 839.2

RMS = 5525

200 400 600 800100012001400160018002000

charge_dis_6.6 |
Nent = 1176
Mean = 707.2

RMS = 45.26

0
0 200 400 600 800100012001400160018002000

charge_dis_6.6 ]
Nent = 1176
Mean = 746.8

RMS = 56.22

200 400 600 800100012001400160018002000

25

o2

charge_dis 6.8,
Nent = 1176
Mean = 9416

RMS = 48.05

200 400 600 800100012001400160018002000

charge_dis_6_8 ]
Nent = 1176
Mean = 658.1

RMS = 44.28

200 400 600 800100012001400160018002000

25

charge_dis_6.6 ]
Nent=1176
Mean = 1000

RMS = 5631

0
0 200 400 600 800100012001400160018002000




charge_dis_6.9.

Nent = 1176

22F

Mean = 1253

RMS = 68.67

200 400 600 800100012001400160018002000

charge_dis 6.9,

Nent = 1176

Mean = 1107

RMs = 7581

200 400 600 800100012001400160018002000

charge_dis_6_9 |

Nent = 1176

25

o2

Mean = 1016

RMS = 7004

200 400 600 800100012001400160018002000

charge_dis 6.9 ]

Nent = 1176

25

15

0
0

Mean = 9703

RMS = 4931

200 400 600 800100012001400160018002000

Charge_dis_6_9.

Nent = 1176

Mean = 9305

RMS = 53.89

0
0

200 400 600 800100012001400160018002000

Charge_dis 6.9,

Nent = 1176

2 Vean = 1303

RMS = 7223

200 400 600 800100012001400160018002000

charge_dis_6_9 |

Nent = 1176

Mean = 589

RMS = 37.96

20F l

15

oblus bl
0 200 400 600 800100012001400160018002000

harge charge_dis_6_9 ]

Nent = 1176

Mean = 1231

22F

RMS = 6312

20

18

16

14

12

0
0 200 400 600 800100012001400160018002000

charge_dis_6.9.

Nent = 1176

Mean = 1014

RMS = 66.82

200 400 600 800100012001400160018002000

Charge_dis 6.9,

Nent = 1176

Mean = 954.4

RMS = 64.02

200 400 600 800100012001400160018002000

charge_dis_6_9 ]

Nent = 1176

Mean = 5543

30

RMS = 4245

200 400 600 800100012001400160018002000

charge_dis_6.9 ]

Nent = 1176

Mean = 807

RMS = 50.9

0
0 200 400 600 800100012001400160018002000

charge_dis_6.9.

Nent = 1176

Mean = 1015

RMS = 56.87

0
0

200 400 600 800100012001400160018002000

charge_dis 6.9,

Nent = 1176

Mean = 9167

RMS = 56.46

200 400 600 800100012001400160018002000

charge_dis_6_9 ]

Nent = 1176

Mean = 670.3

RMS = 4102

200 400 600 800100012001400160018002000

charge_dis 6.6,

Nent=1176

Mean = 918.7

RMS = 67.4

0
0 200 400 600 800100012001400160018002000




charge_dis_6_10)

Nent = 1176

o2

Mean = 582.9

RMS = 60.42

200 400 600 800100012001400160018002000

Charge_dis_6_10)

Nent = 1176

Mean = 663.4

RMs = 5751

200 400 600 800100012001400160018002000

charge_dis_6_10)

Nent = 1176
Mean = 4822

30l RS = 4167

251

20

15

10F

5k

ot M B bbbl bl

0 200 400 600 800100012001400160018002000

charge_dis_6_10)

Nent = 1176

0
0

Mean = 615.7

RMS = 6036

200 400 600 800100012001400160018002000

Charge_dis_6_10]

Nent = 1176

o2

Mean = 554.1

RMS = 54.44

200 400 600 800100012001400160018002000

Charge_dis_6_10)

Nent = 1176

Mean = 703.4

RMS = 67.01

200 400 600 800100012001400160018002000

charge_dis_6_10)

Nent = 1176

301

Mean = 527.8

RMS = 4624

200 400 600 800100012001400160018002000

charge_dis_6_10j43

Nent = 1176

0
0

Mean = 488

RMS = 4032

200 400 600 800100012001400160018002000

charge_dis_6_10)

Nent = 1176

25

0
0

Mean = 640.9

RMS = 52.72

200 400 600 800100012001400160018002000

charge_dis_6_10)

Nent = 1176

25

0
0

Mean = 5336

RMS = 67.15

200 400 600 800100012001400160018002000

charge_dis_6_10)

Nent = 1176

30|

Mean = 509.4

RMS = 4169

200 400 600 800100012001400160018002000

charge_dis_6_10)

Nent = 1176
1200F Mean = 0
RMS = -0
1000
800
600
400
200
O|||||||||||||||||||||||||||||||||||||||
0 200 400 600 800100012001400160018002000

charge_dis_6_10)

Nent = 1176

351

Mean = 550.6

RMS = 4691

200 400 600 800100012001400160018002000

charge_dis_6_10)

Nent = 1176

221

Mean = 517.4

RMS = 53.04

200 400 600 800100012001400160018002000

charge_dis_6_10)

Nent = 1176

30

Mean = 579.4

RMS = 48.12

200 400 600 800100012001400160018002000

charge_dis_6_10]

Nent=1176

0
0

Mean = 5026

RMS = 4429

200 400 600 800100012001400160018002000




charge_dis_6_11]

Nent = 1176

o2

Mean = 679.3

RMS = 5192

200 400 600 800100012001400160018002000

Charge_dis_6_11]

Nent = 1176

25

o2

Mean = 647.9

RMS = 59.84

200 400 600 800100012001400160018002000

charge_dis_6_11]
Nent = 1176
Mean = 593.3

RMs = 575

200 400 600 800100012001400160018002000

charge_dis_6_11]
Nent = 1176
Mean = 6706

RMS = 55.01

0
0 200 400 600 800100012001400160018002000

Charge_dis_6_11]
Nent = 1176
Mean = 667.3

RMS = 5831

0
0 200 400 600 800100012001400160018002000

25

Charge_dis_6_11]
Nent = 1176
Mean = 5972

RMS = 5107

0
0 200 400 600 800100012001400160018002000

charge_dis_6_11]
Nent = 1176
Mean = 613

RMS = 56.44

0
0 200 400 600 800100012001400160018002000

charge_dis_6_11j43

Nent = 1176

Mean = 6789

RMS = 57.77

0
0 200 400 600 800100012001400160018002000

o2

22|

charge_dis_6_11]

Nent = 1176

Mean = 589.4

RMS = 46.49

200 400 600 800100012001400160018002000

charge_dis_6_11]

Nent = 1176

Mean = 6116

RMS = 68.01

200 400 600 800100012001400160018002000

charge_dis_6_11[40

Nent = 1176

o2

Mean = 429

RMS = 4659

200 400 600 800100012001400160018002000

charge_dis_6_11jg4

Nent = 1176

35|

30|

25|

20|

15]

10}

0)

Mean = 4276

RMS = 37.9

oo

0 200 400 600 800100012001400160018002000

charge_dis_6_11]

Nent = 1176

0
0

Mean = 685.9

RMS = 6059

200 400 600 800100012001400160018002000

221

charge_dis_6_11]
Nent = 1176
Mean = 1203

RMS = 66.75

200 400 600 800100012001400160018002000

o2

charge_dis_6_11]
Nent = 1176
Mean = 550.1

RMS = 49.81

200 400 600 800100012001400160018002000

charge_dis_6_11]
Nent=1176
Mean = 8663

RMS = 768

0
0 200 400 600 800100012001400160018002000




o2

charge_dis_6_12)
Nent = 1176
Mean = 449.2

RMS = 4559

200 400 600 800100012001400160018002000

25

20

151

10

0
0

charge_dis_6_12]
Nent = 1176
Mean = 4656

RMS = 43.74

200 400 600 800100012001400160018002000

25

o2

charge_dis_6_12)
Nent = 1176
Mean = 4715

RMSs = 53.32

200 400 600 800100012001400160018002000

charge_dis_6_12]

Nent = 1176

Mean = 5203

RMS = 57.02

0
0 200 400 600 800100012001400160018002000

Charge_dis_6_12]
Nent = 1176
Mean = 575.4

RMS = 4532

0
0 200 400 600 800100012001400160018002000

Charge_dis_6_12]
Nent = 1176
Mean = 5206

RMS = 5368

0
0 200 400 600 800100012001400160018002000

351

30

251

20

charge_dis_6_12]
Nent = 1176
Mean = 236.1

RMS = 3418

obullubibens i binbanabens bonnbinalasy

0 200 400 600 800100012001400160018002000

charge_dis_6_12j43
Nent = 1176
Mean = 4605

RMS = 4771

0
0 200 400 600 800100012001400160018002000

charge_dis_6_12]
Nent = 1176
Mean = 513.1

RMS = 56.43

0
0 200 400 600 800100012001400160018002000

charge_dis_6_12]
Nent = 1176
Mean = 4046

RMS = 58.87

0
0 200 400 600 800100012001400160018002000

charge_dis_6_12]
Nent = 1176
Mean = 3589

RMS = 46.85

0
0 200 400 600 800100012001400160018002000

charge_dis_6_12]
Nent = 1176
Mean = 458.4

RMS = 59.21

0
0 200 400 600 800100012001400160018002000

25

o2

charge_dis_6_12]
Nent = 1176
Mean = 3855

RMS = 5433

200 400 600 800100012001400160018002000

charge_dis_6_12]
Nent = 1176
Mean = 436.9

RMS = 59.17

200 400 600 800100012001400160018002000

30

charge_dis_6_12)
Nent = 1176
Mean = 349.1

RMS = 37.86

200 400 600 800100012001400160018002000

20

charge_dis_6_12]
Nent=1176
Mean = 537.6

RMS = 69.14

0
0 200 400 600 800100012001400160018002000




charge_dis_6_13)

Nent = 1176

30F

o2

Mean = 704.9

RMS = 4785

200 400 600 800100012001400160018002000

Charge_dis_6_13)

Nent = 1176

20

Mean = 747.4

RMS = 69.95

200 400 600 800100012001400160018002000

charge_dis_6_13)

Nent = 1176

221

Mean = 833.1

RMS = 65.66

200 400 600 800100012001400160018002000

charge_dis_6_13)

Nent = 1176

0
0

Mean = 738.4

RMS = 64.21

200 400 600 800100012001400160018002000

Charge_dis_6_13]

Nent = 1176

22

Mean = 712

RMS = 64.99

200 400 600 800100012001400160018002000

Charge_dis_6_13)

Nent = 1176

221

Mean = 38458

RMS = 562

200 400 600 800100012001400160018002000

charge_dis_6_13)

Nent = 1176

251

o2

Mean = 697.4

RMS = 6374

200 400 600 800100012001400160018002000

charge_dis_6_13j43

Nent = 1176

0
0

Mean = 4055

RMS = 57.1

200 400 600 800100012001400160018002000

charge_dis_6_13]

Nent = 1176

25

0
0

Mean = 5455

RMS = 5235

200 400 600 800100012001400160018002000

charge_dis_6_13)

Nent = 1176

30)

Mean = 4784

RMS = 42.84

200 400 600 800100012001400160018002000

charge_dis_6_13)

Nent = 1176

25

o2

Mean = 4427

RMS = 5189

200 400 600 800100012001400160018002000

charge_dis_6_13)

Nent = 1176

0
0

Mean = 750

RMS = 703

200 400 600 800100012001400160018002000

charge_dis_6_13)

Nent = 1176

Mean = 954

RMS = 59.48

0 200 400 600 800100012001400160018002000

charge_dis_6_13]

Nent = 1176

Mean = 450.3

RMS = 52.41

o2

200 400 600 800100012001400160018002000

charge_dis_6_13)

Nent = 1176

Mean = 5485

RMS = 6182

200 400 600 800100012001400160018002000

charge_dis_6_13)

Nent=1176

Mean = 5514

RMS = 49.42

0
0 200 400 600 800100012001400160018002000




charge_dis_6_14)

Nent = 1176

Mean = 305.8

RMS = 55.21

0
0 200 400 600 800100012001400160018002000

Charge_dis_6_14]

Nent = 1176

Mean = 2048

RMS = 5201

0
0 200 400 600 800100012001400160018002000

charge_dis_6_14)

Nent = 1176

Mean = 278

RMSs = 5212

25

0
0 200 400 600 800100012001400160018002000

charge_dis_6_14]

Nent = 1176

Mean = 2088

RMS = 47.47

0
0 200 400 600 800100012001400160018002000

351

30

Charge_dis_6_14]
Nent = 1176
Mean = 2124

RMS = 349

135

0 200 400 600 800100012001400160018002000

harge_dis_6_14_5

Charge_dis_6_14]
Nent = 1176
Mean = 2378

RMS = 3737

200 400 600 800100012001400160018002000

251

o2

charge_dis_6_14]
Nent = 1176
Mean = 282.1

RMS = 5439

200 400 600 800100012001400160018002000

charge_dis_6_14j43
Nent = 1176
Mean = 243

RMS = 4291

0
0 200 400 600 800100012001400160018002000

ean = 2001
251 RMS = 47.44
20|
15
10
s
P T [ Y IO R Y Y PR PP

0 200 400 600 800100012001400160018002000

charge_dis_6_14]

Nent = 1176

30F Mean = 327

RMS = 53.07

0
0 200 400 600 800100012001400160018002000

charge_dis_6_14)

Nent = 1176

S Mean = 364.2

RMS = 68.63

0)
0 200 400 600 800100012001400160018002000

charge_dis_6_14)

Nent = 1176

Mean = 258

RMS = 5313

0
0 200 400 600 800100012001400160018002000

charge_dis_6_14)

Nent = 1176

25

o2

Mean = 238

RMS = 56.83

200 400 600 800100012001400160018002000

charge_dis_6_14]

Nent = 1176

25

0
0

Mean = 289.4

RMS = 56.24

200 400 600 800100012001400160018002000

charge_dis_6_14)

Nent = 1176

251

Mean = 250.8

RMS = 49.42

200 400 600 800100012001400160018002000

Ccharge_dis_6_14]

Nent=1176

0
0

Mean = 234.1

RMS = 44.86

200 400 600 800100012001400160018002000




charge_dis_6_15)

Nent = 1176

Mean = 435.9

RMS = 6179

200 400 600 800100012001400160018002000

Charge_dis_6_15)

Nent = 1176

Mean = 3906

RMS = 596

200 400 600 800100012001400160018002000

charge_dis_6_15)

Nent = 1176

20

Mean = 320.1

RMS = 6835

200 400 600 800100012001400160018002000

0
0 200 400 600 800100012001400160018002000

charge_dis_6_15)

Nent = 1176
Mean = 359.9

RMS = 5124

25

Charge_dis_6_15)

Nent = 1176

0
0

Mean = 318.7

RMS = 48.83

200 400 600 800100012001400160018002000

Charge_dis_6_15)

Nent = 1176

25

o2

Mean = 2925

RMS = 45.02

200 400 600 800100012001400160018002000

charge_dis_6_15]

Nent = 1176

o2

Mean = 3386

RMS = 5424

200 400 600 800100012001400160018002000

charge_dis_6_15j43

Nent = 1176

0
0 200 400 600 800100012001400160018002000

Mean = 3152

RMS = 5008

charge_dis_6_15)

Nent = 1176

15

10

A S—

Mean = 2863

RMS = 3929

0 200 400 600 800100012001400160018002000

charge_dis_6_15)

Nent = 1176

0
0 200 400 600 800100012001400160018002000

Mean = 3407

RMS = 49.05

Nent = 1176

0)
0 200 400 600 800100012001400160018002000

Mean = 5527

RMS = 5374

0
0 200 400 600 800100012001400160018002000

charge_dis_6_15[4
Nent = 1176
Mean = 387.1

RMS = 57.16

charge_dis_6_15[40

0
0 200 400 600 800100012001400160018002000

30|

25)

20

15

10|

charge_dis_6_15)

Nent = 1176

Mean = 2762

RMS = 54.07

charge_dis_6_15)

Nent = 1176

olud

Mean = 2653

RMS = 375

0 200 400 600 800100012001400160018002000

charge_dis_6_15[41

Nent = 1176

25

0
0 200 400 600 800100012001400160018002000

Mean = 3259

RMS = 55.75

25

0
0 200 400 600 800100012001400160018002000

charge_dis_6_15[45
Nent=1176
Mean = 420.1

RMS = 6725




charge_dis_7_0.

Nent = 1176

Mean = 372.4

451

RMS = 2453

30

25

20

15F

10

obralu .IL.I...I...I...I...I...I...I...
0 200 400 600 800100012001400160018002000

charge_dis 7.0,

Nent = 1176

35F Vean = 48
s = 37.53

30

25

20

15

10

sk

ol lid IIIL.I.I_LI_I.I.LI.I_I.LI.I.I.LI.I.I_LI_I.I.LI.I_I.

0 200 400 600 800100012001400160018002000

charge_dis_7_0 ]

[P——
ean = 2077
s - 224

50

4o

30

20

10

IL.I...I...I...I...I...I...I...I...

0 200 400 600 800100012001400160018002000

charge_dis_7_0.

Nent = 1176

Mean = 416.9

RMS = 39.49
30
251
20
15
10
5

0
0 200 400 600 800100012001400160018002000

Nent = 1176

Mean = 4828

RMS = 3073

351

Charge_dis_7_0.

20

15

10

[GLISTT T PR [N P Y P PSP

0 200 400 600 800100012001400160018002000

Charge_dis_7_0,

Nent = 1176
Wean = 3%0

sof- s = 2411

a0

30F

20F

10F

olinly |L.|...|...|...|...|...|...|...

0 200 400 600 800100012001400160018002000

charge_dis_7_0_]

Nent = 1176
Mean = 387
RMS = 2976

40

35

0
0 200 400 600 800100012001400160018002000

Nent = 1176

351 Mean = 350.7

RMS = 3391

Charge_dis_7_0]

15

10

oll |||“||||||||||||||||||||||||||||||
0 200 400 600 800100012001400160018002000

Trarge a7 0]
Nent = 1176
ean = 4225

40f RMS = 29.35

35F

30F

25F

20

15

10F

sf

PLPPTI T AT O PO FO IOY TO TP

0 200 400 600 800100012001400160018002000

herge a7
Nent = 1176
Mean = 411.2
RuS = 4857

25

20f

15f

10f

sk

LTI (I I AP I A P Y B PO

0 200 400 600 800100012001400160018002000

charge_dis_7_0 ]

Nent = 1176

20F Mean = 3633
RMS = 3459

351

25

15

10

RLTTIE UL T PN TR P P P R e

0 200 400 600 800100012001400160018002000

charge_dis_7_0 ]

Nent = 1176
Mean = 208
RMS = 2621

40

301~

20

10

o ||‘||L|||||||||||||||||||||||||||||||||

0 200 400 600 800100012001400160018002000

Charge_dis_7_0_]
Nent = 1176
Mean = 330.1

30k RMS = 4182

251

20

15F

10

5

0
0 200 400 600 800100012001400160018002000

charge_dis_7_0.

Nent = 1176

10F Mean = 599.1

RMS = 33.94

30

251

sk

0 |||I|||I|}|I| M FET1 RTR FETE FRTI RAT1 AT
0 200 400 600 800100012001400160018002000

Nent = 1176

Mean = 374.1

RMS = 5199

25

charge_dis_7_0]

0
0 200 400 600 800100012001400160018002000

charge_dis_7_0.

Nent=1176

Mean = 4755

RMS = 4216

0
0 200 400 600 800100012001400160018002000



30|

o2

35

o2

30

25

20]

15)

10|

0

charge_dis_7_1.

Nent = 1176

Mean = 697.1

RMS = 49.1

200 400 600 800100012001400160018002000

charge_dis 7.1,

Nent = 1176

Mean = 4365

RMs = 302

200 400 600 800100012001400160018002000

charge_dis_7_1 |

Nent = 1176

Mean = 623.3

RMS = 4659

200 400 600 800100012001400160018002000

charge_dis_7_1.

Nent = 1176

Mean = 4045

RMS = 4229

0 200 400 600 800100012001400160018002000

Charge_dis_7_1.

Nent = 1176
Mean = 530.7
RMS = 39.88
30
25
20
15
10
5k
0 PR Y (P T P e I
0 200 400 600 800100012001400160018002000

Charge_dis_7_1.

Nent = 1176

Mean = 1002

RMS = 525

25

o2

200 400 600 800100012001400160018002000

charge_dis_7_1 ]

Nent = 1176

45F Mean = 459.3
RMS = 32

30

25F

20

sF
||||||J|| | IFN PPN T NUTE FETE TR AT
200 400 600 800100012001400160018002000

Charge_dis_7_1 ]

Nent = 1176

Mean = 626.7

RMS = 4614

0
0 200 400 600 800100012001400160018002000

charge_dis_7_1.

Nent = 1176

Mean = 325.1

RMS = 2673

s

[o|SETAT SUL PP T PR I P P e e

0 200 400 600 800100012001400160018002000

Charge_dis_7_1.

Nent = 1176

Mean = 3268

RMS = 278

40

351

25
20
15

10

O_u.n_lJ-- sbo b bbb bl

0 200 400 600 800100012001400160018002000

charge_dis_7_1 ]

Nent = 1176

Mean = 269.2

RMS = 26.04

451

40

35

30

25

20

15

10F

[LSETE P NIETY FTY FTRE FUT PR PETe Fewd pen

0 200 400 600 800100012001400160018002000

charge_dis_7_1 ]

Nent = 1176
Mean = 411.4
RMS = 39.53

30

251

20

15F

10F

5

0 s LG L BL b b b beaa binalea

0 200 400 600 800100012001400160018002000

charge_dis_7_1.

Nent = 1176

30F Mean = 555.6

RMS = 4379

o2

200 400 600 800100012001400160018002000

charge_dis_7_1

Nent = 1176

35F Mean = 650.7

RMS = 4539

200 400 600 800100012001400160018002000

Sharge a7 1]
Nent= 1176
Wean = 3708
40k s = 3416
3sF
30F
2s5F
20F
1sF
10F
sE
bl l.l W A T P T T TP
0 200 400 600 800100012001400160018002000

charge_dis_7_1.

Nent=1176

Mean = 3645

35

RMS = 34.02

0
0 200 400 600 800100012001400160018002000




charge_dis_7_2.

Nent = 1176
Mean = 295.8
RMS = 27.46

35

30

251

20

151

10

sk

ol by PP PETH PP FEEE NTTY FUTE Pl T

0 200 400 600 800100012001400160018002000

charge_dis 7.2,

Nent = 1176

40

35)

30]

25

20]

15)

10

Mean = 300.3

RMS = 3069

0
0 200 400 600 800100012001400160018002000

charge_dis_7_2 |

Nent = 1176

45

40

35

30]

25

20

15)

10|

Mean = 226.2

RMSs = 25.47

0
0 200 400 600 800100012001400160018002000

charge_dis_7_2.

Nent = 1176

1200

1000

800

600

400

200

Mean = 00119

RMS =0.1645

0

0 200 400 600 800100012001400160018002000

1200

1000

800

600

400

200

Charge_dis_7_2.

Nent = 1176
- Mean = 0
RMS = 0

0

0 200 400 600 800100012001400160018002000

35

30|

25

20

15

10

0

Charge_dis_7_2.

Nent = 1176

Mean = 2935

RMS = 3387

0 200 400 600 800100012001400160018002000

40

35

30|

25

20

15

10|

0

charge_dis_7_2 |

Nent = 1176

Mean = 252

RMS = 3088

0 200 400 600 800100012001400160018002000

Charge_dis_7_2 ]

Nent = 1176

35)

30|

25

20

15)

10|

0

Mean = 267.9

RMS = 3258

0 200 400 600 800100012001400160018002000

30|

25|

20)

15j

10

charge_dis_7_2.

Nent = 1176

F Mean = 287

RMS = 37.95

0

0 200 400 600 800100012001400160018002000

Ccharge_dis_7_2.

Nent = 1176

50| Mean = 2108
RMS = 2602

40

30

20

10F

0 |j|| bbb b b beaa biaaley

0 200 400 600 800100012001400160018002000

charge_dis_7_2 ]

Nent = 1176

40

35|

30)

25|

20|

15]

10

Mean = 2419

RMS = 26.09

0 200 400 600 800100012001400160018002000

charge_dis_7_2 ]

Nent = 1176

1200

1000

800

600

400

200

Mean = 0

RMS = -0

0

0 200 400 600 800100012001400160018002000

30)

45)

40

35)

30|

25

20

15

10

0
0

Charge_dis_7_2.

Nent = 1176

Mean = 229.2

RMS = 4438

200 400 600 800100012001400160018002000

charge_dis_7_2.

Nent = 1176

Mean = 8105

RMS = 2584

200 400 600 800100012001400160018002000

charge_dis_7_2 ]

Nent = 1176

Mean = 3249

RMS = 39.96

200 400 600 800100012001400160018002000

Ccharge_dis_7_2.

Nent=1176

40

35)

30

25

20|

15)

10|

0

]

Mean = 179.2

RMS = 3512

0 200 400 600 800100012001400160018002000




Charge 7.3 ] Charge dis_73.] Charge 73] Charge_dis_73]
Nent = 1176 Nent=1176 Nent= 1176 Nent = 1176
vean = 297.7 Vean = 2985 Mean = 3337 Mean = 3592
RMS = 32,53 RMS = 46.42 RMS = 37.62 40 RMS = 28.03
351 251
251 a5k
30
20 30
20
25
251
151
L 151
20| 2ok
151 10k 1ok 15
10F 10F
51 sk
5f sk
G.........I...I...I...I...I...I...I... G"I"' PN PETE Y T RPN FETE RTR Y AT o G"'I"[l
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

harge @73 ErrT e AT 3 arge a7 3
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
vean = 4309 Vean = 3106 Wean = 270.4 Mean = 2058
30F RMS = 35.92 35F RMS = 352 35 RMS = 3113 RMS = 3083
40F
30F
25 30 35
25k 25F
20
20 2o
15
15 15F
10F
10 10
sf sk sp
oln by |.L 0 FTY1 1P T I Y A Y Y IR O o
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

ErTTRTREY EETETREY o] EETTRER
et - 1176 Nent = 1176 Nent = 1176 Nent = 1176
vean = 1845 45E ean = 1716 ean = 1316 40F Vean = 298.6
50 RMS = 25.37 RMS = 26.39 RMS = 2219 RMS = 30.16
50F
a0 35k
40F L
35 40 30F
30F
25F
30f 2k 30f-
20F
20F
201 20f 15F
15F
oF 10F
10F 10
s5F sk
N N1 YT T T T PO PP TP P C.J.l|..|...|...|...|...|...|...|...|... ol b b e b L1, bl Ml b 0,
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160G18002000 0 200 400 600 800100012001400160G18002000 0 200 400 600 800100012001400160018002000

charge_dis_7_3 | Charge_dis_7_3 ] charge_dis_7_3 | charge_dis_7_3.

ent = 1176 Nent= 1476 Nent= 1176 Nent = 1376
sofF ean = 407 20F ean = 3053 wean = 4195 Vean = 317.4
s = 3126 s = 2930 RS = 1528 s = 3508
3sF
3sF
40 30
30F
25F
ok 2s5F
20F
20F
20 15k 1sf
10F 1o0p
10
5F 5F
RIPAIY 11, S PPPE PP IRT RPRL POTE IO IO bl PLPEY T OO TN P IO ETY POTA PP IO

0
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000



charge_dis_7_4,

Nent = 1176
Mean = 151
RMS = 2134

50

40

301

20

10

L .L..I...I...I...I...I...I...I...I...

0
0 200 400 600 800100012001400160018002000

charge_dis 7.4,

Nent = 1176

Mean = 1542

RMS = 2936

200 400 600 800100012001400160018002000

charge_dis_7_4 |

Nent = 1176

45 Mean = 207.4
RMSs = 2839

30

25F

20

0 .J [ T Y PR PP P NP FETE PO FEE
0 200 400 600 800100012001400160018002000

charge_dis_7_4,

Nent = 1176
Vean = 1503
s = 2568

40

30

20f

10

o JM

0 200 400 600 800100012001400160018002000

Charge_dis_7_4.

Nent = 1176

Mean = 24458

45

RMS = 264

30

25

20

15

10

200 400 600 800100012001400160018002000

Charge_dis_7_4,

Nent = 1176

Mean = 158.4

RMS = 3095

40

351

251

20

15

10

200 400 600 800100012001400160018002000

charge_dis_7_4 |

Nent = 1176

Mean = 2556
60

RMS = 2194

50

a0

101

11y .k.lu.l...I...I...I...I...I...In.
200 400 600 800100012001400160018002000

0
0

Charge_dis_7_4]

Nent = 1176

120F Mean = 1795

RMS = 2991

351

25 l

20

10

sF

i

0 200 400 600 800100012001400160018002000

charge_dis_7_4}
Nent = 1176
Mean = 3085

45 RMS = 27.93

40

351

30

25

20

15

10

s5F

||||i| L...I...I...I...I...I...I...Iu.

0
0

200 400 600 800100012001400160018002000

charge_dis_7_4
Nent = 1176
Mean = 2322
40 RMS = 3184
351
30
25
20
15
10
s
ol Ll b bia b b biaa lanalaay
0 200 400 600 800100012001400160018002000

charge_dis_7_4 ]
Nent = 1176
Mean = 310.1

35F RMS = 3417

30

25

20

151

10

s

1 Ju FrY TR T P T e e e

200 400 600 800100012001400160018002000

charge_dis_7_4 ]

Nent = 1176

Mean = 329.7

40

RMS = 36.23

30

20
151
10

0
0 200 400 600 800100012001400160018002000

charge_dis_7_4,

Nent = 1176

45 Mean = 1496

RMS = 25.42

40

30

251

10F

foL1 ¥1 'Y I PR P T P TS T

0 200 400 600 800100012001400160018002000

charge_dis_7_4.

Nent = 1176

Mean = 2144

RMS = 27.7

35

30

20

15

10

obudille b b bbbl bl

0 200 400 600 800100012001400160018002000

charge_dis_7_4 ]

Nent = 1176
Mean = 2106
RMS = 3162
351
30
251
20
151
10
sk
0
0 200 400 600 800100012001400160018002000

Charge_dis_7_4,

Nent=1176

Mean = 298.9

40

RMS = 3289

30

20

151

10

bl bbb bbbl

0 200 400 600 800100012001400160018002000




charge_dis_7_5.

Nent = 1176
Mean = 246.2
RS = 4139

30

251

20

15

1or

5

.I-JI.. | IR P O Y I P e

0

0 200 400 600 800100012001400160018002000

charge_dis 7.5,

Nent = 1176

Mean = 361

RMSs = 39.01

0
0 200 400 600 800100012001400160018002000

charge_dis_7_5 |

Nent = 1176

20

15

10

Mean = 230.4

RMS = 3239

0 200 400 600 800100012001400160018002000

charge_dis 7.5,

Nent = 1176

40F

351

251

15

[} YETE | T FYEEEETE FTI FTR1 FTTL FUTH FAT AT

Mean = 314

RMS = 3089

0 200 400 600 800100012001400160018002000

Charge_dis_7_5.

e = 218
s = 215
35
so0f
2sF
20F
15F
10
£
0 ..L.L.I...I...I...I...I...I...I...I...
0 200 400 600 80010001200L400L60GLE0G2000

Charge_dis 7.5,

Nent = 1176

0
0

Mean = 3843

RMS = 4885

200 400 600 800100012001400160018002000

charge_dis_7_5 |

Nent = 1176

Vean = 3187
40 RMS = 29.19
35F

200 400 600 800100012001400160018002000

Charge_dis_7_5]

Nent = 1176

40

30

20

151

10

0
0

Mean = 468.9

RMS = 39.37

200 400 600 800100012001400160018002000

charge_dis_7_5.

Nent = 1176

451

40

351

30

20

15

10

Mean = 2612

RMS = 2359

200 400 600 800100012001400160018002000

charge_dis_7_5.

Nent = 1176

Mean = 3175

RMS = 37.76

200 400 600 800100012001400160018002000

charge_dis_7_5 |

Nent = 1175
5o oan = 2977
Rus = 2773
40F
30f
20f
10
ool ..L...I...I...I...I...I...I...I...
0 200 400 600 800100012001400160018002000

charge_dis_7.5 ]

Nent = 1176

351

20

15

10

Mean = 3293

RMS = 34.95

0
0 200 400 600 800100012001400160018002000

35)

30)

25

20

15)

10|

charge_dis_7_5 ]
Nent = 1176
Mean = 306.7

RMS = 335

0
0 200 400 600 800100012001400160018002000

25

charge_dis_7.5.
Nent = 1176
Mean = 367.6

RMS = 51.42

0
0 200 400 600 800100012001400160018002000

30|

25)

20

15)

10

[

charge_dis_7_5 ]
Nent = 1176
Mean = 443.4

RMS = 40.33

0 200 400 600 800100012001400160018002000

35)

30|

25

20|

15)

10|

charge_dis_7.5 ]
Nent=1176
Mean = 344.4

RMS = 3336

0
0 200 400 600 800100012001400160018002000




charge_dis_7_6.

Nent = 1176
60 Mean = 208.7
RMS = 2144
50
40
301
20
10
ol [ Y T PP P T P e O
0 200 400 600 800100012001400160018002000

charge_dis 7.6,

Nent = 1176

45 Mean = 2386

RMS = 3004

40

25

20

15

200 400 600 800100012001400160018002000

charge_dis_7_6 |

Nent = 1176
Mean = 62.45
RS = 17.97
60
50
40p
30
20p
10|
0 LI...I...I...I...I...I...I...I...In.
0 200 400 600 800100012001400160018002000

charge_dis_7_6.

Nent = 1176

1200F vean = 0
s = 0

1000f

800

600

400

200+

N PR T ETET PP PIPY IYUY RPRL POTA FPL IO

0 200 400 600 800100012001400160018002000

Charge_dis_7_6.

Nent = 1176
Mean = 3136
RMS = 2564
501
40
30
20
10
0 ...IJ..L..I.nInulnulunlunlnulnu
0 200 400 600 800100012001400160018002000

Charge_dis 7.6,

Nent = 1176

Mean = 2313

45F RMS = 2697

40

35

200 400 600 800100012001400160018002000

charge_dis_7_6 |

Nent = 1176

Mean = 1755
S0 RMS = 2179
40
30
20
10
ol .IL.I...I...I...I...I...I...I...In.
0 200 400 600 800100012001400160018002000

Charge_dis_7_6]

Nent = 1176
Mean = 1862
RMS = 349

30

251

20

151

10

5

AN PP T P PP AT FATA R AT

0
0 200 400 600 800100012001400160018002000

charge_dis_7_6.

Nent = 1176

49| Mean = 2572

RMS = 2651

40
30

251

10F

71—

0 200 400 600 800100012001400160018002000

charge_dis_7_6.

Nent = 1176

Mean = 514

RMS = 1992

90

80

70

60f

50H

40[

30p

20|

1011

oL YU NN FATE FETY FET1 FATY FTTL FUTE ATRA FAT

0 200 400 600 800100012001400160018002000

charge_dis_7_6 |

Nent = 1176
Mean = 1218

50 RMS = 2249

40

30

20

10

i FEE FETE FETE FTTE FETE FETE RUT1 FTTE AT

0)
0 200 400 600 800100012001400160018002000

charge_dis_7_6 ]

Nent = 1176

Mean = 37.27

60 RMS = 1655

50

40

20f

10H

0 |L|||||||||||||||||||||||||||||||||||||
0 200 400 600 800100012001400160018002000

Charge_dis_7_6.

Nent = 1176
Mean = 3128
RMS = 2866
351
30
251
20
15
10
sk
G"'I i PP P I T P P e
0 200 400 600 800100012001400160018002000

charge_dis_7_6.

Nent = 1176

45 Mean = 3343

RMS = 2967

40

25

20

15

200 400 600 800100012001400160018002000

charge_dis_7_6 ]

Nent = 1176
Vean = 2105
RS = 3370

30f

25F

20F

1sf

10F

sk

AT T NI I P VT VU P T PP

0 200 400 600 800100012001400160018002000

Charge_dis_7_6.

Nent = 1176
Mean = 1688
RMS = 2175

50

40

301

20

10

' L YO P P IAT R AT PR TE RAT1 AT

0 200 400 600 800100012001400160018002000



charge_dis_7_1.

Nent = 1176
Mean = 2215
RMS = 3236

35

30

251

20

151

10

sk

ol [P WP PN P T P e T e

0 200 400 600 800100012001400160018002000

Charge_dis 7.7,

Nent = 1176
Mean = 480
30f RMS = 418
251
20
15
10
sk
C"'I" T FETH PPl PR RTT ANTH FUT1 AT
0 200 400 600 800100012001400160018002000

charge_dis_7_7 |

Nent = 1176
Mean = 2346
RMS = 3673

30

251

201

15F

10

.

ol |||l||||||||||||||||||||||||||||||||

0 200 400 600 800100012001400160018002000

charge_dis_7_7.

Nent = 1176

30

251

15

10

0
0

Mean = 3905

RMS = 4100

200 400 600 800100012001400160018002000

35)

30|

25

20

15

10

Charge_dis_7_7.

Nent = 1176

Mean = 4378

RMS = 3349

0
0 200 400 600 800100012001400160018002000

25

20

15

10|

0

Charge_dis_7_7.

Nent = 1176

Mean = 4776

RMS = 4215

0 200 400 600 800100012001400160018002000

50

40

30|

20

10

charge_dis_7_7 ]

Nent = 1176

ol .L...I...I...I...I...I...I...I...I...

Mean = 139.1

RMS = 2157

0 200 400 600 800100012001400160018002000

30|

25

20

15

10|

0

Charge_dis_7_7 ]

Nent = 1176

Mean = 4802

RMS = 3881

0 200 400 600 800100012001400160018002000

charge_dis_7_7}
Nent = 1176
Mean = 501.8

P RMS = 4484

20

151

10

5

T T P T T

0
0 200 400 600 800100012001400160018002000

Charge_dis_7_7.

Nent = 1176
Mean = 4853
RMS = 4642

251

20

151

10

51

bl B B bbb b b b

0 200 400 600 800100012001400160018002000

charge_dis_7_7 ]

Nent = 1176

Mean = 4605

30

RMS = 4497

0)
0 200 400 600 800100012001400160018002000

charge_dis_7_7 ]

Nent =1176
Wean = 377.4
RuS = 3985
30
251
20
15
10
s
o J.I.AJJ.LLLLIJ.LLUJ.LLLLLIJJ.LIJJ.LUJ.LIJJ.

0 200 400 600 800100012001400160018002000

charge_dis_7_7.

Nent = 1176

351

30

20

151

Mean = 379.2

RMS = 29.79

ol lulyl

0 200 400 600 800100012001400160018002000

charge_dis_7_7,

Nent = 1176

25

Mean = 5625

RMS = 50.16

0
0 200 400 600 800100012001400160018002000

charge_dis_7_7 ]

Nent = 1176

Mean = 397.2

RMS = 519

0
0 200 400 600 800100012001400160018002000

charge_dis_7_7.

Nent=1176

30

251

15

10

Mean = 3786

RMS = 386

olul

0 200 400 600 800100012001400160018002000




ErrTa e 5] e 78] ErrT
ent = 1176 Nent = 1476 Nent = 1175 Nent = 1176
s ean = 1772 ean = 233 ean = 2073 1200F Wean = ©
s = 2307 20F A = 3208 sk Aus = 3172 s = o
40F
35 30k 1000
3sf
30F
30F 25 800f
2s5F
25F 200
2oF 600[-
20F
15
1sF BF 400
10F
10f o
200
sf sk j F
OJ G..I.LI...I...I...I...I...I...I...I... GJ.I. Y I T L Y P IO P P Y Y I P Y Y T POY Y IO
0 200 400 600 800100012001400L60018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
30F Vean = 2676 Vean = 2524 Wean = 2013 Mean = 2542
RMS = 39.08 40 RMS = 3157 RMS = 36.98 RMS = 36.13
30F
35
30 251
25F 20
20F
15
15F
10
10F
sk
i l
0 LYY I T AP Y Y PN Y Y P P A W T Y R Y Y IR O o
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

harge 9 7.5 Srarge 7.5 harge s 78] harge 7.5
et = 1176 Nent = 1176 Nent = 1176 Nent = 1176
45F vean = 1708 45 wean = 2613 Wean = 2305 30F vean = 3514
RMS = 25.73 RMS = 27.09 351 RMS = 31.26 RMS = 48.44
40F 40F
30f
o 3sf
3of 3oF =
25F 25 20
20F 20F
15}
15F 15
10F
10F 10F
sF sk °F
obdithe b b b b obuws ..LI...I...I...I...I...I...I...I... 0 o
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 8001000120014001600L8002000 0 200 400 600 800100012001400160018002000

ETTTRTR e ] e T e e ]
et = 1176 Nen = 1176 Nemi= 1176 Nent= 1176
ean = 2076 e = 343 ean = 3051 Vean = 3269
35 RMS = 36.14 RMS = 38.07 RMS = 36.03 40 RMS = 302
30
35F
30f
251
25F
20
20F
15F
1sf
10
10F
sk S
ol b b ben b b b T AT AT T N I T
o [T T I T A | o Lol bbb bl

0 0
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000



charge_dis_7_9.

Nent = 1176

351

30

20

o of

Mean = 208.1

RMs = 288

200 400 600 800100012001400160018002000

charge_dis 7.9,

Nent = 1176

25

o2

Mean = 302

RMS = 48.18

200 400 600 800100012001400160018002000

charge_dis_7_9 |

Nent = 1176

40

30

25

151

10

Mean = 267.8

RMS = 3233

A

200 400 600 800100012001400160018002000

charge_dis_7_6.

Nent = 1176

Mean = 3655

RMS = 39.01

0
0 200 400 600 800100012001400160018002000

50

30

20

10

Charge_dis_7_9]
Nent = 1176
Mean = 247.7

RMS = 2838

0
0

200 400 600 800100012001400160018002000

Charge_dis_7_9.

Nent = 1176
Mean = 3576

251 RMS = 4955

20

15

10

5

ol T I I I A T

0 200 400 600 800100012001400160018002000

35

charge_dis_7_9 |
Nent = 1176
Mean = 2919

RMS = 36.18

200 400 600 800100012001400160018002000

Charge_dis_7_9 ]
Nent = 1176
Mean = 3328

RMS = 3581

0
0 200 400 600 800100012001400160018002000

40|

35|

30)

25|

20]

15]

10}

charge_dis_7_9.

Nent = 1176

Mean = 1957

RMS = 244

IL.I...I...I...I...I...I...I...I...

35

30)

25]

20|

15]

10

0
0

200 400 600 800100012001400160018002000

charge_dis_7_9.

Nent = 1176

- Mean = 295.1

RMS = 33.66

0

AL

0 200 400 600 800100012001400160018002000

charge_dis_7_9 ]

Nent = 1176

35

30)

25]

20|

15]

10

Mean = 2208

RMS = 2032

0 200 400 600 800100012001400160018002000

charge_dis_7_9 ]

Nent = 1176

25]

20

15]

10

Mean = 3759

RMS = 40.31

0)

0 200 400 600 800100012001400160018002000

Charge_dis_7_9.

Nent = 1176
30F Mean = 2883
RMS = 4127
251
20
151
10
sk
ol | 1Y PP Y Y R Y Y P
0 200 400 600 800100012001400160018002000

o2

charge_dis_7_9.
Nent = 1176
Mean = 388.7

RMS = 57.45

200 400 600 800100012001400160018002000

30

charge_dis_7_9 ]
Nent = 1176
Mean = 522

RMS = 5461

200 400 600 800100012001400160018002000

25

charge_dis_7_9 ]
Nent=1176
Mean = 339.2

RMS = 4725

0
0 200 400 600 800100012001400160018002000




charge_dis_7_10)

Nent = 1176
Mean = 206.1
RMS = 19.12
50
40
30
201
10
ol |L.I...I...I...I...I...I...I...I...
0 200 400 600 800100012001400160018002000

charge_dis_7_10)

Nent = 1176
Mean = 2832
RMS = 2692
40
351
30
25
20
15
10
sF
0 |||J||L|||||||||||||||||||||||||||||||
0 200 400 600 800100012001400160018002000

charge_dis_7_10)

Nent = 1176
S0F Mean = 292.2
RMS = 2286
40
30
20
10
[LFETH| WS TRE FATH FETE FET RTEL PETE FRTY AT
0 200 400 600 800100012001400160018002000

charge_dis_7_10)

Nent = 1176

30

251

15

sk

ole

Mean = 477.9

RMS = 3469

0

200 400 600 800100012001400160018002000

35)

30)

25

20

15

10

Charge_dis_7_10]

Nent = 1176

Mean = 358.7

RMS = 35.11

0
0 200 400 600 800100012001400160018002000

25

20

15)

10|

0

Charge_dis_7_10)

Nent = 1176

Mean = 4293

RMS = 49.88

0 200 400 600 800100012001400160018002000

50

40

30|

20

10

0

charge_dis_7_10]

Nent = 1176

Mean = 3522

RMS = 2519

0 200 400 600 800100012001400160018002000

charge_dis_7_10j3

Nent = 1176

Mean = 5843

RMS = 4124

0
0 200 400 600 800100012001400160018002000

charge_dis_7_10)

Nent = 1176
Mean = 360.7
RMS = 3261
35
30F
25~
201
151
10F
sk
ol 1 | W
0 200 400 600 800100012001400160018002000

charge_dis_7_10)

Nent = 1176
Mean = 3186
RMS = 3362
35
30
25
20
151
10
s
ol by | T FET R FATE I R FUTE P
0 200 400 600 800100012001400160018002000

charge_dis_7_10jg0

Nent = 1176

351

251

20

10

Mean = 5018

RMS = 2045

200 400 600 800100012001400160018002000

charge_dis_7_10jg4

Nent = 1176

30

20

10F

Mean = 5405

RMS = 4165

0
0 200 400 600 800100012001400160018002000

charge_dis_7_10]

Nent = 1176

40F

30

251

20

15

Mean = 2995

RMS = 2671

200 400 600 800100012001400160018002000

charge_dis_7_10)

Nent = 1176

4ofF

30

20

151

L

Mean = 368

RMS = 32.49

200 400 600 800100012001400160018002000

charge_dis_7_10)

Nent = 1176
Mean = 4073
RMS = 3332

351

30

251

20

151

10

sk

obn Ll b b bana e bonn biaalass

0 200 400 600 800100012001400160018002000

charge_dis_7_10]

Nent=1176

1200

1000

800

600

olualu

Mean = 001276

RMS =0.2079

0 200 400 600 800100012001400160018002000




e ErTTn e 1] ErrTn
ent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
ean = 3512 3sF ean = 3363 Wean = 5119 Vean = 39042
30f RMS = 37.21 RMS = 39.72 35 RMS = 36.82 351 RMS = 4054
30f - 2ok
25
25F o 3
20f
20F a0k 20f
15f
15F 15k 15k
10F
10F 10F 10F
5( sf sf s5f
AP AN} TP PO IO TP PR TP PO obunth, P SPTIVN VI FON PO IVO TN PY TO O o NN NN T A A T
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

Charge a7 11] harge a7 1L Tharge o 7_11] Tharge o 7 11
Nent = 1176 Nent = 1176 Nent =1176 Nent = 1176
20F Vean = 4699 Vean = 3399 Mean = 3053 Vean = 2461
RMS = 35.05 40 RMS = 34.07 45 RMS = 29.92 45 RMS = 26.67
351 35f 40 40F
30F ok 35F 35F
3 .3 30F 30F
25F 25F
20F 20F
20F 20F
15F 15F
15F 15F
10F 10k
10F 10F
5F 5F sk sk
o h Cu.l 1 0||||||illll'l|||||||||||||||||||||||||| C|||||L||||||||||||||||||||||||||||||||
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400L60018002000

harao s 7T Sharge a7 Sharge_as 7 1o Shargo s 7T
et = 1176 Nent = 1176 Nent = 1176 Nent= 1176
vean = 4279 Mean = 5563 Wean = 6124 Vean = 5112
s = 2 Rws = 4547 3k " a5k RMs. = 3617
251 30
25f
20f
20f
15
15F
10F
10
sk
sk
o 0 0 o
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

BT ErryTm M e ) ErrTan
ent = 1176 Nent= 1476 Nent= 1176 Nent = 1376
ean = 670 ean = 3404 ean = 5354 Wean = 550
RMS = 45.49 40 RMS = 27.77 30 RMS = 44.33 301 RMS = 4061
25
3sf 25} 25k
20f 30F
20f 20F
2s5F
15
- 15 1sF
10F 1sF 10k 10k
10F
5F s sk
sE
NI (97 N I e Py PPETT A WO TN PR IO OO PR Y IS ol b By ol bt B b b b b,

0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000



charge_dis_7_12)

Nent = 1176

1200F Mean = 0
RMS = -0

1000~

800

600

400

200

o PP P I T PSPPI ST PP e e

0 200 400 600 800100012001400160018002000

charge_dis_7_12)

Nent = 1176

1200 Vean = 0
s = o0

1000f

800

600}

400

200

| PP Y Y IR PR Y Y P IR P

0 200 400 600 800100012001400160018002000

charge_dis_7_12)

Nent = 1176

1200 Vean = 0
Rus = o0

1000

800f

600

400f

200

o I FUFPY PP PR PP Y PO PN Y PO

0 200 400 600 800100012001400160018002000

charge_dis_7_12)
Nent = 1176

1200F Mean = 0
RMS = -0

1000~

800

600

400

200

c|||||||||||||||||||||||||||||||||||||||

0 200 400 600 800100012001400160018002000

Charge_dis_7_12]

Nent = 1176

1200F Mean = 0
RMS = -0

1000f

800

600~

400

200

0 P RTH FETE T PET PE UTH PUTE P e

0 200 400 600 800100012001400160018002000

Charge_dis_7_12]

Nent = 1176

1200 Mean =0
s = o

1000

800

600

400

200

o P IFPUPY A TP FY Y N P IO P

0 200 400 600 800100012001400160018002000

charge_dis_7_12]

Nent = 1176

1200F Mean = 0
RMS = -0

1000F

800

600~

400

200

obmbins b b bbb b bl

0 200 400 600 800100012001400160018002000

Charge_dis_7_12]

Nent = 1176

1200F Mean = 0
RMS = -0

1000f

800

600~

400

200

[SLFET1 NTRE FTTE FETH FET1 FTR1 FUTE FATE ATR NORY

0 200 400 600 800100012001400160018002000

charge_dis_7_12]

Nent = 1176

1200F Mean = 0
RMS = -0

1000

800

600

400

200

0 FETE PP PP P TP P P T P e

0 200 400 600 800100012001400160018002000

charge_dis_7_12]

Nent = 1176

1200 Mean =0
s = o

1000f

800~

600

400

200

| I Y Y I Y R Y Y IR O

0 200 400 600 800100012001400160018002000

charge_dis_7_12]

Nent = 1176

1200~ Mean =0
RMS = 0

1000

800

600~

400f

200

oL PR PR P TR Y P B P Y

0 200 400 600 800100012001400160018002000

charge_dis_7_12]

Nent = 1176

1200F Mean = 0
RMS = -0

1000

800

600

400

200

o FETE FUTE FATE FATY FERY FARY FATA FUTEATRA AT

0 200 400 600 800100012001400160018002000

charge_dis_7_12]

Nent = 1176

1200F Mean = 0
RMS = -0

1000

800

600

400

200

0 P T Y P P I T P P e

0 200 400 600 800100012001400160018002000

Ccharge_dis_7_12]

Nent =1176

1200F Mean = 0
RMS = -0

1000

800

600

400

200

0 FERE FTH1 FERE FETH IUT1 RPN FUTE PATE RAT1 NAT)

0 200 400 600 800100012001400160018002000

charge_dis_7_12)

Nent = 1176

1200F Mean = 0
RMS = -0

1000~

800

600

400

200

5| FETE FURT FTEL FETH FETE FTE1 FETE PUTE RT AT

0 200 400 600 800100012001400160018002000

charge_dis_7_12]

Nent = 1176

1200F Mean = 0
Aws = 0

1000

800f

600

400

200}

B PPEY F IOY PT PORY Y PO PR PP IO

0 200 400 600 800100012001400160018002000



charge_dis_7_13)

Nent = 1176

1200F Mean = 0
RMS = -0

1000~

800

600

400

200

o PP P I T PSPPI ST PP e e

0 200 400 600 800100012001400160018002000

Charge_dis_7_13)

Nent = 1176

1200 Vean = 0
s = o0

1000f

800

600}

400

200

| PP Y Y IR PR Y Y P IR P

0 200 400 600 800100012001400160018002000

charge_dis_7_13)

Nent = 1176

1200 Vean = 0
Rus = o0

1000

800f

600

400f

200

o I FUFPY PP PR PP Y PO PN Y PO

0 200 400 600 800100012001400160018002000

charge_dis_7_13]
Nent = 1176

1200F Mean = 0
RMS = -0

1000~

800

600

400

200

c|||||||||||||||||||||||||||||||||||||||

0 200 400 600 800100012001400160018002000

Charge_dis_7_13]

Nent = 1176

1200F Mean = 0
RMS = -0

1000f

800

600~

400

200

0 P RTH FETE T PET PE UTH PUTE P e

0 200 400 600 800100012001400160018002000

Charge_dis_7_13)

Nent = 1176

1200 Mean =0
s = o

1000

800

600

400

200

o P IFPUPY A TP FY Y N P IO P

0 200 400 600 800100012001400160018002000

charge_dis_7_13)

Nent = 1176

1200F Mean = 0
RMS = -0

1000F

800

600~

400

200

obmbins b b bbb b bl

0 200 400 600 800100012001400160018002000

Charge_dis_7_13]

Nent = 1176

1200F Mean = 0
RMS = -0

1000f

800

600~

400

200

[SLFET1 NTRE FTTE FETH FET1 FTR1 FUTE FATE ATR NORY

0 200 400 600 800100012001400160018002000

charge_dis_7_13)

Nent = 1176

1200F Mean = 0
RMS = -0

1000

800

600

400

200

0 FETE PP PP P TP P P T P e

0 200 400 600 800100012001400160018002000

charge_dis_7_13)

Nent = 1176

1200 Mean =0
s = o

1000f

800~

600

400

200

| I Y Y I Y R Y Y IR O

0 200 400 600 800100012001400160018002000

charge_dis_7_13)

Nent = 1176

1200~ Mean =0
RMS = 0

1000

800

600~

400f

200

oL PR PR P TR Y P B P Y

0 200 400 600 800100012001400160018002000

charge_dis_7_13)

Nent = 1176

1200F Mean = 0
RMS = -0

1000

800

600

400

200

o FETE FUTE FATE FATY FERY FARY FATA FUTEATRA AT

0 200 400 600 800100012001400160018002000

charge_dis_7_13)

Nent = 1176

1200F Mean = 0
RMS = -0

1000

800

600

400

200

0 P T Y P P I T P P e

0 200 400 600 800100012001400160018002000

Ccharge_dis_7_13)

Nent =1176

1200F Mean = 0
RMS = -0

1000

800

600

400

200

0 FERE FTH1 FERE FETH IUT1 RPN FUTE PATE RAT1 NAT)

0 200 400 600 800100012001400160018002000

charge_dis_7_13)

Nent = 1176

1200F Mean = 0
RMS = -0

1000~

800

600

400

200

5| FETE FURT FTEL FETH FETE FTE1 FETE PUTE RT AT

0 200 400 600 800100012001400160018002000

charge_dis_7_13)

Nent = 1176

1200F Mean = 0
Aws = 0

1000

800f

600

400

200}

B PPEY F IOY PT PORY Y PO PR PP IO

0 200 400 600 800100012001400160018002000



charge_dis_7_14)

Nent = 1176

1200F Mean = 0
RMS = -0

1000~

800

600

400

200

o PP P I T PSPPI ST PP e e

0 200 400 600 800100012001400160018002000

Charge_dis_7_14]

Nent = 1176

1200 Vean = 0
s = o0

1000f

800

600}

400

200

| PP Y Y IR PR Y Y P IR P

0 200 400 600 800100012001400160018002000

charge_dis_7_14)

Nent = 1176

1200 Vean = 0
Rus = o0

1000

800f

600

400f

200

o I FUFPY PP PR PP Y PO PN Y PO

0 200 400 600 800100012001400160018002000

charge_dis_7_14
Nent = 1176

1200F Mean = 0
RMS = -0

1000~

800

600

400

200

c|||||||||||||||||||||||||||||||||||||||

0 200 400 600 800100012001400160018002000

Charge_dis_7_14]

Nent = 1176

1200F Mean = 0
RMS = -0

1000f

800

600~

400

200

0 P RTH FETE T PET PE UTH PUTE P e

0 200 400 600 800100012001400160018002000

Charge_dis_7_14]

Nent = 1176

1200 Mean =0
s = o

1000

800

600

400

200

o P IFPUPY A TP FY Y N P IO P

0 200 400 600 800100012001400160018002000

charge_dis_7_14]

Nent = 1176

1200F Mean = 0
RMS = -0

1000F

800

600~

400

200

obmbins b b bbb b bl

0 200 400 600 800100012001400160018002000

Charge_dis_7_14]

Nent = 1176

1200F Mean = 0
RMS = -0

1000f

800

600~

400

200

[SLFET1 NTRE FTTE FETH FET1 FTR1 FUTE FATE ATR NORY

0 200 400 600 800100012001400160018002000

charge_dis_7_14]

Nent = 1176

1200F Mean = 0
RMS = -0

1000

800

600

400

200

0 FETE PP PP P TP P P T P e

0 200 400 600 800100012001400160018002000

charge_dis_7_14)

Nent = 1176

1200 Mean =0
s = o

1000f

800~

600

400

200

| I Y Y I Y R Y Y IR O

0 200 400 600 800100012001400160018002000

charge_dis_7_14)

Nent = 1176

1200~ Mean =0
RMS = 0

1000

800

600~

400f

200

oL PR PR P TR Y P B P Y

0 200 400 600 800100012001400160018002000

charge_dis_7_14)

Nent = 1176

1200F Mean = 0
RMS = -0

1000

800

600

400

200

o FETE FUTE FATE FATY FERY FARY FATA FUTEATRA AT

0 200 400 600 800100012001400160018002000

charge_dis_7_14)

Nent = 1176

1200F Mean = 0
RMS = -0

1000

800

600

400

200

0 P T Y P P I T P P e

0 200 400 600 800100012001400160018002000

Charge_dis_7_14]

Nent =1176

1200F Mean = 0
RMS = -0

1000

800

600

400

200

0 FERE FTH1 FERE FETH IUT1 RPN FUTE PATE RAT1 NAT)

0 200 400 600 800100012001400160018002000

charge_dis_7_14)

Nent = 1176

1200F Mean = 0
RMS = -0

1000~

800

600

400

200

5| FETE FURT FTEL FETH FETE FTE1 FETE PUTE RT AT

0 200 400 600 800100012001400160018002000

Charge_dis_7_14]

Nent = 1176

1200F Mean = 0
Aws = 0

1000

800f

600

400

200}

B PPEY F IOY PT PORY Y PO PR PP IO

0 200 400 600 800100012001400160018002000



charge_dis_7_15) charge_dis_7_15) charge_dis_7_15) Charge_dis_7_15)
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
1200F Mean = 0 1200F Mean = 0 1200F Mean = 0 1200F Mean = 0
RMS = 0 RMS = -0 RMS = -0 RMS = -0
1000~ 1000f 1000 1000
800 800 800 800
600 600~ 600 600
400 400 400 400
200 200 200 200
G||||||||||||||||||||||||||||||||||||||| G...I...I...I...I...In.I...I...I...In. G||||||||||||||||||||||||||||||||||||||| G...I...I...I...I...In.I...I...I...In.
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

charge_dis_7_15) Charge_dis_7_15) charge_dis_7_1) Charge_dis_7_15)
Nent = 1176 Nent = 1176 Nent = 1176 Nent =1176
1200F Mean = 0 1200F Mean = 0 1200F Mean = 0 1200F Mean = 0
RMS = -0 RMS = -0 RMS = 0 RMS = -0
1000~ 1000f 1000 1000
800 800 800 800
600 600 600 600
400 400 400 400
200 200 200 200
c|||||||||||||||||||||||||||I|||I|||I||| C|||||||||||||||||||||||||||||||I|||I||| G"'I"'I"'I"'I"'I"'I"'I"'I"'I"' C|||||||||||||||||||||||||||||||I|||I|||
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

charge_dis_7_15) charge_dis_7_15] charge_dis_7_15[40 charge_dis_7_15[41
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
1200F Mean = 0 1200F Mean = 0 1200F Mean = 0 1200F Mean = 0
RMS = -0 RMS = -0 RMS = -0 RMS = -0
1000~ 1000F 1000 1000~
800 800 800 800
600 600~ 600 600
400 400 400 400
200 200 200 200
oL FETH FEY FEE1 FUTH FETE FER NTRL PETE FRTE PP obmbins b b bbb b bl obbin b b b bbb bina dess 5| FETE FURT FTEL FETH FETE FTE1 FETE PUTE RT AT
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

Ccharge_dis_7_15g2 charge_dis_7_15k3 Charge_dis_7_15jga Charge_dis_7_155
Nent = 1176 Nent = 1176 Nent = 1176 Nent = 1176
1200F Mean = 0 1200F Mean = 0 1200F Mean = 0 1200F Mean = 0
RMS = -0 RMS = -0 RMS = -0 RMS = -0
1000 1000 1000~ 1000
800 800 800 800
600 600~ 600 600
400 400~ 400~ 400
200 200 200 200
c||||||||||||||||||||||||||||||||||||||| G||||||||||||||||||||||||||||||||||||||| O|||||||||||||||||||||||||||I|||I|||I||| G|||||||||||||n||||||||||||I|||I|||I|||
0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000

0 200 400 600 800100012001400160018002000 0 200 400 600 800100012001400160018002000



